# E-ISSN: 3062-2107



Volume 1 Issue 2 2025

# CALCULATION

The Calculation Journal publishes original results in science, engineering and social sciences in which intensive mathematical methods are used.

www.simadp.com/calculation

VOLUME 1 ISSUE 2 E-ISSN: 3062-2107

# **CALCULATION**



# **Editor-in-Chief**

Bayram Sahin Department of Mathematics, Faculty of Science, Ege University, Izmir, Türkiye <u>calculationjournal@gmail.com</u>

## **Managing Editor**

Arif Gursoy Department of Mathematics, Faculty of Science, Ege University, Izmir, Türkiye arif.gursoy@ege.edu.tr

## **Editorial Board**

*Cyriaque Atindogbe* Universite d'Abomey Calavi, Benin

Samer Al-Ghour Jordan University of Science and Technology, Jordan

*Mehmet Akif Akyol* Uşak University, Türkiye

*Javed Ali* Aligarh Muslim University, India

*Tofigh Allahviranloo* İstinye University, Türkiye

*Yılmaz Gündüzalp* Dicle University, Türkiye **Darjan Karabasevic** University of Business Academy of Novi Sad, Serbia

> *Md Yushalify Misro* University of Science, Malaysia

*Urfat Nuriyev* Karabakh University, Azerbaijan

*Luciana Salgado* Federal University of Rio de Janeiro, Brazil

> **Rahul Shukla** Walter Sisulu University, South Africa

**Alper Ülker** İstanbul Kültür University, Türkiye

*Medine Yeşilkayagil Savaşçı* Uşak University, Türkiye

### **Technical Assistants**

Deniz Poyraz

Dursun Demiroz

Özlem Deniz

Department of Mathematics, Ege University, Izmir, Türkiye

Umut Selvi

Department of Mathematics, Ankara Hacı Bayram Veli University, Türkiye

Contents

1. On the Trinajstic index of zero divisor graphs	
Alparslan Cenikli, Arif Gursoy	63-83
2. A note on Pointwise hemi-slant conformal submersions Pointwise hemi-slant conformal su	omersions
Mohammad Shuaib	84-102
2 Geometric study of Picci solitons in perfect fluid spacetimes with Lorentzian concircular stri	icture
manifolds	
Gurupadavva Ingalahalli	103-116
4. Tauberian theorems in neutrosophic n-normed linear spaces via statistical Cesaro summabi	lity
Paul Sebastian Jenifer, Mathuraiveeran Jeyaraman, Saeid Jafari	117-129
5 The integrability for the derivative formulas of the type-2.2 Bishon frame and its application	nc
Evren Ergün	130-140
	5 N
	AC III
	- Al -
9/- 1 41	
4 C 11   9 \ >	
$\sim u l a$	

#### CALCULATION

Volume 1, Issue 2, 2025, Pages:63–83 E-ISSN: 3062-2107 www.simadp.com/calculation



#### ON THE TRINAJSTIC INDEX OF SOME ZERO DIVISOR GRAPHS

ALPARSLAN CENIKLI D AND ARIF GÜRSOY \*

**Abstract.** In this paper, the Trinajstic index, a novel topological index, is analyzed within the framework of basic concepts in Graph Theory, particularly focusing on Zero-Divisor Graphs, excluding trees. The Trinajstic index, initially developed in the context of Chemical Graph Theory, investigates chemical structures based on a distance-balance concept. After constructing a pseudocode to calculate the Trinajstic index, the relevant algorithms were implemented using MATLAB. Subsequently, MATLAB codes for generating graphs and calculating the Trinajstic index were combined to compute the index for various graphs. Formulas relating to prime-based Zero-Divisor Graphs were derived and proven. **Keywords:** Graph theory, Chemical graph theory, Topological index, Trinajstic index, Zero-divisor graphs

#### 1. INTRODUCTION

Graph theory plays a crucial role in many areas of science. Nowadays, graph theory is particularly essential in chemistry for representing chemical molecules as graphs, enabling deeper analysis and a better understanding of their structures. This necessitated the development of chemical graph theory. In chemical graph theory, numerous topological indices have emerged, including the Wiener index, Szeged index, Harary index, and others. Some topological indices are computed using the degrees of a graph, while others are determined based on the distances between its vertices. Additionally, various features can be explored to understand how different topological indices are calculated and what aspects they are related to. In 2022, the Trinajstic index, which will briefly be referred to as NT, was introduced by Boris Furtula [11]. He provided information on this index in the context of complete graphs, cycle graphs, path graphs, star graphs, and trees. This topological index is based on distances between vertices to determine whether the structure is balanced. It is particularly relevant in chemical graph theory for understanding the balance of chemical structures.

Revised:2024.12.23

Accepted:2024.12.31

Received:2024.11.30

<sup>\*</sup> Corresponding author

Alparslan Cenikli  $\diamond$  alparslan.cenikli@yasar.edu.tr  $\diamond$  https://orcid.org/0009-0004-3115-742X Arif Gürsoy  $\diamond$  arif.gursoy@ege.edu.tr  $\diamond$  https://orcid.org/0000-0002-0747-9806.

#### A. CENIKLI AND A. GÜRSOY

#### 2. Preliminaries

The zero divisor graph is distinct from other types of graphs because of its construction. Zero divisor graph was studied on by I. Beck [4] and its construction is related to commutative rings that is related to algebraic combinatorics. Beck's definition for the zero divisor graph is that graph consists of vertices in R. If any two vertices of graph yields xy = 0, graph is zero divisor graph.

The Trinajstic index was defined for connected, undirected and simple graph G as follows:

$$NT(G) = \sum_{u,v \in V(G)} (n_u - n_v)^2$$
(2.1)

where  $n_u$  is number of vertices closer to u than v,  $n_v$  is number of vertices closer to v than u.

This topological index is distance-based, and can also be referred to as distance-balancebased topological index to understand of graph structure.

#### 3. TRINAJSTIC TOPOLOGICAL INDEX OF $\Gamma(\mathbb{Z}_n)$

Zero divisor graph of  $\mathbb{Z}$  is popular for especially in chemical graph theory. For that reason the Trinajstic index could be also considered on zero divisor graphs for  $n = \rho^2$ ,  $n = \rho^3$ ,  $n = \rho q$ ,  $n = \rho^2 q$  and  $n = \rho q r$ . In this section, we will focus on Trinajstic index of  $\Gamma(\mathbb{Z}_n)$ .

**Theorem 3.1.** Let  $\rho$  be a prime number and be  $n = \rho^3$ . Trinajstic index of  $\Gamma(\mathbb{Z}_{\rho^3})$  is as follows:

$$NT\left(\Gamma\left(\mathbb{Z}_{\rho^{3}}\right)\right) = \rho(\rho^{2} - \rho - 1)^{2}(\rho - 1)^{2}.$$
(3.2)

*Proof.* Vertex set of zero divisor graph could be partitioned as  $V(\Gamma(Z_{\rho^3})) = V_1 \cup V_2$  and for  $i, j \in 1, 2$  there are two subsets of  $(\Gamma(\mathbb{Z}_{\rho^3}))$  such that

 $V_1 = \{ \rho \alpha \mid \alpha = 1, 2, \dots, \rho^2 - 1, \rho \nmid \alpha \},\$ 

 $V_2 = \{\rho^2 \alpha \mid \alpha = 1, 2, \ldots, \rho -1\}$  where  $V_1 \cap V_2 = \emptyset$ .

In addition property of zero divisor graph with  $n = \rho^3$ ,  $|V_1| = \rho(\rho - 1)$  and  $|V_2| = \rho - 1$  for all  $u \in V_1$  and  $v \in V_2$ ,  $n_u$  and  $n_v$  as follow:

 $n_u = |V_2|$  and

 $n_v = 1$ . Then,

$$NT\left(\Gamma\left(\mathbb{Z}_{\rho^{3}}\right)\right) = \sum_{\{u,v\}\in V\left(\Gamma\left(\mathbb{Z}_{\rho^{3}}\right)\right)} (n_{u} - n_{v})^{2}$$
$$= |V_{1}||V_{2}|(|V_{1}| - 1)^{2}$$
$$= \rho(\rho^{2} - \rho - 1)^{2}(\rho - 1)^{2}.$$

$\rho$	$n = \rho^3$	NT
2	8	2
3	27	300
5	125	28880
7	343	423612
11	1331	13069100
13	2197	44974800
17	4913	319615232
19	6859	715825836

TABLE 3.1. Results of  $\Gamma(\mathbb{Z}_{\rho^3})$ 

**Theorem 3.2.** Let  $\rho$  and q be prime numbers and  $n = \rho q$ . Trinajstic index of  $\Gamma(\mathbb{Z}_{\rho q})$  is as follows:

$$NT\left(\Gamma\left(\mathbb{Z}_{\rho q}\right)\right) = (\rho - 1)(q - 1)(\rho - q)^{2}$$
(3.3)

*Proof.* Vertex set of zero divisor graph could be partitioned as  $V(\Gamma(Z_{\rho q})) = V_1 \cup V_2$  and for  $i, j \in 1, 2$  there are two subsets of  $(\Gamma(\mathbb{Z}_{\rho q}))$  such that

 $V_1 = \{ \rho \alpha \mid \alpha = 1, 2, \ldots, q - 1 \},$ 

 $V_2 = \{q\alpha \mid \alpha = 1, 2, \ldots, \rho - 1\} \text{ where } V_1 \cap V_2 = \emptyset.$ 

Since  $|V_1| = q - 1$  and  $|V_2| = \rho - 1$ ,  $\Gamma(Z_{\rho q})$  has  $(\rho - 1)(q - 1)$  vertices. For set of sets pair  $V_1$ ,  $V_2$ , we are able to construct graph as follow:



FIGURE 1. Structure of  $\Gamma(\mathbb{Z}_{\rho q})$ 

for all  $u \in V_1$  and  $v \in V_2$ ,  $n_u$  and  $n_v$  are as follow:  $n_u = |V_1|$  and  $n_v = |V_2|$ . Therefore  $(n_u - n_v)^2 = (|V_1| - |V_2|)^2$ . Now, we can calculate NT as

$$NT (\Gamma (\mathbb{Z}_{\rho q})) = \sum_{\{u,v\} \in V(\Gamma(\mathbb{Z}_{\rho q}))} (n_u - n_v)^2$$
  
= | V<sub>1</sub> || V<sub>2</sub> |(| V<sub>2</sub> | - | V<sub>1</sub> |)<sup>2</sup>  
= (\rho - 1)(q - 1)(\rho - q)^2.

Results pertaining to  $\Gamma(\mathbb{Z}_{\rho q})$  for primes  $\rho < 50$  and q < 50 are summarized in Table 5.2.

**Theorem 3.3.** Let  $\rho$  and q be distinct prime numbers and  $n = \rho^2 q$ . Trinajstic index of  $\Gamma(\mathbb{Z}_{\rho^2 q})$  is as follows:

$$NT\left(\Gamma\left(\mathbb{Z}_{\rho^{2}q}\right)\right) = \rho\left(\rho-1\right)\left(\rho^{5}q-\rho^{5}-2\rho^{4}q^{2}+\rho^{4}q+\rho^{4}+\rho^{3}q^{3}+13\rho^{3}q^{2}-19\rho^{3}q+6\rho^{3}-3\rho^{2}q^{3}-24\rho^{2}q^{2}+36\rho^{2}q-14\rho^{2}+4\rho q^{3}+6\rho q^{2}-3\rho q+\rho-q^{2}-5q+2\right)$$

$$(3.4)$$

*Proof.* Since  $\rho$ ,  $\rho^2$  and q are divisors of  $n = \rho^2 q$ , Vertex set of zero divisor graph could be partitioned as  $V(\Gamma(\mathbb{Z}_n)) = V_1 \cup V_2 \cup V_3 \cup V_4$ ,  $i \neq j$  and for  $i, j \in 1, \ldots, 4$  there are four subsets of  $(\Gamma(\mathbb{Z}_{\rho^2 q}))$  such that

 $V_{1} = \{ \rho \alpha \mid \alpha = 1, 2, \dots, \rho q - 1, \rho \nmid \alpha, q \nmid \alpha \},$  $V_{2} = \{ q \alpha \mid \alpha = 1, 2, \dots, \rho^{2} - 1, \rho \nmid \alpha \},$  $V_{3} = \{ \rho^{2} \alpha \mid \alpha = 1, 2, \dots, q - 1 \} \text{ and }$  $V_{4} = \{ \rho q \alpha \mid \alpha = 1, 2, \dots, \rho - 1 \}.$ 

Size of each subsets are  $|V_1| = (\rho - 1)(q - 1)$ ,  $|V_2| = \rho(\rho - 1)$ ,  $|V_3| = (q - 1)$ ,  $|V_4| = (\rho - 1)$ , respectively. Graph was constructed by using  $V_1$ ,  $V_2$ ,  $V_3$  and  $V_4$  is below:



FIGURE 2. Structure of  $\Gamma\left(\mathbb{Z}_{\rho^2 q}\right)$ 

In order to calculate Trinajstic index of  $\Gamma(\mathbb{Z}_{\rho^2 q})$  we must investigate these cases below: **Case 1:** For the pair of sets  $V_1$  and  $V_2$  with  $u \in V_1$  and  $v \in V_2$ ,  $n_u$  and  $n_v$  are determined as follows:

 $n_{u} = |V_{4}| + |V_{1}|,$   $n_{v} = |V_{3}| + |V_{2}|.$ Thus,  $(n_{u} - n_{v})^{2} = (|V_{4}| + |V_{1}| - (|V_{3}| + |V_{2}|))^{2}.$  **Case 2:** For the pair of sets  $V_{1}$  and  $V_{3}$  with  $u \in V_{1}$  and  $v \in V_{3}$ ,  $n_{u}$  and  $n_{v}$  are as follows:  $n_{u} = 1,$   $n_{v} = |V_{2}| + 1.$ Hence,  $(n_{u} - n_{v})^{2} = (1 - |V_{2}| + 1)^{2} = |V_{2}|^{2}.$  **Case 3:** For the pair of sets  $V_{1}$  and  $V_{4}$  with  $u \in V_{1}$  and  $v \in V_{4}$ ,  $n_{u}$  and  $n_{v}$  are described as follows:  $n_{u} = 1,$ 

 $n_u = 1,$   $n_v = |V_1| + |V_2| + |V_3|.$ Thus,  $(n_u - n_v)^2 = (|V_1| + |V_2| + |V_3| - 1)^2.$ 

**Case 4:** For the pair of sets  $V_2$  and  $V_3$  with  $u \in V_2$  and  $v \in V_3$ ,  $n_u$  and  $n_v$  values can be expressed as follows::

$$\begin{array}{ll} n_u = \mid V_3 \mid, \\ n_v = \mid V_1 \mid + \mid V_2 \mid + \mid V_4 \mid. \end{array}$$

Therefore,  $(n_u - n_v)^2 = (|V_1| + |V_2| + |V_4| - |V_3|)^2$ .

**Case 5:** For the pair of sets  $V_2$  and  $V_4$  with  $u \in V_2$  and  $v \in V_4$ ,  $n_u$  and  $n_v$  are as follows:  $n_u = 1$ ,

 $n_v = |V_1| + |V_4|.$ 

Hence,  $(n_u - n_v)^2 = (|V_1| + |V_4| - 1)^2$ .

**Case 6:** For the pair of sets  $V_3$  and  $V_4$  with  $u \in V_3$  and  $v \in V_4$ ,  $n_u$  and  $n_v$  are described as follows:

$$\begin{split} n_u &= 1 + \mid V_2 \mid, \\ n_v &= \mid V_1 \mid + \mid V_3 \mid + 1 - 1 = \mid V_1 \mid + \mid V_3 \mid. \\ \text{Thus,} \ (n_u - n_v)^2 &= (\mid V_1 \mid + \mid V_4 \mid - 1)^2. \\ \text{In this way, Trinajstic index of } \Gamma(\mathbb{Z}_(\rho^2 q) \mid) \text{ is} \end{split}$$

$$NT\left(\Gamma\left(\mathbb{Z}_{\rho^{2}q}\right)\right) = \sum_{\{u,v\}\in V\left(\Gamma\left(\mathbb{Z}_{\rho^{2}q}\right)\right)} (n_{u} - n_{v})^{2}$$
  
=  $|V_{1}||V_{3}||V_{2}|^{2} + |V_{1}||V_{4}|(|V_{1}| + |V_{2}| + |V_{3}| - 1)^{2} + |V_{2}||V_{3}|(|V_{1}| + |V_{2}| + |V_{4}| - |V_{3}|)^{2} + |V_{2}||V_{4}|(|V_{1}| + |V_{4}| - 1)^{2} + |V_{3}||V_{4}|(|V_{1}| + |V_{4}| - 1)^{2}$ 

Then this equation will be

$$NT\left(\Gamma\left(\mathbb{Z}_{\rho^{2}q}\right)\right) = \rho\left(\rho-1\right)\left(\rho^{5}q - \rho^{5} - 2\rho^{4}q^{2} + \rho^{4}q + \rho^{4} + \rho^{3}q^{3} + 13\rho^{3}q^{2} - 19\rho^{3}q + 6\rho^{3} - 3\rho^{2}q^{3} - 24\rho^{2}q^{2} + 36\rho^{2}q - 14\rho^{2} + 4\rho q^{3} + 6\rho q^{2} - 3\rho q + \rho - q^{2} - 5q + 2\right).$$

Table 5.3 provides the results for  $\Gamma(\mathbb{Z}_{\rho^2 q})$  for primes  $\rho < 20$  and q < 20.

**Theorem 3.4.** Let  $\rho$ , q and r be distinct prime numbers and  $n = \rho qr$ . Trinajstic index of  $\Gamma(\mathbb{Z}_{\rho qr})$  is as follows:

$$\begin{split} NT(\Gamma(\mathbb{Z}_{\rho qr} \ )) = &(\rho \ -1)^2 \ (r \ -1) \ (\rho q \ -2q \ -\rho \ +q r \ +1)^2 + \\ &(q \ -1)^2 \ (r \ -1) \ (\rho q \ -q \ -2\rho \ +\rho r \ +1)^2 + \\ &(\rho \ -1)^2 \ (q \ -1) \ (\rho r \ -2r \ -\rho \ +q r \ +1)^2 + \\ &(\rho \ -1) \ (q \ -1)^2 \ (\rho q \ -r \ -2\rho \ +\rho r \ +1)^2 + \\ &(\rho \ -1) \ (r \ -1)^2 \ (\rho q \ -r \ -2q \ +q r \ +1)^2 + \\ &(\rho \ -1)(q \ -1)(r \ -1) \ (\rho q \ -q \ -3r \ -\rho \ +\rho r \ +q r \ +2)^2 + \\ &(\rho \ -1)(q \ -1)(r \ -1) \ (\rho q \ -q \ -3r \ -\rho \ +\rho r \ +q r \ +2)^2 + \\ &(\rho \ -1)(q \ -1)(r \ -1) \ (\rho q \ -q \ -r \ -3\rho \ +\rho r \ +q r \ +2)^2 + \\ &(\rho \ -1)(q \ -1)(r \ -1) \ (\rho q \ -q \ -r \ -3\rho \ +\rho r \ +q r \ +2)^2 + \\ &(\rho \ -1)(q \ -1)(r \ -1) \ (\rho q \ -q \ -r \ -3\rho \ +\rho r \ +q r \ +2)^2 + \\ &(\rho \ -1)(q \ -1)(r \ -1) \ (\rho q \ -q \ -r \ -3\rho \ +\rho r \ +q r \ +2)^2 + \\ &(\rho \ -1)(q \ -1)(r \ -1) \ (\rho q \ -q \ -r \ -3\rho \ +\rho r \ +q r \ +2)^2 + \\ &(\rho \ -1)(q \ -1)(r \ -1)(q \ -1)(r \ -1) \ +q^2 \ (\rho \ -r)^2 \ (\rho \ -1)(r \ -1) + \\ &(q \ -r)^2 \ (\rho \ -1)(r \ -1)(r \ -1) \ +(\rho \ -r)^2 \ (\rho \ -1)(r \ -1) + \\ &(q \ -r)^2 \ (\rho \ -1)^2 \ (\rho \ -2)^2 \ (q \ -1)(r \ -1) + \\ &(\rho \ -q)^2 \ (\rho \ -1)(q \ -1)(r \ -1)^2 \ (r \ -2)^2. \end{split}$$

*Proof.* Since  $\rho$ , q, r,  $\rho q$ ,  $\rho r$  and qr are divisors of  $n = \rho qr$ , vertex set of zero divisor graph could be partitioned as  $V(\Gamma(\mathbb{Z}_n)) = V_1 \cup V_2 \cup V_3 \cup V_4 \cup V_5 \cup V_6$ ,  $i \neq j$  and for  $i, j \in 1, 2, ..., 6$ . There are six subsets of  $V(\Gamma(\mathbb{Z}_{\rho qr}))$  such that

$$\begin{split} V_1 &= \{ \rho \alpha | \alpha = 1, 2, ..., qr - 1, q \nmid \alpha, r \nmid \alpha \}, \\ V_2 &= \{ q \alpha | \alpha = 1, 2, ..., \rho r - 1, \rho \nmid \alpha, r \nmid \alpha \}, \\ V_3 &= \{ r \alpha | \alpha = 1, 2, ..., \rho q - 1, \rho \nmid \alpha, q \nmid \alpha \}, \\ V_4 &= \{ \rho q \alpha | \alpha = 1, 2, ..., r - 1 \}, \\ V_5 &= \{ \rho r \alpha | \alpha = 1, 2, ..., q - 1 \}, \\ V_6 &= \{ q r \alpha | \alpha = 1, 2, ..., \rho - 1 \}. \\ \text{Norm of each subsets are } |V_1| = (q - 1)(r - 1), |V_2| = (q - 1)(r - 1), |V_3| = (\rho - 1)(rq - 1) \end{split}$$

 $|V_4| = (r-1), |V_5| = (q-1) \text{ and } |V_6| = (\rho-1), \text{ respectively.}$ 

Graph was constructed by using  $V_1$ ,  $V_2$ ,  $V_3$ ,  $V_4$ ,  $V_5$ , and  $V_6$  is below:



FIGURE 3. Structure of  $\Gamma(\mathbb{Z}_{\rho qr})$ 

In order to calculate Trinajstic index of  $\Gamma(\mathbb{Z}_{\rho qr})$  we must investigate these cases below: **Case 1:** Considering the pair of sets  $V_1$  and  $V_2$ , where  $u \in V_1$  and  $v \in V_2$ , the values of  $n_u$  and  $n_v$  are described as follows:

 $n_{u} = |V_{6}| + |V_{1}|,$   $n_{v} = |V_{5}| + |V_{2}|.$ Thus,  $(n_{u} - n_{v})^{2} = (|V_{5}| + |V_{2}| - (|V_{6}| + |V_{1}|))^{2}.$ 

**Case 2:** Considering the pair of sets  $V_1$  and  $V_3$ , where  $u \in V_1$  and  $v \in V_3$ , the values of  $n_u$  and  $n_v$  are described as follows:

 $n_u = |V_6| + |V_1|,$ 

 $n_v = |V_4| + |V_3|.$ 

Hence,  $(n_u - n_v)^2 = (|V_6| + |V_1| - (|V_4| + |V_3|))^2$ .

**Case 3:** Considering the pair of sets  $V_1$  and  $V_4$ , where  $u \in V_1$  and  $v \in V_4$ , the values of  $n_u$  and  $n_v$  are described as follows:

$$n_u = 0,$$
  

$$n_v = |V_3| + |V_5| + |V_2|.$$
  
Therefore,  $(n_u - n_v)^2 = (|V_3| + |V_5| + |V_2|)^2.$ 

**Case 4:** Considering the pair of sets  $V_1$  and  $V_5$ , where  $u \in V_1$  and  $v \in V_5$ , the values of  $n_u$  and  $n_v$  are described as follows:

$$n_{u} = 0,$$
  

$$n_{v} = |V_{2}| + |V_{3}| + |V_{4}|.$$
  
Hence,  $(n_{u} - n_{v})^{2} = (|V_{2}| + |V_{3}| + |V_{4}|)^{2}.$ 

**Case 5:** Considering the pair of sets  $V_1$  and  $V_6$ , where  $u \in V_1$  and  $v \in V_6$ , the values of  $n_u$  and  $n_v$  are described as follows:

 $n_{u} = |V_{6}|,$   $n_{v} = |V_{2}| + |V_{3}| + |V_{4}| + |V_{5}| + |V_{1}|.$ Thus  $(n_{u} - n_{v})^{2} = (|V_{2}| + |V_{3}| + |V_{4}| + |V_{5}| + |V_{1}| - |V_{6}|)^{2}.$ 

**Case 6:** Considering the pair of sets  $V_2$  and  $V_3$ , where  $u \in V_2$  and  $v \in V_3$ , the values of  $n_u$  and  $n_v$  are described as follows:

 $n_u = |V_5| + |V_2|,$  $n_v = |V_4| + |V_3|.$ 

Therefore,  $(n_u - n_v)^2 = (|V_5| + |V_2| - (|V_4| + |V_3|))^2$ .

**Case 7:** Considering the pair of sets  $V_2$  and  $V_4$ , where  $u \in V_2$  and  $v \in V_4$ , the values of  $n_u$  and  $n_v$  are described as follows:

$$n_u = 0,$$
  

$$n_v = |V_3| + |V_1| + |V_6|.$$
  
Hence,  $(n_u - n_v)^2 = (|V_3| + |V_1| + |V_6|)^2.$ 

**Case 8:** Considering the pair of sets  $V_2$  and  $V_5$ , where  $u \in V_2$  and  $v \in V_5$ , the values of  $n_u$  and  $n_v$  are described as follows:

$$n_u = |V_5|,$$
  
 $n_v = |V_1| + |V_2| + |V_3| + |V_4| + |V_6|.$   
So,  $(n_u - n_v)^2 = (|V_1| + |V_2| + |V_3| + |V_4| + |V_6| - |V_5|)^2.$   
**Case 9:** Considering the pair of sets  $V_2$  and  $V_6$ , where  $u \in V_2$  and  $v \in V_6$ , the values of

 $n_u$  and  $n_v$  are described as follows:

$$n_u = 0,$$

$$n_v = |V_1| + |V_3| + |V_4|.$$

Accordingly,  $(n_u - n_v)^2 = (|V_1| + |V_3| + |V_4|)^2$ .

**Case 10:** Considering the pair of sets  $V_3$  and  $V_4$ , where  $u \in V_3$  and  $v \in V_4$ , the values of  $n_u$  and  $n_v$  are described as follows:

$$n_{u} = |V_{4}|,$$
  

$$n_{v} = |V_{1}| + |V_{2}| + |V_{3}| + |V_{5}| + |V_{6}|.$$
  
Thus,  $(n_{u} - n_{v})^{2} = (|V_{1}| + |V_{2}| + |V_{3}| + |V_{6}| + |V_{6}| - |V_{4}|)^{2}.$ 

**Case 11:** Considering the pair of sets  $V_3$  and  $V_5$ , where  $u \in V_3$  and  $v \in V_5$ , the values of  $n_u$  and  $n_v$  are described as follows:

$$n_u = 0,$$

$$n_{v} = |V_{1}| + |V_{2}| + |V_{6}|.$$
  
Hence,  $(n_{u} - n_{v})^{2} = (|V_{1}| + |V_{2}| + |V_{6}|)^{2}.$ 

**Case 12:** Considering the pair of sets  $V_3$  and  $V_6$ , where  $u \in V_3$  and  $v \in V_6$ , the values of  $n_u$  and  $n_v$  are described as follows:

$$n_u = 0,$$

 $n_{v} = |V_{1}| + |V_{2}| + |V_{5}|.$ So,  $(n_{u} - n_{v})^{2} = (|V_{1}| + |V_{2}| + |V_{5}|)^{2}.$ 

**Case 13:** Considering the pair of sets  $V_4$  and  $V_5$ , where  $u \in V_4$  and  $v \in V_5$ , the values of  $n_u$  and  $n_v$  are described as follows:

$$\begin{split} n_u &= \mid V_3 \mid + \mid V_5 \mid, \\ n_v &= \mid V_2 \mid + \mid V_4 \mid. \end{split}$$

Thus  $(n_u - n_v)^2 = (|V_3| + |V_5| - (|V_2| + |V_4|))^2$ .

**Case 14:** Considering the pair of sets  $V_4$  and  $V_6$ , where  $u \in V_4$  and  $v \in V_6$ , the values of  $n_u$  and  $n_v$  are described as follows:

$$n_u = |V_3| + |V_6|,$$

 $n_v = |V_1| + |V_4|.$ 

Therefore,  $(n_u - n_v)^2 = (|V_3| + |V_6| - (|V_1| + |V_4|))^2$ .

**Case 15:** Considering the pair of sets  $V_5$  and  $V_6$ , where  $u \in V_5$  and  $v \in V_6$ , the values of  $n_u$  and  $n_v$  are described as follows:

$$\begin{split} n_u &= \mid V_2 \mid + \mid V_6 \mid, \\ n_v &= \mid V_1 \mid + \mid V_5 \mid. \\ \text{Hence, } (n_u - n_v)^2 &= (\mid V_2 \mid + \mid V_6 \mid - (\mid V_1 \mid + \mid V_5 \mid))^2. \\ \text{In this way, Trinajstic index of } \Gamma (Z_{\rho qr}) \text{ is} \end{split}$$

$$NT (\Gamma (\mathbb{Z}_{\rho qr})) = \sum_{\{u,v\} \in V(\Gamma(Z_{\rho qr}))} (n_u - n_v)^2$$

$$= |V_1| |V_2| (|V_5| + |V_2| - (|V_6| + |V_1|))^2 + |V_1| |V_3| (|V_1| + |V_6| - (|V_3| + |V_4|))^2 + |V_1| |V_4| (|V_2| + |V_3| + |V_5|)^2 + |V_1| |V_5| (|V_2| + |V_3| + |V_4|)^2 + |V_1| |V_6| (|V_1| + |V_2| + |V_3| + |V_4| + |V_5| - |V_6|)^2 + |V_2| |V_3| (|V_2| + |V_5| - (|V_3| + |V_4|))^2 + |V_2| |V_4| (|V_1| + |V_3| + |V_6|)^2 + |V_2| |V_5| (|V_1| + |V_2| + |V_3| + |V_4|)^2 + |V_2| |V_6| (|V_1| + |V_2| + |V_3| + |V_4|)^2 + |V_3| |V_5| (|V_1| + |V_2| + |V_3| + |V_6|)^2 + |V_3| |V_5| (|V_1| + |V_2| + |V_6|)^2 + |V_3| |V_5| (|V_1| + |V_2| + |V_6|)^2 + |V_3| |V_5| (|V_1| + |V_2| + |V_6|)^2 + |V_4| |V_6| (|V_1| + |V_2| + |V_6|)^2 + |V_4| |V_5| (|V_2| + |V_4| - (|V_3| + |V_5|))^2 + |V_4| |V_6| (|V_1| + |V_4| - (|V_3| + |V_6|))^2 + |V_4| |V_6| (|V_1| + |V_5| - (|V_2| + |V_6|))^2$$

$$(3.5)$$

Then Equation 3.5 will be

$$\begin{split} NT\left(\Gamma\left(\mathbb{Z}_{\rho q r}\right)\right) &= \left(\rho - 1\right)^{2}\left(r - 1\right)\left(\rho q - 2q - \rho + qr + 1\right)^{2} + \\ \left(q - 1\right)^{2}\left(r - 1\right)\left(\rho q - q - 2\rho + \rho r + 1\right)^{2} + \\ \left(\rho - 1\right)^{2}\left(q - 1\right)\left(\rho r - 2r - \rho + qr + 1\right)^{2} + \\ \left(q - 1\right)\left(r - 1\right)^{2}\left(\rho q - r - 2\rho + \rho r + 1\right)^{2} + \\ \left(\rho - 1\right)\left(q - 1\right)^{2}\left(\rho q - r - 2q + qr + 1\right)^{2} + \\ \left(\rho - 1\right)\left(q - 1\right)\left(r - 1\right)\left(\rho q - q - 3r - \rho + \rho r + qr + 2\right)^{2} + \\ \left(\rho - 1\right)\left(q - 1\right)\left(r - 1\right)\left(\rho q - q - r - 3\rho + \rho r + qr + 2\right)^{2} + \\ \left(\rho - 1\right)\left(q - 1\right)\left(r - 1\right)\left(\rho q - q - r - 3\rho + \rho r + qr + 2\right)^{2} + \\ r^{2}\left(\rho - q\right)^{2}\left(\rho - 1\right)\left(q - 1\right) + q^{2}\left(\rho - r\right)^{2}\left(\rho - 1\right)\left(r - 1\right) + \\ \rho^{2}\left(q - r\right)^{2}\left(q - 1\right)\left(r - 1\right) + \left(\rho - r\right)^{2}\left(\rho - 1\right)\left(q - 1\right)(r - 1)^{2}\left(r - 2\right)^{2} \\ \end{array} \right) \end{split}$$

Table 5.4 lists the results obtained for  $\Gamma(\mathbb{Z}_{\rho qr})$  for primes  $\rho < 10$ , q < 10 and r < 10.

#### 4. CONCLUSION

The Trinajstic index is a novel topological index that is one of the topological indexes to study on chemical graph theory, especially on chemical structure. The Trinajstic index could also be applicable on zero-divisor graphs except complete graph, star graph, path graph and cycle graph to improve theorems related to computer science and also graph theory too. As discussed in this paper, the Trinajstic index can be calculated analytically using prime numbers, without computational tools.

Acknowledgments. The authors would like to thank the referee for some useful comments and their helpful suggestions that have improved the quality of this paper.

#### 5. Appendix

Table 5.2: Results of  $\Gamma(\mathbb{Z}_{\rho q})$ 

ρ	q	$n=\rho q$	NT
2	2	4	0
2	3	6	2
2	5	10	36
2	7	14	150
2	11	22	810
2	13	26	1452
2	17	34	3600
2	19	38	5202

ρ	q	$n = \rho q$	NT
2	23	46	9702
2	29	58	20412
2	31	62	25230
2	37	74	44100
2	41	82	60840
2	43	86	70602
2	47	94	93150
3	2	6	2
3	3	9	0
3	5	15	32
3	7	21	192
3	11	33	1280
3	13	39	2400
3	17	51	6272
3	19	57	9216
3	23	69	17600
3	29	87	37856
3	31	93	47040
3	37	111	83232
3	41	123	115520
3	43	129	134400
3	47	141	178112
5	2	10	36
5	3	15	32
5	5	25	0
5	7	35	96
5	11	55	1440
5	13	65	3072
5	17	85	9216
5	19	95	14112
5	23	115	28512
5	29	145	64512
5	31	155	81120
5	37	185	147456
5	41	205	207360
5	43	215	242592
5	47	235	$32\overline{4576}$
7	2	14	150
7	3	21	192
7	5	35	96

Table 5.2 – continued from previous page

ρ	q	$n = \rho q$	NT
7	7	49	0
7	11	77	960
7	13	91	2592
7	17	119	9600
7	19	133	15552
7	23	161	33792
7	29	203	81312
7	31	217	103680
7	37	259	194400
7	41	287	277440
7	43	301	326592
7	47	329	441600
11	2	22	810
11	3	33	1280
11	5	55	1440
11	7	77	960
11	11	121	0
11	13	143	480
11	17	187	5760
11	19	209	11520
11	23	253	31680
11	29	319	90720
11	31	341	120000
11	37	407	243360
11	41	451	360000
11	43	473	430080
11	47	517	596160
13	2	26	1452
13	3	39	2400
13	5	65	3072
13	7	91	2592
13	11	143	480
13	13	169	0
13	17	221	3072
13	19	247	7776
13	23	299	26400
13	29	377	86016
13	31	403	116640
13	37	481	248832
13	41	533	376320

Table 5.2 – continued from previous page

ρ	q	$n = \rho q$	NT
13	43	559	453600
13	47	611	638112
17	2	34	3600
17	3	51	6272
17	5	85	9216
17	7	119	9600
17	11	187	5760
17	13	221	3072
17	17	289	0
17	19	323	1152
17	23	391	12672
17	29	493	64512
17	31	527	94080
17	37	629	230400
17	41	697	368640
17	43	731	454272
17	47	799	662400
19	2	38	5202
19	3	57	9216
19	5	95	14112
19	7	133	15552
19	11	209	11520
19	13	247	7776
19	17	323	1152
19	19	361	0
19	23	437	6336
19	29	551	50400
19	31	589	77760
19	37	703	209952
19	41	779	348480
19	43	817	435456
19	47	893	649152
23	2	46	9702
23	3	69	17600
23	5	115	28512
23	7	161	33792
23	11	253	31680
23	13	299	26400
23	17	391	12672
23	19	437	6336

Table 5.2 – continued from previous page

$\rho$	q	$n = \rho q$ 520	NT
23	$\frac{23}{20}$	529 667	92176
$\frac{23}{23}$	31	713	42240
$\frac{20}{23}$	37	851	155232
$\frac{20}{23}$	41	943	285120
23	43	989	369600
$\frac{-3}{23}$	47	1081	582912
29	2	58	20412
29	3	87	37856
29	5	145	64512
29	7	203	81312
29	11	319	90720
29	13	377	86016
29	17	493	64512
29	19	551	50400
29	23	667	22176
29	29	841	0
29	31	899	3360
29	37	1073	64512
29	41	1189	161280
29	43	1247	230496
29	47	1363	417312
31	2	62	25230
31	3	93	47040
31	5	155	81120
31	7	217	103680
31	11	341	120000
31	13	403	116640
31	17	527	94080
31	19	589	77760
31	23	713	42240
31	29	899	3360
31	31	961	0
31	37	1147	38880
31	41	1271	120000
31	43	1333	181440
31	47	1457	353280
37	2	74	44100
37	3	111	83232
37	5	185	147456

Table 5.2 – continued from previous page

ρ	q	$n = \rho q$	NT
37	7	259	194400
37	11	407	243360
37	13	481	248832
37	17	629	230400
37	19	703	209952
37	23	851	155232
37	29	1073	64512
37	31	1147	38880
37	37	1369	0
37	41	1517	23040
37	43	1591	54432
37	47	1739	165600
41	2	82	60840
41	3	123	115520
41	5	205	207360
41	7	287	277440
41	11	451	360000
41	13	533	376320
41	17	697	368640
41	19	779	348480
41	23	943	285120
41	29	1189	161280
41	31	1271	120000
41	37	1517	23040
41	41	1681	0
41	43	1763	6720
41	47	1927	66240
43	2	86	70602
43	3	129	134400
43	5	215	242592
43	7	301	326592
43	11	473	430080
43	13	559	453600
43	17	731	454272
43	19	817	435456
43	23	989	369600
43	29	1247	230496
43	31	1333	181440
43	37	1591	54432
43	41	1763	6720

Table 5.2 – continued from previous page

ρ	q	$n = \rho q$	NT
43	43	1849	0
43	47	2021	30912
47	2	94	93150
47	3	141	178112
47	5	235	324576
47	7	329	441600
47	11	517	596160
47	13	611	638112
47	17	799	662400
47	19	893	649152
47	23	1081	582912
47	29	1363	417312
47	31	1457	353280
47	37	1739	165600
47	41	1927	66240
47	43	2021	30912
47	47	2209	0

Table 5.2 – continued from previous page

Table 5.3: Results of  $\Gamma(\mathbb{Z}_{\rho^2 q})$ 

ρ	q	$\rho^2$	$n = \rho^2 q$	NT
2	2	4	8	2
2	3	4	12	116
2	5	4	20	600
2	7	4	28	1836
2	11	4	44	8100
2	13	4	52	13896
2	17	4	68	32736
2	19	4	76	46548
3	2	9	18	1062
3	3	9	27	300
3	5	9	45	10404
3	7	9	63	26112
3	11	9	99	95832
3	13	9	117	156756
3	17	9	153	348012
3	19	9	171	485256
5	2	25	50	43860
5	3	25	75	95960
5	5	25	125	28880
5	7	25	175	561960
5	11	25	275	1843320
5	13	25	325	2957760
5	17	25	425	6470160
5	19	25	475	9002520
7	2	49	98	491946
7	3	49	147	966336
7	5	49	245	2107140
7	7	49	343	423612
7	11	49	539	11130000
7	13	49	637	17509716
7	17	49	833	38036796
7	19	49	931	53087328
11	2	121	242	12997710
11	3	121	363	23982200
11	5	121	605	42850500
11	7	121	847	62037360
11	11	121	1331	13069100
11	13	121	1573	174942900
11	17	121	2057	349767660

ρ	q	$\rho^2$	$n = \rho^2 q$	NT
11	19	121	2299	483076440
13	2	169	338	43707612
13	3	169	507	80297256
13	5	169	845	139324224
13	7	169	1183	190351512
13	11	169	1859	320583432
13	13	169	2197	44974800
13	17	169	2873	782036112
13	19	169	3211	1058991336
17	2	289	578	305388816
17	3	289	867	563382176
17	5	289	1445	966976320
17	7	289	2023	1265474016
17	11	289	3179	1762029600
17	13	289	3757	2067512256
17	17	289	4913	319615232
17	19	289	5491	3857328288
19	2	361	722	682331382
19	3	361	1083	1263762504
19	5	361	1805	2177294436
19	7	361	2527	2838441312
19	11	361	3971	3787845624
19	13	361	4693	4268235924
19	17	361	6137	5720724972
19	19	361	6859	715825836

Table 5.3 – continued from previous page

Table 5.4: Results of  $\Gamma(\mathbb{Z}_{\rho qr})$ 

$\rho$	q	r	$n = \rho q r$	NT
2	2	2	8	2
2	2	3	12	116
2	2	5	20	600
2	2	7	28	1836
2	3	2	12	116
2	3	3	18	1062
2	3	5	30	14922
2	3	7	42	48980
2	5	2	20	600
2	5	3	30	14922
2	5	5	50	43860
2	5	7	70	273278
2	7	2	28	1836
2	7	3	42	48980
2	7	5	70	273278
2	7	7	98	491946
3	2	2	12	116
3	2	3	18	1062
3	2	5	30	14922
3	2	7	42	48980
3	3	2	18	1062
3	3	3	27	300
3	3	5	45	10404
3	3	7	63	26112
3	5	2	30	14922
3	5	3	45	10404
3	5	5	75	95960
3	5	7	105	734912
3	7	2	42	48980
3	7	3	63	26112
3	7	5	105	734912
3	7	7	147	966336
5	2	2	20	600
5	2	3	30	14922
5	2	5	50	43860
5	2	7	70	273278
5	3	2	30	14922
5	3	3	45	10404
5	3	5	75	95960

ρ	q	r	$n = \rho q r$	NT
5	3	7	105	734912
5	5	2	50	43860
5	5	3	75	95960
5	5	5	125	28880
5	5	7	175	561960
5	7	2	70	273278
5	7	3	105	734912
5	7	5	175	561960
5	7	7	245	2107140
7	2	2	28	1836
7	2	3	42	48980
7	2	5	70	273278
7	2	7	98	491946
7	3	2	42	48980
7	3	3	63	26112
7	3	5	105	734912
7	3	7	147	966336
7	5	2	70	273278
7	5	3	105	734912
7	5	5	175	561960
7	5	7	245	2107140
7	7	2	98	491946
7	7	3	147	966336
7	7	5	245	2107140
7	7	7	343	423612

Table 5.4 – continued from previous page

#### References

- Anderson, D. F., & Badawi, A. (2008). On the zero-divisor graph of a ring. Communications in Algebra, 36(8), 3073–3092.
- [2] Anderson, D. F., Axtell, M. C., & Stickles, J. A. (2011). Zero-divisor graphs in commutative rings. In Commutative algebra: Noetherian and non-Noetherian perspectives (pp. 23–45). Springer.
- Balaban, A. T. (2013). Chemical graph theory and the Sherlock Holmes principle. International Journal for Philosophy of Chemistry, 9(1), 107–137.
- [4] Beck, I. (1988). Coloring of commutative rings. Journal of Algebra, 116(1), 208-226.
- [5] Bondy, J. A., & Murty, U. S. R. (1976). Graph theory with applications (Vol. 290). Macmillan.
- [6] Brezovnik, S., & Tratnik, N. (2018). New methods for calculating the degree distance and the Gutman index. arXiv preprint. arXiv:1809.02358.
- [7] Coykendall, J., Sather-Wagstaff, S., Sheppardson, L., & Spiroff, S. (2012). On zero divisor graphs. Progress in Commutative Algebra, 2, 241–299.
- [8] Dehgardi, N., & Azari, M. (2020). More on Mostar index. Applied Mathematics E-Notes, 20, 316-322.
- [9] Došlić, T., Martinjak, I., Škrekovski, R., Tipurić Spužević, S., & Zubac, I. (2018). Mostar index. Journal of Mathematical Chemistry, 56, 2995–3013.

- [10] Furtula, B., & Gutman, I. (2015). A forgotten topological index. Journal of Mathematical Chemistry, 53(4), 1184–1190.
- [11] Furtula, B. (2022). Trinajstic index. Discrete Mathematics Letters, 9, 100–106.
- [12] García-Domenech, R., Gálvez, J., de Julián-Ortiz, J. V., & Pogliani, L. (2008). Some new trends in chemical graph theory. *Chemical Reviews*, 108(3), 1127–1169.
- [13] Gould, R. (2012). Graph theory. Courier Corporation.
- [14] Gutman, I. (1994). A formula for the Wiener number of trees and its extension to graphs containing cycles. Graph Theory Notes of New York, 27, 9–15.
- [15] Gutman, I. (2013). Degree-based topological indices. Croatica Chemica Acta, 86(4), 351–361.
- [16] Gutman, I. (2021). Geometric approach to degree-based topological indices: Sombor indices. MATCH Communications in Mathematical and Computer Chemistry, 86(1), 11–16.
- [17] Gutman, I., & Trinajstić, N. (1972). Graph theory and molecular orbitals: Total φ-electron energy of alternant hydrocarbons. *Chemical Physics Letters*, 17(4), 535–538.
- [18] Gutman, I., Gürsoy, N. K., Gürsoy, A., & Ülker, A. (2023). New bounds on Sombor index. Communications in Combinatorics and Optimization, 8(2), 305–311.
- [19] Gürsoy, A., Gürsoy, N. K., & Ülker, A. (2022). Computing forgotten topological index of zero-divisor graphs of commutative rings. *Turkish Journal of Mathematics*, 46(5), 1845–1863.
- [20] Hayat, S., & Imran, M. (2014). Computation of topological indices of certain networks. Applied Mathematics and Computation, 240, 213–228.
- [21] Heydari, A. (2010). On the modified Schultz index of C4C8 (s) nanotubes and nanotorus. Digest Journal of Nanomaterials and Biostructures, 5(1), 51–56.
- [22] Ivanciuc, O., Balaban, T. S., & Balaban, A. T. (1993). Design of topological indices. Part 4: Reciprocal distance matrix, related local vertex invariants and topological indices. *Journal of Mathematical Chemistry*, 12(1), 309–318.
- [23] Kırcalı Gürsoy, N., Ülker, A., & Gürsoy, A. (2022). Independent domination polynomial of zero-divisor graphs of commutative rings. *Soft Computing*, 26(15), 6989–6997.
- [24] Kızılırmak, G. O. (2022). Bounds for some distance-based and degree-distance-based topological indices. Contributions to Mathematics, 6, 45–49.
- [25] Klavžar, S., & Gutman, I. (1996). A comparison of the Schultz molecular topological index with the Wiener index. Journal of Chemical Information and Computer Sciences, 36(5), 1001–1003.
- [26] Konstantinova, E. V., Skorobogatov, V. A., & Vidyuk, M. V. (2003). Applications of information theory in chemical graph theory. *Indian Journal of Chemistry, Section A*, 42(6), 1227–1240.
- [27] Merris, R. (2011). Graph theory. Wiley.
- [28] Randić, M. (1975). Characterization of molecular branching. Journal of the American Chemical Society, 97(23), 6609–6615.
- [29] Randić, M., & Trinajstić, N. (1994). Notes on some less known early contributions to chemical graph theory. Croatica Chemica Acta, 67(1), 1–35.
- [30] Randić, M. (2008). On history of the Randić index and emerging hostility toward chemical graph theory. MATCH Communications in Mathematical and Computer Chemistry, 59(1), 5–124.
- [31] Rouvray, D. H. (1987). The modeling of chemical phenomena using topological indices. Journal of Computational Chemistry, 8(4), 470–480.
- [32] Rouvray, D. H. (2002). The rich legacy of half a century of the Wiener index. In D. Bonchev & D. H. Rouvray (Eds.), Chemical graph theory: Introduction and fundamentals (pp. 16–37). Abacus Press.
- [33] Schultz, H. P. (1989). Topological organic chemistry. Part 1: Graph theory and topological indices of alkanes. Journal of Chemical Information and Computer Sciences, 29(3), 227–228.
- [34] Su, G., Xiong, L., Gutman, I., & Xu, L. (2016). Reciprocal product-degree distance of graphs. Filomat, 30(8), 2217–2231.
- [35] Todeschini, R., & Consonni, V. (2008). Handbook of molecular descriptors. Wiley.
- [36] Tutte, W. T. (2001). Graph theory (Vol. 21). Cambridge University Press.
- [37] Van Steen, M. (2010). Graph theory and complex networks: An introduction. Maarten van Steen.

- [38] Wiener, H. (1947). Structural determination of paraffin boiling points. Journal of the American Chemical Society, 69(1), 17–20.
- [39] Zhang, P., & Chartrand, G. (2006). Introduction to graph theory. McGraw-Hill.
- [40] Zhou, B. (2004). Zagreb indices. MATCH Communications in Mathematical and Computer Chemistry, 52(1), 113–118.
- [41] Zhou, B., Cai, X., & Trinajstić, N. (2008). On Harary index. Journal of Mathematical Chemistry, 44(4), 611–618.
  - (A. Cenikli) YASAR UNIVERSITY, BORNOVA, IZMIR, TÜRKİYE
  - (A. Gürsoy) Ege University, Department of Mathematics, Bornova, Izmir, TÜRKİYE

#### CALCULATION

Volume 1, Issue 2, 2025, Pages:84–102 E-ISSN: 3062-2107 www.simadp.com/calculation



#### A NOTE ON POINTWISE HEMI-SLANT CONFORMAL SUBMERSIONS

MOHAMMAD SHUAIB \*

**Abstract.** The current study investigates the concept of pointwise hemi-slant conformal submersions from almost contact metric manifolds to Riemannian manifold. We investigate the geometrical implications of the horizontal and vertical vector fields  $\xi$  while studying the distribution integrability and total geodesicness of distribution leaves. Finally, we explore  $\phi$ -pluriharmonicity from the almost contact metric manifold.

**Keywords**: Sasakian manifolds, Riemannian submersions, Pointwise hemi-slant conformal submersions, Conformal submersions.

2020 Mathematics Subject Classification: 53D15, 53C25.

#### 1. INTRODUCTION

Immersions and submersions are well known to be special tools in both differential and Riemannian geometry. It is important in Riemannian geometry, particularly when the involved manifolds have a differentiable structures. Four decades ago, B. O'Neill [22] and A. Gray [12] separately formulated the cornerstone of the theory of Riemannian submersions, which has experienced major advances over the past two decades. In mathematics and physics, Riemannian submersions have been widely used, particularly in theories like Yang-Mills and Kaluza-Klein (see [8], [35], [20], [17]).

Riemannian submersions from almost Hermitian manifolds to Riemannian manifolds were studied in 1976 by B. Watson [34]. On the foundation of the findings from this study, B. Sahin [26] assessed the geometry and distinctive features of anti-invariant Riemannian submersions onto Riemannian manifolds. Afterwards, authors explored this field further, looking at slant submersions [10], [28], semi-slant submersions [16], [23], anti-invariant submersions [3], [26] and semi-invariant submersions [27] among other topics. Tastan, Sahin, and Yanan [33] defined and studied hemi-slant submersions from almost Hermitian manifolds as a generalized case of semi-invariant and semi-slant submersions.

J. W. Lee and B. Sahin [19] introduced pointwise slant submersions from almost Hermitian manifolds to Riemannian manifolds in this addition, thus expanding the concept of slant submersions even further. They established characterizations for pointwise slant submersions in

Received: 2025.03.05

Revised:2025.04.02

Accepted:2025.04.07

\* Corresponding author

Mohammad Shuaib <> shuaibyousuf6@gmail.com.

addition to offering examples of this kind of submersion. As a generalization of Riemannian submersions, B. Fuglede [13] and T. Ishihara [18] presented the idea of conformal submersion and talked about some of its geometric characteristics. As a generalization of holomorphic submersions, conformal holomorphic submersions were studied by Gudmundsson and Wood [15]. They determined the necessary and sufficient conditions for harmonic morphisms of conformal holomorphic submersions. Later, conformal semi-invariant submersions [4], conformal slant submersions [2], conformal anti-invariant submersions [29], [24] and conformal semi-slant submersions [1] were studied and defined by Akyol and Sahin. Conformal hemislant submersions [31], [32], conformal bi-slant submersions [5] and quasi bi-slant conformal submersions [6] have all been discussed in the context of geometric studies recently, along with an assortment of decomposition theorems. Moreover, from almost Hermitian manifolds to almost contact metric manifolds, the concept of pluriharmonicity was extended.

We study the geometry of pointwise hemi-slant conformal submersions by considering both the horizontal and vertical aspects of the structural vector field  $\xi$ . The paper is organized as follows: Our investigation's goals can be achieved by introducing almost contact manifolds, such as the Sasakian manifold, which we discuss in Section 2. In the third part of this investigation, we define pointwise hemi-slant conformal submersions and describe some interesting results by considering the horizontal structure of the Reeb vector field  $\xi$ . A thorough examination of the total geodesic and the integrability of distributions is also given in Section 3. While in section 4, we consider vertical aspect of Reeb vector field  $\xi$  and study of pointwise hemi-slant conformal submersions. Additionally, as the nature of the Reeb vector field differs in Sections 3 and 4, we compared the findings of these two sections.

**Note:** We use the following abbreviations in this article.

Pointwise hemi-slant conformal submersion-  $\mathcal{PWHSCS}$ 

Riemannian submersion- $\mathcal{RS}$ 

Riemannian Manifold- $\mathcal{RM}$ 

Horizontally Conformal Submersion- $\mathcal{HCS}$ 

Sasakian manifold- $\mathcal{SM}$ 

Almost contact metric manifold- $\mathcal{ACMM}$ 

#### 2. Preliminaries

Authors find the study of  $\mathcal{RS}$ s to be an extremely intriguing topic. We now begin with a discussion of a few significant points and some useful results that are highly beneficial to our research.

**Definition 2.1.** [34] Let  $(\Xi_1, g_1)$  and  $(\Xi_2, g_2)$  be two  $\mathcal{RM}s$  and  $\bar{\alpha}$  be a smooth map between  $(\Xi_1, g_1)$  and  $(\Xi_2, g_2)$  where,  $m_1$  and  $m_2$  are the dimensions of  $\Xi_1$  and  $\Xi_2$  respectively. Then  $\bar{\alpha}$  is called horizontally weakly conformal or semi conformal at  $x \in \Xi_1$  if either

- (*i*)  $\bar{\alpha}_{*x} = 0$ , or
- (ii)  $\bar{\alpha}_{*x}$  maps horizontal space  $\aleph_x = (\ker(\bar{\alpha}_{*x}))^{\perp}$  conformally onto  $T_{\bar{\alpha}*}(\Xi_2)$  i.e.,  $\bar{\alpha}_{*x}$  is surjective and there exits a number  $\Lambda(x) \neq 0$  such that

$$g_2(\bar{\alpha}_{*x}\beta_1, \bar{\alpha}_{*x}\beta_2) = \Lambda(x)g(\beta_1, \beta_2),$$

for any  $\beta_1, \beta_2 \in \aleph_x$ .

Above equation can be reduce as:

$$(\bar{\alpha}_*g_2)_x \mid_{\aleph_x \times \aleph_x} = \Lambda(x)g(x) \mid_{\aleph_x \times \aleph_x}.$$

A point x is a critical point of  $\bar{\alpha}$  if it fulfills (i) in the definition above. A point that satisfies (ii) is known as a regular point. At a critical point,  $\bar{\alpha}_{*x}$  has rank 0, whereas at a regular point, it has rank n and defines a submersion. The number  $\lambda(x)$  is called the square dilation and its square root  $\lambda(x) = \sqrt{\Lambda(x)}$  is called the dilation of  $\bar{\alpha}$  at x which is necessarily non-negative. A map  $\bar{\alpha}$  is considered horizontally weakly conformal or semi-conformal on  $\Xi_1$ if it is weakly conformal at all points of  $\Xi_1$ . If  $\bar{\alpha}$  has no critical points, it is considered a (horizontally) conformal submersion.

**Definition 2.2.** [7] Let  $\bar{\alpha}$  be a  $\mathcal{RS}$  between two  $\mathcal{RMs}$ . Then  $\bar{\alpha}$  is called a horizontally conformal submersion, if there is a positive function  $\lambda$  such that

$$g_1(\omega_1, \hat{\omega_2}) = \frac{1}{\lambda^2} g_2(\bar{\alpha}_* \omega_1, \bar{\alpha}_* \omega_2), \qquad (2.1)$$

for any  $\omega_1, \omega_2 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ . It is obvious that every  $\mathcal{RS}s$  is particularly a horizontally conformal submersion with  $\lambda = 1$ .

Let be a  $\mathcal{RS}\ \bar{\alpha}: (\Xi_1, g_1) \to (\Xi_2, g_2)$ . If  $\beta_1 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ , then a vector field  $\beta_1$  on  $\Xi_1$  is referred to as a basic vector field and  $\bar{\alpha}$ -related to  $\Xi_2$  using a vector field  $\beta_1$  i.e  $\bar{\alpha}_*(\beta_1(q)) = \beta_1 \bar{\alpha}(q)$  for  $q \in \Xi_1$ .

According to O'Neill, the two equations of the (1, 2) tensor fields  $\mathcal{T}$  and  $\mathcal{A}$  are:

$$\mathcal{A}_{E_1}F_1 = \aleph \nabla_{\aleph E_1} vF_1 + v \nabla_{\aleph E_1} \aleph F_1, \qquad (2.2)$$

$$\mathcal{T}_{E_1}F_1 = \aleph \nabla_{vE_1} vF_1 + v \nabla_{vE_1} \aleph F_1, \qquad (2.3)$$

for any  $E_1, F_1 \in \Gamma(T\Xi_1)$  and  $\nabla$  is a Levi-Civita connection of  $g_1$ . From above two equations of O'Neill, we can deduce that

$$\nabla_{\omega_1}\omega_2 = \mathcal{T}_{\omega_1}\omega_2 + v\nabla_{\omega_1}\omega_2 \tag{2.4}$$

$$\nabla_{\omega_1}\beta_1 = \mathcal{T}_{\omega_1}\beta_1 + \aleph \nabla_{\omega_1}\beta_1 \tag{2.5}$$

$$\nabla_{\beta_1}\omega_1 = \mathcal{A}_{\beta_1}\omega_1 + v_1\nabla_{\beta_1}\omega_1 \tag{2.6}$$

$$\nabla_{\beta_1}\beta_2 = \aleph \nabla_{\beta_1}\beta_2 + \mathcal{A}_{\beta_1}\beta_2 \tag{2.7}$$

for any vector fields  $\omega_1, \omega_2 \in \Gamma(\ker \bar{\alpha}_*)$  and  $\beta_1, \beta_2 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$  [11].

We note that

$$g(\mathcal{A}_{\beta_1}E_1, F_1) = -g(E_1, \mathcal{A}_{\beta_1}F_1), \ g(\mathcal{T}_{\omega_2}E_1, F_1) = -g(E_1, \mathcal{T}_{\omega_2}F_1),$$

for any vector fields  $E_1, F_1 \in \Gamma(T\Xi_1)$ . In the unique scenario where  $\bar{\alpha}$  represents a  $\mathcal{HCS}$ , we possess:

**Proposition 2.1.** [14] Let  $\bar{\alpha} : (\Xi_1, g_1) \to (\Xi_2, g_2)$  be a horizontally conformal submersion with dilation  $\lambda$  and  $\beta_1, \beta_2$  be the horizontal vectors, then

$$A_{\beta_1}\beta_2 = \frac{1}{2} \{ v[\beta_1, \beta_2] - \lambda^2 g(\beta_1, \beta_2) grad_v(\frac{1}{\lambda^2}) \}$$

$$(2.8)$$

measures the obstruction integrability of the horizontal distribution.

The second fundamental form of smooth map  $\bar{\alpha}$  is provided by the formula

$$(\nabla \bar{\alpha}_*)(\omega_1, \omega_2) = \nabla^{\bar{\alpha}}_{\omega_1} \bar{\alpha}_* \omega_2 - \bar{\alpha}_* \nabla_{\omega_1} \omega_2, \qquad (2.9)$$

and the map be totally geodesic if  $(\nabla \bar{\alpha}_*)(\omega_1, \omega_2) = 0$  for all  $\omega_1, \omega_2 \in \Gamma(T\Xi_1)$  where  $\nabla$  and  $\nabla^{\bar{\alpha}}$  are Levi-Civita and pullback connections.

**Lemma 2.1.** Let  $\bar{\alpha}: \Xi_1 \to \Xi_2$  be a HCS. Then, we have

- (i)  $(\nabla \bar{\alpha}_*)(\beta_1, \beta_2) = \beta_1(\ln \lambda)\bar{\alpha}_*(\beta_2) + \beta_2(\ln \lambda)\bar{\alpha}_*(\beta_1) g_1(\beta_1, \beta_2)\bar{\alpha}_*(\operatorname{grad} \ln \lambda),$
- (ii)  $(\nabla \bar{\alpha}_*)(\omega_1, \omega_2) = -\bar{\alpha}_*(\mathcal{T}_{\omega_1}\omega_2),$
- (iii)  $(\nabla \bar{\alpha}_*)(\beta_1, \omega_1) = -\bar{\alpha}_*(\nabla_{\beta_1}\omega_1) = -\bar{\alpha}_*(\mathcal{A}_{\beta_1}\omega_1)$

for any  $\beta_1, \beta_2 \in \Gamma(ker\bar{\alpha}_*)^{\perp}$  and  $\omega_1, \omega_2 \in \Gamma(ker\bar{\alpha}_*)$  [34].

Let M be a (2n + 1)-dimensional almost contact manifold with almost contact structures  $(\phi, \xi, \eta)$ , where a (1, 1) tensor field  $\phi$ , a vector field  $\xi$  and a 1-form  $\eta$  satisfying

$$\phi^2 = -I + \eta \otimes \xi, \ \phi\xi = 0, \ \eta \circ \phi = 0, \ \eta(\xi) = 1,$$
(2.10)

where I is the identity tensor and there exists a Riemannian metric g in such a way that

$$g(\phi\omega_1, \phi\omega_2) = g(\omega_1, \omega_2) - \eta(\omega_1)\eta(\omega_2), \qquad (2.11)$$

which can be noticed as follows:

$$\eta(\omega_1) = g(\omega_1, \xi), \tag{2.12}$$

for any  $\omega_1, \omega_2 \in \Gamma(TM)$ . Then  $(\phi, \xi, \eta, g)$ -structure is called an almost contact metric structure. A normal contact metric structure is called a Sasakian structure, which satisfies

$$(\nabla_{\omega_1}\phi)\omega_2 = g(\omega_1,\omega_2)\xi - \eta(\omega_2)\omega_1 \tag{2.13}$$

where  $\nabla$  is the Levi-Civita connection of g. For a  $\mathcal{SM}$ , we can deduce that

$$\nabla_{\omega_1} \xi = -\phi \omega_1. \tag{2.14}$$

The covariant derivative of  $\phi$  is defined by

$$(\nabla_{\beta_1}\phi)\beta_2 = \nabla_{\beta_1}\phi\beta_2 - \phi\nabla_{\beta_1}\beta_2, \qquad (2.15)$$

for all vector fields  $\beta_1, \beta_2$  in M. S. A. Sepet and M. Ergut [30] defined pointwise slant submersion as:

**Definition 2.3.** Let  $(\bar{\Xi}_1, \phi, \xi, \eta, g_1)$  be an ACMM and  $(\bar{\Xi}_1, \phi, \xi, \eta, g_1)$  be a RM.Let  $\bar{\alpha}$  be a RS from  $\Xi_1$  to  $\Xi_2$ . If the wirtinger angle  $\theta(\beta_1)$  between  $\phi\beta_1$  and the space ker $\bar{\alpha}_*$  is independent of the choice of the non-zero vector field  $\beta_1 \in \Gamma(\ker \bar{\alpha}_*) - \langle \xi \rangle$  at each given point  $q \in \Xi_1$ , then  $\bar{\alpha}$  is a pointwise slant submersion. The angle  $\theta$  represents a function on  $\bar{\Xi}_1$ , known as the slant function of the pointwise slant submersion.

Now, we extended the concept of  $\phi$ -pluriharmonicity from almost contact metric manifolds to  $(\Xi_1, \phi, \xi, \eta, g_1)$  which was once studied and defined by Y. Ohnita [21]. Let  $\bar{\alpha}$  be a  $\mathcal{PWHSCS}$ from almost contact metric manifolds to  $(\Xi_1, \phi, \xi, \eta, g_1)$  onto a Riemannian manifold  $(\Xi_2, g_2)$ . Then  $\mathcal{PWHSCS}$  is  $\mathfrak{D}^{\perp}$ - $\phi$ -pluriharmonic,  $\mathfrak{D}^{\theta}$ - $\phi$ -pluriharmonic,  $(\mathfrak{D}^{\perp} - \mathfrak{D}^{\theta})$ - $\phi$  pluriharmonic, ker $\bar{\alpha}_*$ - $\phi$ -pluriharmonic,  $(\ker \bar{\alpha}_*)^{\perp}$ - $\phi$ -pluriharmonic and  $((\ker \bar{\alpha}_*)^{\perp} - \ker \bar{\alpha}_*)$ - $\phi$ -pluriharmonic if

$$(\nabla \bar{\alpha}_*)(\beta_1, \beta_2) + (\nabla \bar{\alpha}_*)(\phi \beta_1, \phi \beta_2) = 0, \qquad (2.16)$$

#### M. SHUAIB

for any  $\beta_1, \beta_2 \in \Gamma(\mathfrak{D}^{\perp})$ , for any  $\beta_1, \beta_2 \in \Gamma(\mathfrak{D}^{\theta})$ , for any  $\beta_1 \in \Gamma(\mathfrak{D}^{\perp}), \beta_2 \in \Gamma(\mathfrak{D}^{\theta})$ , for any  $\beta_1, \beta_2 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$  and for any  $\beta_1 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}, \beta_2 \in \Gamma(\ker \bar{\alpha}_*)$ .

3. Pointwise hemi-slant  $\xi^{\perp}$ -conformal submersions

In this section, we will revisit the idea of  $\mathcal{PWHSCS}$  with  $\xi \in \Gamma(ker\bar{\alpha})^{\perp}$ .

**Definition 3.1.** Let  $\bar{\alpha} : (\Xi_1, \phi, \xi, \eta, g_1) \to (\Xi_2, g_2)$  be a HCS where  $(\Xi_1, \phi, \xi, \eta, g_1)$  is an ACMM and  $(\Xi_2, g_2)$  is a RM. A HCS  $\bar{\alpha}$  is called a pointwise hemi-slant conformal submersion with  $\xi \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$  if there exists two distributions  $\mathfrak{D}^{\perp}$  and  $\mathfrak{D}^{\theta}$  such that  $\ker \bar{\alpha}_* = \mathfrak{D}^{\theta} \oplus \mathfrak{D}^{\perp}, \ \phi(\mathfrak{D}^{\perp}) \subseteq \Gamma(\ker \bar{\alpha}_*)^{\perp}$  and for any given point  $q \in \Xi_1$  and  $\beta_1 \in (\mathfrak{D}^{\theta})_q$ , the angle  $\theta = \theta(\beta_1)$  between  $\phi\beta_1$  and space  $(\mathfrak{D}^{\theta})_q$  is independent of choice of non-zero vector  $\beta_1 \in (\mathfrak{D}^{\theta})_q$ , where  $\mathfrak{D}^{\theta}$  is the orthogonal complement of  $\mathfrak{D}^{\perp}$  in  $\ker \bar{\alpha}_*$ . In this case, the angle  $\theta$  can be regarded as a slant function and called pointwise hemi-slant function of submersion.

Let  $\bar{\alpha}$  be a  $\mathcal{PWHSCS}$  from an  $\mathcal{ACMM}(\Xi_1, \phi, \xi, \eta, g_1)$  onto a  $\mathcal{RM}(\Xi_2, g_2)$ . Then, for any  $\omega_2 \in \Gamma(\ker \bar{\alpha}_*)$ , we have

$$\omega_2 = \mathfrak{P}\omega_2 + \mathfrak{Q}\omega_2 \tag{3.17}$$

where  $\mathfrak{P}$  and  $\mathfrak{Q}$  are the projections morphism onto  $\mathfrak{D}^{\perp}$  and  $\mathfrak{D}^{\theta}$ . Now, for any  $\omega_2 \in \Gamma(\ker \bar{\alpha}_*)$ , we have

$$\phi\omega_2 = \bar{\delta}\omega_2 + \bar{F}\omega_2 \tag{3.18}$$

where  $\bar{\delta}\omega_2 \in \Gamma(\ker \bar{\alpha}_*)$  and  $\bar{F}\omega_2 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ . From (3.17) and (3.18), we have

$$\begin{split} \phi \zeta_1 = & \phi(\mathfrak{P}\zeta_1) + \phi(\mathfrak{Q}\zeta_1) \\ = & \bar{\delta}(\mathfrak{P}\zeta_1) + \bar{F}(\mathfrak{P}\zeta_1) + \bar{\delta}(\mathfrak{Q}\zeta_1) + \bar{F}(\mathfrak{Q}\zeta_1), \end{split}$$

for any  $\zeta_1 \in \Gamma(\ker \bar{\alpha}_*)$ . Since  $\phi \mathfrak{D}^{\perp} \subseteq \Gamma(\ker \bar{\alpha}_*)^{\perp}$ , we have  $\bar{\delta}(\mathfrak{P}\zeta_1) = 0$ , we have

$$\phi\zeta_1 = \bar{F}(\mathfrak{P}\zeta_1) + \bar{\delta}(\mathfrak{Q}\zeta_1) + \bar{F}(\mathfrak{Q}\zeta_1) + \bar{F}($$

Now, we have the following decomposition

$$(\ker \bar{\alpha}_*)^{\perp} = \bar{F} \mathfrak{D}^{\theta} \oplus \bar{F} \mathfrak{D}^{\perp} \oplus \nu, \qquad (3.19)$$

where  $\nu$  is the orthogonal complement to  $\bar{F}\mathfrak{D}^{\theta} \oplus \bar{F}\mathfrak{D}^{\perp}$  in  $(\ker \bar{\alpha}_*)^{\perp}$  such that  $\nu$  is invariant with respect to  $\phi$ . Now, for any  $\beta_1 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ , we have

$$\phi\beta_1 = \mathcal{J}\beta_1 + \mathcal{N}\beta_1 \tag{3.20}$$

where  $\mathcal{J}\beta_1 \in \Gamma(\ker \bar{\alpha}_*)$  and  $\mathcal{N}\beta_1 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ .

**Lemma 3.1.** Let  $(\Xi_1, \phi, \xi, \eta, g_1)$  be an  $\mathcal{ACMM}$  and  $(\Xi_2, g_2)$  be a  $\mathcal{RM}$ . If  $\bar{\alpha} : \Xi \to \Xi_2$  is a  $\mathcal{PWHSCS}$ , then we have

$$-\omega_1 = -\bar{\delta}^2 \omega_1 + \mathcal{J}\bar{F}\omega_1, \ \bar{F}\bar{\delta}\omega_1 + \mathcal{N}\bar{F}\omega_1 = 0, \ -\beta_1 = \bar{F}\mathcal{J}\beta_1 + \mathcal{N}^2\beta_1, \ \eta(\beta_1)\xi = \bar{\delta}\mathcal{J}\beta_1 + \mathcal{J}\mathcal{N}\beta_1,$$
  
for any vector field  $\omega_1 \in \Gamma(\ker\bar{\alpha}_*)$  and  $\beta_1 \in \Gamma(\ker\bar{\alpha}_*)^{\perp}$ .

*Proof.* By considering the (3.18) and (3.20), the proof of Lemma exists.

Let us now provide some helpful outcomes, which will be applied throughout the research paper.

**Lemma 3.2.** Let  $\bar{\alpha}$  be a PWHSCS from an ACMM  $(\Xi_1, \phi, \xi, \eta, g_1)$  onto a RM  $(\Xi_2, g_2)$ , then we have

$$\bar{\delta}^2 \zeta_2 = (-\cos^2 \theta) \zeta_2, \tag{3.21}$$

for any vector fields  $\zeta_2 \in \Gamma(\mathfrak{D}^{\theta})$ .

**Lemma 3.3.** Let  $\bar{\alpha}$  be a PWHSCS from an ACMM  $(\Xi_1, \phi, \xi, \eta, g_1)$  onto a RM  $(\Xi_2, g_2)$ , then we have

- (i)  $g_1(\bar{\delta}\zeta_1, \bar{\delta}\zeta_2) = \cos^2\theta g_1(\zeta_1, \zeta_2),$
- (ii)  $g_1(\bar{F}\zeta_1, \bar{F}\zeta_2) = \sin^2\theta g_1(\zeta_1, \zeta_2),$

for any vector fields  $\zeta_1, \zeta_2 \in \Gamma(\mathfrak{D}^{\theta})$ .

*Proof.* The proof of the preceding Lemmas is identical to the proof of Theorem (2.2) of [9]. As a result, we omit the proofs.  $\Box$ 

**Lemma 3.4.** Let  $\bar{\alpha} : \Xi_1 \to \Xi_2$  be a  $\mathcal{PWHSCS}$  with hemi-slant function  $\theta$  where,  $(\Xi_1, \phi, \xi, \eta, g_1)$ a  $\mathcal{SM}$  and  $(\Xi_2, g_2)$  a  $\mathcal{RM}$ , then we have

(i)  $\mathcal{A}_{\beta_1}\mathcal{N}\beta_2 + v\nabla_{\beta_1}\mathcal{J}\beta_2 = \mathcal{J}\aleph\nabla_{\beta_1}\beta_2 + \bar{\delta}\mathcal{A}_{\beta_1}\beta_2$ (ii)  $\aleph\nabla_{\beta_1}\mathcal{N}\beta_2 + \mathcal{A}_{\beta_1}\mathcal{J}\beta_2 = \mathcal{N}\aleph\nabla_{\beta_1}\beta_2 + \bar{F}\mathcal{A}_{\beta_1}\beta_2 + g_1(\beta_1,\beta_2)\xi - \eta(\beta_2)\beta_1$ (iii)  $v\nabla_{\beta_1}\bar{\delta}\omega_2 + \mathcal{A}_{\beta_1}\bar{F}\omega_2 = \mathcal{J}\mathcal{A}_{\beta_1}\omega_2 + \bar{\delta}v\nabla_{\beta_1}\omega_2$ (iv)  $\mathcal{A}_{\beta_1}\bar{\delta}\omega_2 + \aleph\nabla_{\beta_1}\bar{F}\omega_2 = \mathcal{N}\mathcal{A}_{\beta_1}\omega_2 + \bar{F}v\nabla_{\beta_1}\omega_2$ (v)  $v\nabla_{\omega_2}\mathcal{J}\beta_1 + \mathcal{T}_{\omega_2}\mathcal{N}\beta_1 = \bar{\delta}\mathcal{T}_{\omega_2}\beta_1 + \mathcal{J}\aleph\nabla_{\omega_2}\beta_1 + \eta(\beta_1)\omega_2$ (vi)  $\mathcal{T}_{\omega_2}\mathcal{J}\beta_1 + \aleph\nabla_{\omega_2}\mathcal{N}\beta_1 = \bar{F}\mathcal{T}_{\omega_2}\beta_1 + \mathcal{N}\aleph\nabla_{\omega_2}\beta_1$ (vii)  $v\nabla_{\omega_1}\bar{\delta}\omega_2 + \mathcal{T}_{\omega_1}\bar{F}\omega_2 = \bar{\delta}v\nabla_{\omega_1}\omega_2 + \mathcal{J}\mathcal{T}_{\omega_1}\omega_2$ (viii)  $\mathcal{T}_{\omega_1}\bar{\delta}\omega_2 + \aleph\nabla_{\omega_1}\bar{F}\omega_2 = \mathcal{N}\mathcal{T}_{\omega_1}\omega_2 + \bar{F}v\nabla_{\omega_1}\omega_2 - g_1(\omega_1,\omega_2)\xi,$ for any vector fields  $\omega_1, \omega_2 \in \Gamma(\ker\bar{\alpha}_*)$  and  $\beta_1, \beta_2 \in \Gamma(\ker\bar{\alpha}_*)^{\perp}$ .

*Proof.* Using (2.13), (2.15), and (2.7) (3.20), we obtain the first two relations (i) and (ii). Equations (2.13), (2.15) (2.7), (2.4)-(2.7), and (3.18) (3.20 yield the expected results.

To investigate the geometry of  $\mathcal{PWHSCS}$   $\bar{\alpha} : \Xi_1 \to \Xi_2$ , we will now review several key findings. Direct calculations might lead to the following conclusions:

 $\begin{array}{l} (a) \ (\nabla_{\omega_1}\bar{\delta})\omega_2 = v\nabla_{\omega_1}\bar{\delta}\omega_2 - \bar{\delta}v\nabla_{\omega_1}\omega_2 \\ (b) \ (\nabla_{\omega_1}\bar{F})\omega_2 = \aleph\nabla_{\omega_1}\bar{F}\omega_2 - \bar{F}v\nabla_{\omega_1}\omega_2 \\ (c) \ (\nabla_{\beta_1}\mathcal{J})\beta_2 = v\nabla_{\beta_1}\mathcal{J}\beta_2 - \mathcal{J}\aleph\nabla_{\beta_1}\beta_2 \\ (d) \ (\nabla_{\beta_1}\mathcal{N})\beta_2 = \aleph\nabla_{\beta_1}\mathcal{N}\beta_2 - \mathcal{N}\aleph\nabla_{\beta_1}\beta_2, \end{array}$ 

for any vector fields  $\omega_1, \omega_2 \in \Gamma(\ker \bar{\alpha}_*)$  and  $\beta_1, \beta_2 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ .

**Lemma 3.5.** Let  $\bar{\alpha} : \Xi_1 \to \Xi_2$  be a PWHSCS with hemi-slant function  $\theta$  from a SM onto a RM, then we have

- (i)  $(\nabla_{\omega_1}\bar{\delta})\omega_2 = \mathcal{J}\mathcal{T}_{\omega_1}\omega_2 \mathcal{T}_{\omega_1}\bar{F}\omega_2$ (ii)  $(\nabla_{\omega_1}\bar{F})\omega_2 = \mathcal{N}\mathcal{T}_{\omega_1}\omega_2 - \mathcal{T}_{\omega_1}\bar{\delta}\omega_2 + g_1(\omega_1,\omega_2)\xi$ (iii)  $(\nabla_{\beta_1}\mathcal{J})\beta_2 = \bar{\delta}\mathcal{A}_{\beta_1}\beta_2 - \mathcal{A}_{\beta_1}\mathcal{N}\beta_2$
- (iv)  $(\nabla_{\beta_1}\mathcal{N})\beta_2 = \bar{F}\mathcal{A}_{\beta_1}\beta_2 \mathcal{A}_{\beta_1}\mathcal{J}\beta_2 \eta(\beta_2)\beta_1 + g_1(\beta_1,\beta_2)\xi,$

for all vector fields  $\omega_1, \omega_2 \in \Gamma(\ker \bar{\alpha}_*)$  and  $\beta_1, \beta_2 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ .

#### M. SHUAIB

*Proof.* The results may be obtained by using the above-mentioned formulae (a) - (d), as well as (2.15), (2.4)-(2.7).

The tensor fields  $\overline{\delta}$  and  $\overline{F}$ , if they are parallel with regard to the Levi-Civita connection  $\nabla$  of  $\Xi_1$ , then we obtain

$$\mathcal{JT}_{\omega_1}\omega_2 = \mathcal{T}_{\omega_1}\bar{\mathit{F}}\,\omega_2, \ \mathcal{NT}_{\omega_1}\omega_2 - g_1(\omega_1,\omega_2)\xi = \mathcal{T}_{\omega_1}\bar{\delta}\omega_2$$

for any vector fields  $\omega_1, \omega_2 \in \Gamma(T\Xi_1)$ .

We are going to discuss about the anti-invariant distribution  $\mathfrak{D}^{\perp}$  and the slant distribution  $\mathfrak{D}^{\theta}$ , as well as their integrability and total geodesic.

**Theorem 3.1.** Let  $\bar{\alpha}$  be a PWHSCS from a SM  $(\Xi_1, \phi, \xi, \eta, g_1)$  onto a RM  $(\Xi_2, g_2)$  such that the structure vector field  $\xi$  is horizontal. Then the following are equivalent

(i) The anti-invariant distribution  $\mathfrak{D}^{\perp}$  is integrable.

(ii) 
$$\frac{1}{\lambda^2} g_2(\nabla_{\zeta_2}^{\bar{\alpha}} \bar{\alpha}_*(\bar{F}\zeta_1) - \nabla_{\zeta_1}^{\bar{\alpha}} \bar{\alpha}_*(\bar{F}\zeta_2), \bar{\alpha}_*(\bar{F}\omega_1)) \\ = g(\nabla_{\zeta_1} \bar{F} \bar{\delta}\zeta_2 + \nabla_{\zeta_2} \bar{F} \bar{\delta}\zeta_1, \omega_1) - g(\mathcal{T}_{\zeta_1} \bar{F}\zeta_2 + \mathcal{T}_{\zeta_2} \bar{F}\zeta_1, \bar{\delta}\omega_1) \\ = g(\nabla_{\zeta_1} \bar{F} \bar{\delta}\zeta_2 + \nabla_{\zeta_2} \bar{F} \bar{\delta}\zeta_1, \omega_1) - g(\mathcal{T}_{\zeta_1} \bar{F}\zeta_2 + \mathcal{T}_{\zeta_2} \bar{F}\zeta_1, \bar{\delta}\omega_1)$$

for any  $\zeta_1, \zeta_2 \in \Gamma(D^{\perp})$  and  $\omega_1 \in \mathfrak{D}^{\theta}$ .

*Proof.* By using (2.11), (2.13), (3.18), (2.4) and (2.5), we can write

$$g_1(\nabla_{\zeta_1}\zeta_2,\omega_1) = -g_1(\phi\nabla_{\zeta_1}\bar{\delta}\zeta_2,\omega_1) + g_1(\mathcal{T}_{\zeta_1}\bar{F}\zeta_2,\bar{\delta}\omega_1) + g_1(\aleph\nabla_{\zeta_1}\bar{F}\zeta_2,\bar{F}\omega_1),$$

for any  $\zeta_1, \zeta_2 \in \Gamma(D)^{\perp}$  and  $\omega_1 \in \Gamma(D)^{\theta}$ . Taking account the fact from (3.17), (2.13), (2.5), and (3.18), we have

$$g_1(\nabla_{\zeta_1}\zeta_2,\omega_1) = -g_1(\nabla_{\zeta_1}\bar{\delta}^2\zeta_2,\omega_1) - g_1(\nabla_{\zeta_1}\bar{F}\,\bar{\delta}\zeta_2,\omega_1) + g_1(\mathcal{T}_{\zeta_1}\bar{F}\,\zeta_2,\bar{\delta}\omega_1) + g_1(\aleph\nabla_{\zeta_1}\bar{F}\,\zeta_2,\bar{F}\,\omega_1).$$

By using the horizontal conformality of  $\bar{\alpha}$  and changing the role of  $\zeta_1, \zeta_2$  and from (2.9) with Lemma 2.1, Lemma 3.2, we finally get

$$\sin^{2}\theta g_{1}([\zeta_{1},\zeta_{2}],\omega_{1}) = g_{1}(\mathcal{T}_{\zeta_{1}}\bar{F}\zeta_{2},\bar{\delta}\omega_{1}) + g_{1}(\mathcal{T}_{\zeta_{2}}\bar{F}\zeta_{1},\bar{\delta}\omega_{1}) - g_{1}(\nabla_{\zeta_{1}}\bar{F}\bar{\delta}\zeta_{2},\omega_{1}) - g_{1}(\nabla_{\zeta_{2}}\bar{F}\bar{\delta}\zeta_{1},\omega_{1}) \\ + \frac{1}{\lambda^{2}}g_{2}(\nabla^{\bar{\alpha}}_{\zeta_{2}}(\bar{F}\zeta_{1}),\bar{\alpha}_{*}(\bar{F}\omega_{1})) - \frac{1}{\lambda^{2}}g_{2}(\nabla^{\bar{\alpha}}_{\zeta_{1}}(\bar{F}\zeta_{2}),\bar{\alpha}_{*}(\bar{F}\omega_{1})).$$

 $\Box$ 

This completes the proof.

**Theorem 3.2.** Let  $\bar{\alpha} : \Xi_1 \to \Xi_2$  be a PWHSCS from a SM  $\Xi_1$  onto a RM  $\Xi_2$  such that structure vector field  $\xi$  is horizontal. Then the following are equivalent.

- (i) Slant distribution  $\mathfrak{D}^{\theta}$  is integrable.
- (ii)  $\frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\zeta_1}\bar{\alpha}_*(\bar{F}\omega_1),\bar{\alpha}_*(\bar{F}\omega_2)) + \frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\omega_2}\bar{\alpha}_*(\bar{F}\omega_1),\bar{\alpha}_*(\phi\zeta_1)) + g_1([\omega_1,\zeta_1],\omega_2) \\ = \sin 2\theta g_1(\omega_1,\omega_2) \cos^2\theta g_1(\nabla_{\zeta_1}\omega_1,\omega_2) g_1(\mathcal{T}_{\zeta_1}\bar{F}\omega_1,\bar{\delta}\omega_2) g_1(\mathcal{T}_{\omega_2}\bar{F}\omega_1,\phi\zeta_1), \\ \mathcal{F}(2\theta) = b_1 \mathcal{F}(2\theta)$

for any  $\omega_1, \omega_2 \in \Gamma(\mathfrak{D}^{\theta})$  and  $\zeta_1 \in \Gamma(\mathfrak{D}^{\perp})$ .

*Proof.* For any  $\omega_1, \omega_2 \in \Gamma(D)^{\theta}$  and  $\zeta_1 \in \Gamma(D)^{\perp}$  with taking account the fact from (2.11), (2.13) and (2.15), we get

$$g_1([\omega_1, \omega_2], \zeta_1) = -g_1([\omega_1, \zeta_1], \omega_2) - g_1(\nabla_{\zeta_1} \phi \omega_1, \phi \omega_2) - g_1(\nabla_{\omega_2} \phi \omega_1, \phi \zeta_1).$$

By using (2.4), (2.5) and (2.13), we can write

$$g_1([\omega_1,\omega_2],\zeta_1) = -g_1([\omega_1,\zeta_1],\omega_2) + g_1(\nabla_{\zeta_1}\bar{\delta}^2\omega_1,\omega_2) - g_1(\mathcal{T}_{\zeta_1}\bar{F}\omega_1,\bar{\delta}\omega_2) - g_1(\aleph\nabla_{\zeta_1}\bar{F}\omega_1,\bar{F}\omega_2) - g_1(\mathcal{T}_{\omega_2}\bar{\delta}\omega_1,\phi\zeta_1) - g_1(\aleph\nabla_{\omega_2}\bar{F}\omega_1,\phi\zeta_1).$$

In the light of (2.1) with Lemma 3.2, we get

$$g_1([\omega_1, \omega_2], \zeta_1) = -g_1([\omega_1, \zeta_1], \omega_2) + \sin 2\theta \zeta_1(\theta) g_1(\omega_1, \omega_2) - \cos^2 \theta g_1(\nabla_{\zeta_1} \omega_1, \omega_2) - \frac{1}{\lambda^2} g_2(\bar{\alpha}_*(\aleph \nabla_{\zeta_1} \bar{F} \, \omega_1), \bar{\alpha}_*(\bar{F} \, \omega_2)) - \frac{1}{\lambda^2} g_2(\bar{\alpha}_*(\aleph \nabla_{\omega_2} \bar{F} \, \omega_1), \bar{\alpha}_*(\phi \zeta_1)) - g_1(\mathcal{T}_{\omega_2} \bar{\delta} \omega_1, \phi \zeta_1) - g_1(\mathcal{T}_{\zeta_1} \bar{F} \, \omega_1, \bar{\delta} \omega_2).$$

By using the horizontal conformality of  $\bar{\alpha}$  with Lemma 2.1 and (2.5), we finally have

$$g_{1}([\omega_{1},\omega_{2}],\zeta_{1}) = -g_{1}([\omega_{1},\zeta_{1}],\omega_{2}) + \sin^{2}\theta\zeta_{1}(\theta)g_{1}(\omega_{1},\omega_{2}) - \cos^{2}\theta g_{1}(\nabla_{\zeta_{1}}\omega_{1},\omega_{2})$$

$$-g_{1}(\mathcal{T}_{\zeta_{1}}\bar{F}\omega_{1},\bar{\delta}\omega_{2}) - \frac{1}{\lambda^{2}}g_{2}(\nabla^{\bar{\alpha}}_{\zeta_{1}}\bar{\alpha}_{*}(\bar{F}\omega_{1}),\bar{\alpha}_{*}(\bar{F}\omega_{2}))$$

$$-\frac{1}{\lambda^{2}}g_{2}(\nabla^{\bar{\alpha}}_{\omega_{2}}\bar{\alpha}_{*}(\bar{F}\omega_{1}),\bar{\alpha}_{*}(\phi\zeta_{1})) + \frac{1}{\lambda^{2}}g_{2}((\nabla\bar{\alpha}_{*})(\omega_{2},\bar{F}\omega_{1}),\bar{\alpha}_{*}(\phi\zeta_{1}))$$

$$-g_{1}(\mathcal{T}_{\omega_{2}}\bar{\delta}\omega_{1},\phi\zeta_{1}) + \frac{1}{\lambda^{2}}g_{2}((\nabla\bar{\alpha}_{*})(\zeta_{1},\bar{F}\omega_{1}),\bar{\alpha}_{*}(\bar{F}\omega_{2})).$$

This is the required proof of theorem.

**Theorem 3.3.** Let  $\bar{\alpha} : (\Xi_1, \phi, \xi, \eta, g_1) \to (\Xi_2, g_2)$  be a  $\mathcal{PWHSCS}$  from a  $\mathcal{SM} \equiv_1$  onto a  $\mathcal{RM} \equiv_2$  such that structure vector field  $\xi$  is horizontal. Then the following are equivalent.

- (i) Vertical distribution (ker  $\bar{\alpha}_*$ ) is integrable.
- (ii)  $\frac{1}{\lambda^{2}}g_{2}(\nabla_{\beta_{1}}^{\bar{\alpha}}\bar{\alpha}_{*}(\bar{F}\mathfrak{P}\omega_{1}),\bar{\alpha}_{*}(\bar{F}\omega_{2})) + \frac{1}{\lambda^{2}}g_{2}(\nabla_{\beta_{1}}^{\bar{\alpha}}\bar{\alpha}_{*}(\bar{F}\mathfrak{Q}\omega_{1}),\bar{\alpha}_{*}(\bar{F}\omega_{2})) \\ = \cos^{2}\theta_{g_{1}}(\nabla_{\beta_{1}}\mathfrak{Q}\omega_{1},\omega_{2}) \sin2\theta\beta_{1}(\theta)g_{1}(\mathfrak{Q}\omega_{1},\omega_{2}) + g_{1}([\omega_{1},\beta_{1}],\omega_{2}) g_{1}(\mathcal{A}_{\beta_{1}}\bar{\delta}\mathfrak{P}\omega_{1},\mathcal{N}\beta_{1}) \\ -g_{1}(v\nabla_{\beta_{1}}\bar{\delta}\mathfrak{P}\omega_{1},\mathcal{J}\beta_{1}) + g_{1}(\mathcal{A}_{\beta_{1}}\bar{\delta}\mathfrak{P}\omega_{1},\bar{\delta}\omega_{2}) g_{1}(\nabla_{\beta_{1}}\bar{F}\bar{\delta}\mathfrak{Q}\omega_{1},\omega_{2}) + g_{1}(\mathcal{A}_{\beta_{1}}\bar{F}\mathfrak{Q}\omega_{1},\bar{\delta}\omega_{2}) \\ + g_{1}(\mathcal{T}_{\omega_{2}}\bar{\delta}\omega_{1},\mathcal{N}\beta_{1}) + g_{1}(v\nabla_{\omega_{2}}\bar{\delta}\omega_{1},\mathcal{J}\beta_{1}) + g_{1}(\mathcal{T}_{\omega_{2}}\bar{\delta}\omega_{1},\mathcal{J}\beta_{1}) + g_{1}(\aleph\nabla_{\omega_{2}}\bar{F}\omega_{1},\mathcal{N}\beta_{1}) \\ + g_{1}(\beta_{1},\bar{F}\omega_{2})g_{1}(\bar{F}\mathfrak{P}\omega_{1},\operatorname{grad}\ln\lambda) + g_{1}(\bar{F}\mathfrak{P}\omega_{1},\bar{F}\omega_{2})g_{1}(\beta_{1},\operatorname{grad}\ln\lambda) \\ g_{1}(\beta_{1},\bar{F}\mathfrak{P}\omega_{1})g_{1}(\bar{F}\omega_{2},\operatorname{grad}\ln\lambda) + g_{1}(\beta_{1},\bar{F}\omega_{2})g_{1}(\bar{F}\mathfrak{Q}\omega_{1},\operatorname{grad}\ln\lambda) \\ + g_{1}(\bar{F}\mathfrak{Q}\omega_{1},\bar{F}\omega_{2})g_{1}(\beta_{1},\operatorname{grad}\ln\lambda) g_{1}(\beta_{1},\bar{F}\mathfrak{Q}\omega_{1})g_{1}(\bar{F}\omega_{2},\operatorname{grad}\ln\lambda),$

for any  $\omega_1, \omega_2 \in \Gamma(\ker \bar{\alpha}_*)$  and  $\beta_1 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ .

*Proof.* By using (2.11), (2.13), (2.15) and (3.17), we have

$$g_1([\omega_1, \omega_2], \beta_1) = -g_1([\omega_1, \beta_1], \omega_2) - g_1(\nabla_{\beta_1} \phi \omega_1, \phi \omega_2) + g_1(\nabla_{\omega_2} \phi \omega_1, \phi \beta_1) + g_1(\nabla_{\omega_2} \phi \omega_1) + g_1(\nabla_{\omega_2} \phi \omega_1) + g_1(\nabla_{\omega_2} \phi \omega_1) + g_2(\nabla_{\omega_2} \phi \omega_1) + g_2(\nabla_{\omega_$$

for any  $\omega_1, \omega_2 \in \Gamma(\ker \bar{\alpha}_*)$  and  $\beta_1 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ . In the light of (2.4)-(2.7) and (2.15), we can write

$$\begin{split} g_1([\omega_1,\omega_2],\beta_1) &= -g_1(\mathcal{T}_{\omega_2}\bar{\delta}\omega_1,\mathcal{N}\beta_1) - g_1(v\nabla_{\omega_2}\bar{\delta}\omega_1,\mathcal{J}\beta_1) - g_1(\mathcal{T}_{\omega_2}\bar{F}\omega_1,\mathcal{J}\beta_1) \\ &- g_1([\omega_1,\beta_1],\omega_2) + g_1(\mathcal{A}_{\beta_1}\bar{\delta}\mathfrak{P}\omega_1,\mathcal{N}\beta_1) + g_1(v\nabla_{\beta_1}\bar{\delta}\mathfrak{P}\omega_1,\mathcal{J}\beta_1) \\ &- g_1(\mathcal{A}_{\beta_1}\bar{F}\mathfrak{P}\omega_1,\bar{\delta}\omega_2) - g_1(\aleph\nabla_{\beta_1}\bar{F}\mathfrak{P}\omega_1,\bar{F}\omega_2) + g_1(\nabla_{\beta_1}\phi\bar{\delta}\mathfrak{Q}\omega_1,\omega_2) \\ &- g_1((\nabla_{\beta_1}\phi)\bar{\delta}\mathfrak{Q}\omega_1,\omega_2) - g_1(\mathcal{A}_{\beta_1}\bar{F}\mathfrak{Q}\omega_1,\bar{\delta}\omega_2) - g_1(\aleph\nabla_{\beta_1}\bar{F}\mathfrak{Q}\omega_1,\bar{F}\omega_2) \\ &- g_1(\aleph\nabla_{\omega_2}\bar{F}\omega_1,\mathcal{N}\beta_1). \end{split}$$

M. SHUAIB

By using Lemma 3.2 with (2.1), we get

$$g_{1}([\omega_{1},\omega_{2}],\beta_{1}) = -g_{1}(\mathcal{T}_{\omega_{2}}\bar{\delta}\omega_{1},\mathcal{N}\beta_{1}) - g_{1}(v\nabla_{\omega_{2}}\bar{\delta}\omega_{1},\mathcal{J}\beta_{1}) - g_{1}(\mathcal{T}_{\omega_{2}}\bar{\delta}\omega_{1},\mathcal{J}\beta_{1}) + \sin 2\theta\beta_{1}(\theta)g_{1}(\mathfrak{Q}\omega_{1},\omega_{2}) - \cos^{2}\theta g_{1}(\nabla_{\beta_{1}}\mathfrak{Q}\omega_{1},\omega_{2}) + g_{1}(\nabla_{\beta_{1}}\bar{F}\,\bar{\delta}\mathfrak{Q}\omega_{1},\omega_{2}) - g_{1}([\omega_{1},\beta_{1}],\omega_{2}) + g_{1}(\mathcal{A}_{\beta_{1}}\bar{\delta}\mathfrak{P}\omega_{1},\mathcal{N}\beta_{1}) + g_{1}(v\nabla_{\beta_{1}}\bar{\delta}\mathfrak{P}\omega_{1},\mathcal{J}\beta_{1}) - \frac{1}{\lambda^{2}}g_{2}(\bar{\alpha}_{*}(\aleph\nabla_{\beta_{1}}\bar{F}\,\mathfrak{P}\omega_{1}),\bar{\alpha}_{*}(\bar{F}\,\omega_{2})) - \frac{1}{\lambda^{2}}g_{2}(\bar{\alpha}_{*}(\aleph\nabla_{\beta_{1}}\bar{F}\,\mathfrak{Q}\omega_{1}),\bar{\alpha}_{*}(\bar{F}\,\omega_{2})) - g_{1}(\mathcal{A}_{\beta_{1}}\bar{F}\,\mathfrak{Q}\omega_{1},\bar{\delta}\omega_{2}) - g_{1}(\aleph\nabla_{\omega_{2}}\bar{F}\,\omega_{1},\mathcal{N}\beta_{1}) - g_{1}(\mathfrak{A}_{\beta_{1}}\bar{F}\,\mathfrak{P}\omega_{1},\bar{\delta}\omega_{2}).$$

By using the horizontal conformality of  $\bar{\alpha}$  from Lemma 2.1 and with (2.9), we finally deduce that

$$\begin{split} g_1([\omega_1, \omega_2], \beta_1) &= -g_1([\omega_1, \beta_1], \omega_2) + g_1(\mathcal{A}_{\beta_1} \bar{\delta} \mathfrak{P} \omega_1, \mathcal{N} \beta_1) + g_1(v \nabla_{\beta_1} \bar{\delta} \mathfrak{P} \omega_1, \mathcal{J} \beta_1) \\ &+ \sin 2\theta \beta_1(\theta) g_1(\mathfrak{Q} \omega_1, \omega_2) - \cos^2 \theta g_1(\nabla_{\beta_1} \mathfrak{Q} \omega_1, \omega_2) + g_1(\nabla_{\beta_1} \bar{F} \bar{\delta} \mathfrak{Q} \omega_1, \omega_2) \\ &- g_1(\mathcal{T}_{\omega_2} \bar{\delta} \omega_1, \mathcal{N} \beta_1) - g_1(v \nabla_{\omega_2} \bar{\delta} \omega_1, \mathcal{J} \beta_1) - g_1(\mathcal{T}_{\omega_2} \bar{\delta} \omega_1, \mathcal{J} \beta_1) \\ &- g_1(\beta_1, \bar{F} \omega_2) g_1(\bar{F} \mathfrak{P} \omega_1, \operatorname{grad} \ln \lambda) - g_1(\bar{F} \mathfrak{P} \omega_1, \bar{F} \omega_2) g_1(\beta_1, \operatorname{grad} \ln \lambda) \\ &- g_1(\beta_1, \bar{F} \mathfrak{P} \omega_1) g_1(\bar{F} \omega_2, \operatorname{grad} \ln \lambda) + \frac{1}{\lambda^2} g_2(\nabla_{\beta_1}^{\bar{\alpha}} \bar{\alpha}_*(\bar{F} \mathfrak{P} \omega_1), \bar{\alpha}_*(\bar{F} \omega_2)) \\ &- g_1(\beta_1, \bar{F} \mathfrak{Q} \omega_1) g_1(\bar{F} \omega_2, \operatorname{grad} \ln \lambda) - g_1(\bar{F} \mathfrak{Q} \omega_1, \bar{F} \omega_2) g_1(\beta_1, \operatorname{grad} \ln \lambda) \\ &- g_1(\beta_1, \bar{F} \mathfrak{Q} \omega_1) g_1(\bar{F} \omega_2, \operatorname{grad} \ln \lambda) - g_1(\bar{F} \mathfrak{Q} \omega_1, \bar{F} \omega_2) g_1(\beta_1, \operatorname{grad} \ln \lambda) \\ &- g_1(\beta_1, \bar{F} \mathfrak{Q} \omega_1) g_1(\bar{F} \omega_2, \operatorname{grad} \ln \lambda) - g_1(\bar{F} \mathfrak{Q} \omega_1, \bar{F} \omega_2) g_1(\beta_1, \operatorname{grad} \ln \lambda) \\ &- g_1(\beta_1, \bar{F} \mathfrak{Q} \omega_1, \bar{\delta} \omega_2) - g_1(\mathcal{A}_{\beta_1} \bar{F} \mathfrak{Q} \omega_1, \bar{\delta} \omega_2) - g_1(\aleph \nabla_{\omega_2} \bar{F} \omega_1, \mathcal{N} \beta_1). \end{split}$$

This completes the proof of theorem.

**Theorem 3.4.** Let  $\bar{\alpha} : (\Xi_1, \phi, \xi, \eta, g_1) \to (\Xi_2, g_2)$  be a PWHSCS where  $(\Xi_1, \phi, \xi, \eta, g_1)$  is a SM and  $(\Xi_2, g_2)$  is a RM such that structure vector field  $\xi$  is horizontal. Then the antiinvariant distribution  $\mathfrak{D}^{\perp}$  defines totally geodesic foliation if and only if

$$\frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\zeta_1}\bar{\alpha}_*(\bar{F}\zeta_2),\bar{\alpha}_*(\bar{F}\omega_1)) = \frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\zeta_1,\bar{F}\zeta_2),\bar{\alpha}_*(\bar{F}\omega_1)) - g_1(\mathcal{T}_{\zeta_1}\bar{\delta}\zeta_2,\bar{F}) - g_1(v\nabla_{\zeta_1}\bar{\delta}\zeta_2,\bar{\delta}\omega_1) - g_1(\mathcal{T}_{\zeta_1}\bar{F}\zeta_2,\bar{\delta}\omega_1)$$
(3.22)

and

$$\frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\zeta_1}\bar{\alpha}_*(\bar{F}\zeta_2),\bar{\alpha}_*(\mathcal{N}\beta_1)) = \frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\zeta_1,\bar{F}\zeta_2),\bar{\alpha}_*(\mathcal{N}\beta_1)) - g_1(\mathcal{T}_{\zeta_1}\bar{\delta}\zeta_2,\mathcal{N}\beta_1) - g_1(\nabla_{\zeta_1}\bar{\delta}\zeta_2,\mathcal{N}\beta_1) - g_1(\nabla_{\zeta_1}\bar{F}\zeta_2,\mathcal{J}\beta_1) - g_1(\bar{\delta}\zeta_1,\zeta_2)\eta(\beta_1),$$
(3.23)

for any  $\zeta_1, \zeta_2 \in \Gamma(\mathfrak{D}^{\perp}), \omega_1 \in \Gamma(\mathfrak{D}^{\theta})$  and  $\beta_1 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ . Proof. By using (2.11), (2.13) and (2.15), we get

$$g_1(\nabla_{\zeta_1}\zeta_2,\omega_1) = g_1(\nabla_{\zeta_1}\bar{\delta}\zeta_2,\phi\omega_1) + g_1(\nabla_{\zeta_1}\bar{F}\zeta_2,\phi\omega_1).$$

In the light of (2.1), (2.4), and (2.5), we can write

$$g_1(\nabla_{\zeta_1}\zeta_2,\omega_1) = g_1(\mathcal{T}_{\zeta_1}\bar{F}\zeta_2,\bar{\delta}\omega_1) + \frac{1}{\lambda^2}g_2(\bar{\alpha}_*(\aleph\nabla_{\zeta_1}\bar{F}\zeta_2),\bar{\alpha}_*(\bar{F}\omega_1)) + g_1(\mathcal{T}_{\zeta_1}\bar{\delta}\zeta_2,\bar{F}\omega_1) + g_1(v\nabla_{\zeta_1}\bar{\delta}\zeta_2,\bar{\delta}\omega_1).$$

By using the horizontal conformality of  $\bar{\alpha}$  with Lemma 3.2 and (2.1), (2.5), we finally get

$$g_1(\nabla_{\zeta_1}\zeta_2,\omega_1) = g_1(\mathcal{T}_{\zeta_1}\bar{\delta}\zeta_2,\bar{F}\,\omega_1) + g_1(v\nabla_{\zeta_1}\bar{\delta}\zeta_2,\bar{\delta}\omega_1) + g_1(\mathcal{T}_{\zeta_1}\bar{F}\,\zeta_2,\bar{\delta}\omega_1) \\ - \frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\zeta_1,\bar{F}\,\zeta_2),\bar{\alpha}_*(\bar{F}\,\omega_1)) + \frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\zeta_1}\bar{\alpha}_*(\bar{F}\,\zeta_2),\bar{\alpha}_*(\bar{F}\,\omega_1))$$

On the other hand, for any  $\zeta_1, \zeta_2 \in \Gamma(\mathfrak{D}^{\perp}), \beta_1 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$  and by using (2.11), (2.13), (2.15), we have

$$g_1(\nabla_{\zeta_1}\zeta_2,\beta_1) = g_1(\nabla_{\zeta_1}\phi\zeta_2,\phi\beta_1) + g_1(\delta\zeta_1,\zeta_2)\eta(\beta_1).$$

Finally, in the light of (2.4), (2.5), (2.1) and (2.9), we get

$$g_{1}(\nabla_{\zeta_{1}}\zeta_{2},\beta_{1}) = \frac{1}{\lambda^{2}}g_{2}(\nabla_{\zeta_{1}}^{\bar{\alpha}}\bar{\alpha}_{*}(\bar{F}\zeta_{2}),\bar{\alpha}_{*}(\mathcal{N}\beta_{1})) - \frac{1}{\lambda^{2}}g_{2}((\nabla\bar{\alpha}_{*})(\zeta_{1},\bar{F}\zeta_{2}),\bar{\alpha}_{*}(\mathcal{N}\beta_{1})) + g_{1}(\mathcal{T}_{\zeta_{1}}\bar{\delta}\zeta_{2},\mathcal{N}\beta_{1}) + g_{1}(v\nabla_{\zeta_{1}}\bar{\delta}\zeta_{2},\mathcal{J}\beta_{1}) + g_{1}(\mathcal{T}_{\zeta_{1}}\bar{F}\zeta_{2},\mathcal{J}\beta_{1}) + g_{1}(\bar{\delta}\zeta_{1},\zeta_{2})\eta(\beta_{1}).$$

This is the required proof of theorem.

**Theorem 3.5.** Let  $\bar{\alpha} : (\Xi_1, \phi, \xi, \eta, g_1) \to (\Xi_2, g_2)$  be a PWHSCS from a SM  $(\Xi_1, \phi, \xi, \eta, g_1)$ onto a RM  $(\Xi_2, g_2)$  such that the structure vector field  $\xi$  is horizontal. Then the slant distribution defines totally geodesic foliation if and only if

$$\frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\zeta_1}\bar{\alpha}_*(\bar{F}\,\omega_1),\bar{\alpha}_*(\bar{F}\,\omega_2)) - \frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\zeta_1,\bar{F}\,\omega_1),\bar{\alpha}_*(\bar{F}\,\omega_2)) + g_1(\mathcal{T}_{\zeta_1}\bar{F}\,\omega_1,\bar{\delta}\omega_2)$$
$$= g_1([\omega_1,\zeta_1],\omega_2) - \sin 2\theta\zeta_1(\theta)g_1(\omega_1,\omega_2) + \cos^2\theta g_1(\nabla_{\zeta_1}\omega_1,\omega_2) - g_1(\mathcal{T}_{\zeta_1}\bar{F}\,\bar{\delta}W,\omega_2)$$

and

$$\begin{split} &\frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\beta_2,\bar{F}\,\omega_1),\bar{\alpha}_*(\bar{F}\,\omega_2)) - \frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\beta_2}\bar{\alpha}_*(\bar{F}\,\omega_1),\bar{\alpha}_*(\bar{F}\,\omega_2)) \\ &= g_1([\omega_1,\beta_2],\omega_2) - \sin 2\theta\beta_2(\theta)g_1(\omega_1,\omega_2) + \cos^2\theta g_1(\nabla_{\beta_2}\omega_1,\omega_2) - g_1(\mathfrak{A}_{\beta_2}\bar{F}\,\bar{\delta}\omega_1,\omega_2) \\ &+ g_1(\mathfrak{A}_{\beta_2}\bar{F}\,\omega_1,\bar{\delta}\omega_2) + g_1(\beta_2,\bar{F}\,\omega_2)g_1(\bar{F}\,\omega_1,\operatorname{grad}\ln\lambda) + g_1(\bar{F}\,\omega_1,\bar{F}\,\omega_2)g_1(\beta_2,\operatorname{grad}\ln\lambda) \\ &- g_1(\beta_2,\bar{F}\,\omega_1)g_1(\bar{F}\,\omega_2,\operatorname{grad}\ln\lambda), \end{split}$$

for any  $\omega_1, \omega_2 \in \Gamma(\mathfrak{D}^{\theta}), \zeta_1 \in \Gamma(\mathfrak{D}^{\perp})$  and  $\beta_2 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ .

*Proof.* For any  $\omega_1, \omega_2 \in \Gamma(\mathfrak{D}^{\theta})$  and  $\zeta_1 \in \Gamma(\mathfrak{D}^{\perp})$  with using (2.10), (2.11), (2.12) and (2.15), we have

$$g_1(\nabla_{\omega_1}\omega_2,\zeta_1) = g_1([\omega_1,\zeta_1],\omega_2) + g_1(\nabla_{\zeta_1}\bar{\delta}^2\omega_1,\omega_2) + g_1(\nabla_{\zeta_1}\bar{F}\,\bar{\delta}\omega_1,\omega_2) - g_1(\nabla_{\zeta_1}\bar{F}\,\omega_1,\phi\omega_2).$$

In the light of (2.5), (2.10) and (2.9) with Lemma 3.2, we can write

$$g(\nabla_{\omega_1}\omega_2,\zeta_1) = -g_1([\omega_1,\zeta_1],\omega_2) + \sin 2\theta\zeta_1(\theta)g_1(\omega_1,\omega_2) - \cos^2\theta g_1(\nabla_{\zeta_1}\omega_1,\omega_2) + g_1(\mathcal{T}_{\zeta_1}\bar{F}\,\omega_1,\bar{\delta}\omega_2) \\ - \frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\zeta_1,\bar{F}\,\omega_1),\bar{\alpha}_*(\bar{F}\,\omega_2)) + \frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\zeta_1}\bar{\alpha}_*(\bar{F}\,\omega_1),\bar{\alpha}_*(\bar{F}\,\omega_2)).$$

On the other hand, for any  $\omega_1, \omega_2 \in \Gamma(\mathfrak{D}^{\theta})$  and  $\beta_2 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$  with using (2.10), (2.11), (2.12) and (2.15), we get

$$g_1(\nabla_{\omega_1}\omega_2,\beta_2) = -g_1([\omega_1,\beta_2],\omega_2) - g_1(\nabla_{\beta_2}\bar{\delta}^2\omega_1,\omega_2) + g_1(\nabla_{\beta_2}\bar{F}\bar{\delta}\omega_1,\omega_2) - g_1(\nabla_{\beta_2}\bar{F}\omega_1,\phi\omega_2).$$

From (2.7) and with lemma 3.2, we have

$$g_1(\nabla_{\omega_1}\omega_2,\beta_2) = -g_1([\omega_1,\beta_2],\omega_2) + \sin 2\theta\beta_2(\theta)g_1(\omega_1,\omega_2) - \cos^2\theta g_1(\nabla_{\beta_2}\omega_1,\omega_2) + g_1(\mathcal{A}_{\beta_2}\bar{F}\,\bar{\delta}\omega_1,\omega_2) - g_1(\mathcal{A}_{\beta_2}\bar{F}\,\omega_1,\bar{\delta}\omega_2) - g_1(\aleph\nabla_{\beta_2}\bar{F}\,\omega_1,\bar{F}\,\omega_2).$$

Finally by using the horizontal conformality of  $\bar{\alpha}$  with (2.1), (2.9) and Lemma 2.1, we can deduce that

$$g_{1}(\nabla_{\omega_{1}}\omega_{2},\beta_{2}) = -g_{1}([\omega_{1},\beta_{2}],\omega_{2}) + \sin 2\theta\beta_{2}(\theta)g_{1}(\omega_{1},\omega_{2}) - \cos^{2}\theta g_{1}(\nabla_{\beta_{2}}\omega_{1},\omega_{2}) + g_{1}(\mathcal{A}_{\beta_{2}}\bar{F}\,\bar{\delta}\omega_{1},\omega_{2}) - g_{1}(\mathcal{A}_{\beta_{2}}\bar{F}\,\omega_{1},\bar{\delta}\omega_{2}) - \frac{1}{\lambda^{2}}g_{2}(\nabla^{\bar{\alpha}}_{\beta_{2}}\bar{\alpha}_{*}(\bar{F}\,\omega_{1}),\bar{\alpha}_{*}(\bar{F}\,\omega_{2})) - g_{1}(\beta_{2},\bar{F}\,\omega_{2})g_{1}(\bar{F}\,\omega_{1},\operatorname{grad}\ln\lambda) - g_{1}(\bar{F}\,\omega_{1},\bar{F}\,\omega_{2})g_{1}(\beta_{2},\operatorname{grad}\ln\lambda) + g_{1}(\beta_{2},\bar{F}\,\omega_{1})g_{1}(\bar{F}\,\omega_{2},\operatorname{grad}\ln\lambda).$$

This completes the proof of theorem.

**Theorem 3.6.** Let  $\bar{\alpha} : \Xi_1 \to \Xi_2$  be a PWHSCS from SM  $(\Xi_1, \phi, \xi, \eta, g_1)$  onto RM  $(\Xi_2, g_2)$ with structure vector field  $\xi$  is horizontal. Then  $(\ker \bar{\alpha}_*)^{\perp}$  defines totally geodesic foliation if and only if

$$\begin{aligned} &\frac{1}{\lambda^2} g_2(\nabla_{\beta_1}^{\bar{\alpha}} \bar{\alpha}_*(\mathcal{N}\beta_2), \bar{\alpha}_*(\bar{F}\zeta_1)) \\ &= g_1(\beta_1, \bar{F}\zeta_1) g_1(\mathcal{N}\beta_2, \operatorname{grad} \ln \lambda) + g_1(\mathcal{N}\beta_2, \bar{F}\zeta_1) g_1(\beta_1, \operatorname{grad} \ln \lambda) \\ &- g_1(\beta_1, \mathcal{N}\beta_2) g_1(\bar{F}\zeta_1, \operatorname{grad} \ln \lambda) - g_1(\mathfrak{A}_{\beta_1}\mathcal{J}\beta_2, \bar{F}\zeta_1) \\ &- g_1(v\nabla_{\beta_1}\mathcal{J}\beta_2, \bar{\delta}\zeta_1) - g_1(\mathfrak{A}_{\beta_1}\mathcal{N}\beta_2, \bar{\delta}\zeta_1) - \eta(\beta_2) g_1(\beta_1, \bar{F}\zeta_1), \end{aligned}$$

for any  $\beta_1, \beta_2 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$  and  $\zeta_1 \in \Gamma(\ker \bar{\alpha}_*)$ .

*Proof.* For any  $\beta_1, \beta_2 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$  and  $\zeta_1 \in \Gamma(\ker \bar{\alpha}_*)$  with using (2.10), (2.11), (2.12), (2.13), (2.10) and (2.7), we can write

$$g_1(\nabla_{\beta_1}\beta_2,\zeta_1) = g_1(\mathcal{A}_{\beta_1}\mathcal{J}\beta_2,\bar{F}\zeta_1) + g_1(v\nabla_{\beta_1}\mathcal{J}\beta_2,\delta\zeta_1) + g_1(\mathcal{A}_{\beta_1}\mathcal{N}\beta_2,\delta\zeta_1) + g_1(\mathcal{H}\nabla_{\beta_1}\mathcal{N}\beta_2,\bar{F}\zeta_1) + \eta(\beta_2)g_1(\beta_1,\bar{F}\zeta_1).$$

By using the horizontal conformality of  $\bar{\alpha}$  with (2.1), (2.9) and Lemma 2.1, we finally get

$$g_{1}(\nabla_{\beta_{1}}\beta_{2},\zeta_{1}) = g_{1}(\mathcal{A}_{\beta_{1}}\mathcal{J}\beta_{2},\bar{F}\zeta_{1}) + g_{1}(v\nabla_{\beta_{1}}\mathcal{J}\beta_{2},\bar{\delta}\zeta_{1}) + g_{1}(\mathcal{A}_{\beta_{1}}\mathcal{N}\beta_{2},\bar{\delta}\zeta_{1}) - g_{1}(\beta_{1},\bar{F}\zeta_{1})g_{1}(\mathcal{N}\beta_{2},\text{grad}\ln\lambda) - g_{1}(\mathcal{N}\beta_{2},\bar{F}\zeta_{1})g_{1}(\beta_{1},\text{grad}\ln\lambda) + g_{1}(\beta_{1},\mathcal{N}\beta_{2})g_{1}(\bar{F}\zeta_{1},\text{grad}\ln\lambda) - \frac{1}{\lambda^{2}}g_{2}(\nabla_{\beta_{1}}^{\bar{\alpha}}\bar{\alpha}_{*}(\mathcal{N}\beta_{2}),\bar{\alpha}_{*}(\bar{F}\zeta_{1})) + \eta(\beta_{2})g_{1}(\beta_{1},\bar{F}\zeta_{1}),$$

which is the required proof of the theorem.

**Theorem 3.7.** Let  $\bar{\alpha}$ :  $(\Xi_1, \phi, \xi, \eta, g_1) \rightarrow (\Xi_2, g_2)$  be a  $\mathcal{PWHSCS}$  where,  $(\Xi_1, \phi, \xi, \eta, g_1)$  a  $\mathcal{SM}$  and  $(\Xi_2, g_2)$  a  $\mathcal{RM}$  with structure vector field  $\xi$  is horizontal. Then the following are equivalent.

- (i)  $(\ker \bar{\alpha}_*)$  defines a totally geodesic foliation.
- (ii)  $\frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\zeta_2}\bar{\alpha}_*(\bar{F}Q\beta_1),\bar{\alpha}_*(\bar{F}\beta_2))+g_1([\beta_1,\bar{F}],\beta_2)+g_1(\mathcal{A}_{\zeta_2}\bar{\delta}P\beta_1,\bar{F}\beta_2)+g_1(\mathcal{A}_{\zeta_2}\bar{F}P\beta_1,\bar{\delta}\beta_2))$  $=\sin 2\theta\zeta_2(\theta)g_1(Q\beta_1,\beta_2)-\cos^2\theta g_1(\nabla_{\zeta_2}Q\beta_1,\beta_2)-g_1(v\nabla_{\zeta_2}\bar{\delta}P\beta_1,\bar{\delta}\zeta_2)$

r	-	-	_
L			
L			
H			-
$$-g_1(\mathcal{H}\nabla_{\zeta_2}\bar{F}P\beta_1,\bar{F}\beta_2) - g_1(\mathcal{A}_{\zeta_2}\bar{F}Q\beta_1,\delta\beta_2) - \eta(\beta_1)g_1(\zeta_2,\bar{F}\beta_2) + \eta(\beta_2)g_1(\delta\zeta_2,\beta_1) \\ + g_1(\zeta_2,\bar{F}\beta_2)g_1(\bar{F}Q\beta_1,\operatorname{grad}\ln\lambda) + g_1(\bar{F}Q\beta_1,\bar{F}\beta_2)g_1(\zeta_2,\operatorname{grad}\ln\lambda) \\ - g_1(\zeta_2,\bar{F}Q\beta_1)g_1(\bar{F}\beta_2,\operatorname{grad}\ln\lambda),$$

for any  $\beta_1, \beta_2 \in \Gamma(\ker \bar{\alpha}_*)$  and  $\zeta_2 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ .

Proof. Considering the fact

$$g_1(\nabla_{\beta_1}\beta_2,\zeta_2) = -g_1([\beta_1,\zeta_2],\beta_2) - g_1(\nabla_{\zeta_2}\phi\beta_1,\phi\beta_2) - \eta(\beta_1)g_1(\zeta_2,\bar{F}\beta_2) + \eta(\beta_2)g_1(\bar{\delta}\zeta_2,\beta_1),$$

by using (2.11), (2.15), (2.10) and (2.13) for any  $\beta_1, \beta_2 \in \Gamma(\ker \bar{\alpha}_*)$  and  $\zeta_2 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ . In the light of (3.17), (3.18) and (3.20), we can write

$$g_{1}(\nabla_{\beta_{1}}\beta_{2},\zeta_{2}) = -g_{1}([\beta_{1},\zeta_{2}],\beta_{2}) - g_{1}(\nabla_{\zeta_{2}}\bar{\delta}P\beta_{1},\phi\beta_{2}) - g_{1}(\nabla_{\zeta_{2}}\bar{F}P\beta_{1},\phi\beta_{2}) - g_{1}(\nabla_{\zeta_{2}}\bar{F}Q\beta_{1},\phi\beta_{2}) - \eta(\beta_{1})g_{1}(\zeta_{2},\bar{F}\beta_{2}) + \eta(\beta_{2})g_{1}(\bar{\delta}\zeta_{2},\beta_{1}) - g_{1}(\nabla_{\zeta_{2}}\bar{\delta}Q\beta_{1},\phi\beta_{2}).$$

From (2.10), (2.7), (2.15) and (2.13), we have

$$g_{1}(\nabla_{\beta_{1}}\beta_{2},\zeta_{2}) = -g_{1}([\beta_{1},\zeta_{2}],\beta_{2}) - g_{1}(\mathcal{A}_{\zeta_{2}}\bar{\delta}P\beta_{1},\bar{F}\beta_{2}) - g_{1}(v\nabla_{\zeta_{2}}\bar{\delta}P\beta_{1},\bar{F}\beta_{2}) - g_{1}(\mathcal{H}\nabla_{\zeta_{2}}\bar{F}P\beta_{1},\bar{F}\beta_{2}) + g_{1}(\nabla_{\zeta_{2}}\bar{\delta}^{2}Q\beta_{1},\beta_{2}) - g_{1}(\mathcal{A}_{\zeta_{2}}\bar{F}Q\beta_{1},\bar{\delta}\beta_{2}) - g_{1}(\mathcal{H}\nabla_{\zeta_{2}}\bar{F}Q\beta_{1},\bar{F}\beta_{2}) - \eta(\beta_{1})g_{1}(\zeta_{2},\bar{F}\beta_{2}) + \eta(\beta_{2})g_{1}(\bar{\delta}\zeta_{2},\beta_{1}) - g_{1}(\mathcal{A}_{\zeta_{2}}\bar{F}P\beta_{1},\bar{\delta}\beta_{2}).$$

By using (2.1), (2.9) and from the fact that  $\bar{\alpha}$  is a  $\mathcal{PWHSCS}$ , we finally get

$$\begin{split} g_1(\nabla_{\beta_1}\beta_2,W) &= -g_1([\beta_1,\zeta_2],\beta_2) - g_1(\mathcal{A}_{\zeta_2}\bar{\delta}P\beta_1,\bar{F}\beta_2) - g_1(v\nabla_{\zeta_2}\bar{\delta}P\beta_1,\bar{F}\beta_2) \\ &- g_1(\mathcal{H}\nabla_{\zeta_2}\bar{F}P\beta_1,\bar{F}\beta_2) + \operatorname{sin}2\theta\zeta_2(\theta)g_1(Q\beta_1,\beta_2) - \operatorname{cos}^2\theta g_1(\nabla_{\zeta_2}Q\beta_1,\beta_2) \\ &- g_1(\mathcal{A}_{\zeta_2}\bar{F}Q\beta_1,\bar{\delta}\beta_2) - \frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\zeta_2}\bar{\alpha}_*(\bar{F}Q\beta_1),\bar{\alpha}_*(\bar{F}\beta_2)) \\ &+ g_1(\zeta_2,\bar{F}\beta_2)g_1(\bar{F}Q\beta_1,\operatorname{grad}\ln\lambda) + g_1(\bar{F}Q\beta_1,,\bar{F}\beta_2)g_1(\zeta_2,\operatorname{grad}\ln\lambda) \\ &- g_1(\zeta_2,\bar{F}Q\beta_1)g_1(\bar{F}\beta_2,\operatorname{grad}\ln\lambda) - \eta(\beta_1)g_1(\zeta_2,\bar{F}\beta_2) + \eta(\beta_2)g_1(\bar{\delta}\zeta_2,X) \\ &- g_1(\mathcal{A}_{\zeta_2}\bar{F}P\beta_1,\bar{\delta}\beta_2). \end{split}$$

This is complete proof of the theorem.

**Theorem 3.8.** Let  $\bar{\alpha} : (\Xi_1, \phi, \xi, \eta, g_1) \to (\Xi_1, g_2)$  be a PWHSCS from a SM  $\Xi_1$  onto a RM  $\Xi_2$  such that the structure vector field  $\xi$  is horizontal. Then  $\bar{\alpha}$  is totally geodesic map if and only if

(i) 
$$\frac{1}{\lambda^2} g_2(\nabla_{\beta_2}^{\bar{\alpha}} \bar{\alpha}_*(\bar{F}\,\omega_1), \bar{\alpha}_*(\bar{F}\,\zeta_1)) = \sin 2\theta \beta_2(\theta) g_1(\omega_1, \zeta_1) - \cos^2\theta g_1(\nabla_{\beta_2}\omega_1, \zeta_1) \\ - g_1(\mathcal{A}_{\beta_2}\bar{F}\,\bar{\delta}\omega_1, \zeta_1) - g_1(\mathcal{A}_{\beta_2}\bar{F}\,\omega_1, \bar{\delta}\zeta_1) + g_1(\beta_2, \bar{F}\,\zeta_1)g_1(\bar{F}\,\omega_1, \operatorname{grad}\ln\lambda) \\ + g_1(\bar{F}\,\omega_1, \bar{F}\,\zeta_1)g_1(\beta_2, \operatorname{grad}\ln\lambda) - g_1(\beta_2, \bar{F}\,\omega_1)g_1(\bar{F}\,\zeta_1, \operatorname{grad}\ln\lambda) - g_1([\beta_2, \omega_1], \zeta_1)$$
(ii) 
$$\mathcal{T}_{\zeta_2}\mathcal{J}\bar{F}\,\omega_1 + \nabla_{\zeta_2}\mathcal{N}\bar{F}\,\omega_2 \in \Gamma(\ker\bar{\alpha}_*)$$

(iii) 
$$\frac{1}{\lambda^2}g_2(\nabla^{\alpha}_{\beta_1}\bar{\alpha}_*(\bar{F}\,\delta\omega_1),\bar{\alpha}_*(\beta_2)) = \cos^2\theta g_1(\nabla_{\beta_1}\omega_1,\beta_2) - g_1(\mathfrak{A}_{\beta_1}\bar{F}\,\omega_1,\mathcal{J}\beta_2) \\ + \frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\beta_1,\bar{F}\,\bar{\delta}\omega_1),\bar{\alpha}_*(\beta_2)) + \frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\beta_1,\bar{F}\,\omega_1),\bar{\alpha}_*(\mathcal{N}\beta_2)) \\ - \frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\beta_1}\bar{\alpha}_*(\bar{F}\,\omega_1),\bar{\alpha}_*(\mathcal{N}\beta_2)) - g_1(\mathcal{J}\beta_1,\omega_1)\eta(\beta_2),$$

for any  $\omega_1, \zeta_1 \in \Gamma(\mathfrak{D}^{\theta}), \zeta_2, \omega_2 \in \Gamma(\mathfrak{D}^{\perp})$  and  $\beta_1, \beta_2 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ .

*Proof.* By using (2.1), (2.15), (2.9) and (2.13), we can write

$$\frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\omega_1,\zeta_1),\bar{\alpha}_*(\beta_2)) = -g([\beta_2,\omega_1],\zeta_1) - g_1(\nabla_{\beta_2}\phi\omega_1,\phi\zeta_1),$$

for any  $\omega_1, \zeta_1 \in \Gamma(\mathfrak{D}^{\theta})$  and  $\beta_2 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ . In the light of (3.18), (2.13) and Lemma 3.2, we get

$$\frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\omega_1,\zeta_1),\bar{\alpha}_*(\beta_2)) = -g([\beta_2,\omega_1],\zeta_1) + \sin 2\theta\beta_2(\theta)g_1(\omega_1,\zeta_1) - \cos^2\theta g_1(\nabla_{\beta_2}\omega_1,\zeta_1) - g_1(\mathcal{A}_{\beta_2}\bar{F}\omega_1,\bar{\delta}\zeta_1) - g_1(\mathcal{H}\nabla_{\beta_2}\bar{F}\omega_1,\bar{F}\zeta_1).$$

From (2.9) and by using the horizontal conformality from Lemma 2.1, we have

$$\begin{aligned} &\frac{1}{\lambda^2} g_2((\nabla \bar{\alpha}_*)(\omega_1, \zeta_1), \bar{\alpha}_*(\beta_2)) \\ &= -g([\beta_2, \omega_1], \zeta_1) + \sin 2\theta \beta_2(\theta) g_1(\omega_1, \zeta_1) - \cos^2 \theta g_1(\nabla_{\beta_2} \omega_1, \zeta_1) \\ &- g_1(\mathcal{A}_{\beta_2} \bar{F} \omega_1, \bar{\delta} \zeta_1) - \frac{1}{\lambda^2} g_2(\nabla_{\beta_2}^{\bar{\alpha}} \bar{\alpha}_*(\bar{F} \omega_1), \bar{\alpha}_*(\bar{F} \zeta_1)) \\ &+ g_1(\beta_2, \bar{F} \zeta_1) g_1(\bar{F} \omega_1, \operatorname{grad} \ln \lambda) + g_1(\bar{F} \omega_1, \bar{F} \zeta_1) g_1(\beta_2, \operatorname{grad} \ln \lambda) \\ &- g_1(\beta_2, \bar{F} \omega_1) g_1(\bar{F} \zeta_1, \operatorname{grad} \ln \lambda), \end{aligned}$$

which is the proof of (i). On the other hand, from (2.1), (2.9), (2.13) and (2.15), we get

$$\frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\omega_1,\zeta_1),\bar{\alpha}_*(\beta_2)) = -g_1(\nabla_{\zeta_2}\phi\omega_2,\phi\beta_1),$$

for  $\zeta_2, \omega_2 \in \Gamma(\mathfrak{D}^{\perp})$  and  $\beta_1 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ . By using the fact  $\phi \omega_2 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}, \omega_2 \in \Gamma(\mathfrak{D}^{\perp})$ and from (2.4), (2.5), we have

$$\frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\omega_1,\zeta_1),\bar{\alpha}_*(\beta_2)) = g_1(\mathcal{A}_{\zeta_2}\mathcal{J}\bar{F}\omega_2,\beta_1) + g_1(\mathcal{H}\nabla_{\zeta_2}\mathcal{N}\bar{F}\omega_2,\beta_1),$$

which proves the (ii) part. For part (iii), by using (2.1), (2.9), (2.11) and (2.13), we can write

$$\frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\beta_1,\omega_1),\bar{\alpha}_*(\beta_2)) = -g_1(\nabla_{\beta_1}\phi\omega_1,\phi\beta_2) - g_1(\mathcal{J}\beta_1,\omega_1)\eta(\beta_2),$$

for any  $\omega_1 \in \Gamma(\mathfrak{D}^{\theta})$  and  $\beta_1, \beta_2 \in \Gamma(\bar{\alpha}_*)^{\perp}$ . In the light of (3.18), (2.11), (2.13), (2.7) and Lemma 3.2, we get

$$\frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\omega_1,\zeta_1),\bar{\alpha}_*(\beta_2)) = -\cos^2\theta g_1(\nabla_{\beta_1}\omega_1,\beta_2) - g_1(\mathcal{H}\nabla_{\beta_1}\bar{F}\bar{\delta}\omega_1,\beta_2) - g_1(\mathcal{A}_{\beta_1}\bar{F}\omega_1,\mathcal{J}\beta_2) \\ - g_1(\mathcal{H}\nabla_{\beta_1}\bar{F}\omega_1,\mathcal{N}\beta_2) - g_1(\mathcal{J}\beta_1,\omega_1)\eta(\beta_2).$$

By using the horizontal conformality of  $\bar{\alpha}$  with (2.9) and Lemma 2.1, we finally have

$$\begin{aligned} &\frac{1}{\lambda^2} g_2((\nabla \bar{\alpha}_*)(\omega_1,\zeta_1),\bar{\alpha}_*(\beta_2)) \\ &= -\cos^2 \theta g_1(\nabla_{\beta_1}\omega_1,\beta_2) - g_1(\mathcal{A}_{\beta_1}\bar{F}\,\omega_1,\mathcal{J}\beta_2) - g_1(\mathcal{J}\beta_1,\omega_1)\eta(\beta_2) \\ &+ \frac{1}{\lambda^2} g_2((\nabla \bar{\alpha}_*)(\beta_1,\bar{F}\,\bar{\delta}\omega_1),\bar{\alpha}_*(\beta_2)) - \frac{1}{\lambda^2} g_2(\nabla^{\bar{\alpha}}_{\beta_1}\bar{\alpha}_*(\bar{F}\,\bar{\delta}\omega_1),\bar{\alpha}_*(\beta_2)) \\ &+ \frac{1}{\lambda^2} g_2((\nabla \bar{\alpha}_*)(\beta_1,\bar{F}\,\omega_1),\bar{\alpha}_*(\mathcal{N}\beta_2)) - \frac{1}{\lambda^2} g_2(\nabla^{\bar{\alpha}}_{\beta_1}\bar{\alpha}_*(\bar{F}\,\omega_1),\bar{\alpha}_*(\mathcal{N}\beta_2)). \end{aligned}$$

This completes the proof of theorem.

- 6		

**Theorem 3.9.** Let  $\bar{\alpha}$ :  $(\Xi_1, \phi, \xi, \eta, g_1) \rightarrow (\Xi_2, g_2)$  be a  $\mathcal{PWHSCS}$  where,  $(\Xi_1, \phi, \xi, \eta, g_1)$  a  $\mathcal{SM}$  and  $(\Xi_2, g_2)$  a  $\mathcal{RM}$  with structure vector field  $\xi$  is horizontal. Suppose  $\bar{\alpha}$  is  $\mathfrak{D}^{\theta}$ - $\phi$ -pluriharmonic. Then the following are equivalent.

(i)  $\mathfrak{D}^{\theta}$  defines a totally geodesic foliation. (ii)  $\nabla^{\bar{\alpha}}_{\zeta_{1}}\bar{\alpha}_{*}(\zeta_{2}) + \nabla^{\bar{\alpha}}_{\phi\zeta_{1}}\bar{\alpha}_{*}(\bar{F}\zeta_{1}) - \nabla^{\bar{\alpha}}_{\zeta_{1}}\bar{\alpha}_{*}(\bar{F}\zeta_{2}) = \cos^{2}\theta\bar{\alpha}_{*}(\mathcal{N}\mathcal{H}\nabla_{\bar{\delta}\zeta_{1}}\zeta_{2} + \bar{F}\mathcal{T}_{\bar{\delta}\zeta_{1}}\zeta_{2} + \bar{F}\mathcal{T}_{\bar{\delta}\zeta_{1}}\zeta_{2} + \bar{F}\mathcal{V}_{\bar{\delta}\zeta_{1}}\zeta_{2}) - \sin^{2}\theta(\bar{\delta}\zeta_{1}(\theta)\bar{\alpha}_{*}(\bar{F}\zeta_{2}) + \bar{F}\zeta_{1}(\theta)\bar{\alpha}_{*}(\bar{F}\zeta_{2})) - \eta(\nabla_{\bar{F}\zeta_{1}}\bar{\delta}\zeta_{2})\bar{\alpha}_{*}\xi - \bar{\alpha}_{*}(\mathcal{H}\nabla_{\bar{\delta}\zeta_{1}}\zeta_{2} + \bar{F}\mathcal{A}_{\bar{F}\zeta_{1}}\bar{F}\bar{\delta}\zeta_{2} + \mathcal{N}\mathcal{H}\nabla_{\bar{F}\zeta_{1}}\bar{F}\bar{\delta}\zeta_{2}) - \bar{F}\zeta_{1}(\ln\lambda)\bar{\alpha}_{*}(\bar{F}\zeta_{2}) - \bar{F}\zeta_{2}(\ln\lambda)\bar{\alpha}_{*}(\bar{F}\zeta_{1}) + g_{1}(\bar{F}\zeta_{1},\bar{F}\zeta_{2})\bar{\alpha}_{*}(\operatorname{grad}\ln\lambda) - \bar{\alpha}_{*}(\mathcal{H}_{\bar{\delta}\zeta_{1}}\bar{F}\zeta_{2}) + \mathcal{N}\mathcal{A}_{\bar{F}\zeta_{1}}\zeta_{2},$ 

for any  $\zeta_1, \zeta_2 \in \Gamma(\mathfrak{D}^{\theta})$ .

Proof. By using the concept of  $\phi$ -pluriharmonicity with (3.18) and (2.9), we have  $\bar{\alpha}_* \nabla_{\zeta_1} \zeta_2 = \nabla^{\bar{\alpha}}_{\zeta_1} \bar{\alpha}_*(\zeta_2) + \nabla^{\bar{\alpha}}_{\bar{\delta}\zeta_1} \bar{\alpha}_*(\phi\zeta_2) - \bar{\alpha}_* \nabla_{\bar{\delta}\zeta_1} \bar{\delta}\zeta_2 - \bar{\alpha}_* \nabla_{\bar{\delta}\zeta_1} \bar{\delta}\zeta_2 - \bar{\alpha}_* \nabla_{\bar{F}\zeta_1} \bar{\delta}\zeta_2 - \bar{\alpha}_* \nabla_{\bar{F}\zeta_1} \bar{\delta}\zeta_2 - \bar{\alpha}_* \nabla_{\bar{F}\zeta_1} \bar{F}\zeta_2,$ for any  $\zeta_1, \zeta_2 \in \Gamma(\mathfrak{D}^{\theta})$ . In the light of (2.5), (2.13) and (2.12), we can write

$$\begin{split} \bar{\alpha}_* \nabla_{\zeta_1} \zeta_2 \\ &= \nabla^{\bar{\alpha}}_{\zeta_1} \bar{\alpha}_*(\zeta_2) + \nabla^{\bar{\alpha}}_{\phi\zeta_1} \bar{\alpha}_*(\phi\zeta_2) + \bar{\alpha}_*(\phi \nabla_{\bar{\delta}\zeta_1} \phi \bar{\delta}\zeta_2 + \eta (\nabla_{\bar{\delta}\zeta_1} \bar{\delta}\zeta_2)\xi) \\ &+ \bar{\alpha}_*(\phi \nabla_{\bar{F}\zeta_1} \phi \bar{\delta}\zeta_2 + \eta (\nabla_{\bar{F}\zeta_1} \bar{\delta}\zeta_2)\xi) - \bar{\alpha}_* \nabla_{\bar{F}\zeta_1} \bar{F}\zeta_2 - \bar{\alpha}_* \nabla_{\bar{\delta}\zeta_1} \bar{F}\zeta_2 \end{split}$$

By using (2.4), (2.7) and Lemma 3.2, we get

$$\begin{split} \bar{\alpha}_* \nabla_{\zeta_1} \zeta_2 \\ &= \nabla^{\bar{\alpha}}_{\zeta_1} \bar{\alpha}_* (\zeta_2) + \nabla^{\bar{\alpha}}_{\phi\zeta_1} \bar{\alpha}_* (\phi\zeta_2) + \sin 2\theta \bar{\delta} \zeta_1(\theta) \bar{\alpha}_* (\phi\zeta_2) - \cos^2 \theta \bar{\alpha}_* (\phi \nabla_{\bar{\delta}\zeta_1} \zeta_2) \\ &+ \sin 2\theta \bar{F} \zeta_1(\theta) \bar{\alpha}_* (\phi\zeta_2) - \cos^2 \theta \bar{\alpha}_* (\phi \nabla_{\bar{F}\zeta_1} \zeta_2) + \bar{\alpha}_* \{ \phi (\mathcal{T}_{\bar{\delta}\zeta_1} \zeta_2 + \mathcal{H} \nabla_{\bar{\delta}\zeta_1} \zeta_2) \} \\ &+ \eta (\nabla_{\bar{\delta}\zeta_1} \bar{\delta} \zeta_2) \bar{\alpha}_* \xi + \bar{\alpha}_* \{ \phi (\mathcal{A}_{\bar{F}\zeta_1} \bar{F} \bar{\delta} \zeta_2 + \mathcal{H} \nabla_{\bar{F}\zeta_1} \bar{F} \bar{\delta} \zeta_2) \} + \eta (\nabla_{\bar{F}\zeta_1} \bar{\delta} \zeta_2) \bar{\alpha}_* \xi \\ &- \nabla^{\bar{\alpha}}_{\bar{F}\zeta_1} \bar{\alpha}_* (\bar{F} \zeta_2) + (\nabla \bar{\alpha}_*) (\bar{F} \zeta_1, \bar{F} \zeta_2) - \bar{\alpha}_* (\mathcal{T}_{\bar{\delta}\zeta_1} \bar{F} \zeta_2 + \mathcal{H}_{\bar{\delta}\zeta_1} \bar{F} \zeta_2). \end{split}$$

Finally, by using the horizontal conformality of  $\bar{\alpha}$  from Lemma 2.1 and with (2.7), (2.1), we have

$$\begin{split} \bar{\alpha}_* \nabla_{\zeta_1} \zeta_2 = & \nabla^{\bar{\alpha}}_{\phi\zeta_1} \bar{\alpha}_*(\phi\zeta_2) + \sin 2\theta \bar{\delta}\zeta_1(\theta) \bar{\alpha}_*(\bar{F}\zeta_2) - \cos^2\theta \bar{\alpha}_*(\mathcal{N}\mathcal{H}\nabla_{\bar{\delta}\zeta_1}\zeta_2 + \bar{F}\mathcal{T}_{\bar{\delta}\zeta_1}\zeta_2) \\ &+ \sin 2\theta \bar{F}\zeta_1(\theta) \bar{\alpha}_*(\bar{F}\zeta_2) - \cos^2\theta \bar{\alpha}_*(\mathcal{N}\mathcal{A}_{\bar{F}\zeta_1}\zeta_2 + \bar{F}v\nabla_{\bar{F}\zeta_1}\zeta_2) + \bar{\alpha}_*(\mathcal{H}\nabla_{\bar{\delta}\zeta_1}\zeta_2) \\ &+ \eta(\nabla_{\bar{\delta}\zeta_1}\bar{\delta}\zeta_2) \bar{\alpha}_*\xi + \bar{\alpha}_*\{\bar{F}(\mathcal{A}_{\bar{F}\zeta_1}\bar{F}\bar{\delta}\zeta_2 + \mathcal{N}\mathcal{H}\nabla_{\bar{F}\zeta_1}\bar{F}\bar{\delta}\zeta_2)\} + \eta(\nabla_{\bar{F}\zeta_1}\bar{\delta}\zeta_2) \bar{\alpha}_*\xi \\ &+ \bar{F}\zeta_1(\ln\lambda) \bar{\alpha}_*(\bar{F}\zeta_2) + \bar{F}\zeta_2(\ln\lambda) \bar{\alpha}_*(\bar{F}\zeta_1) - g_1(\bar{F}\zeta_1, \bar{F}\zeta_2) \bar{\alpha}_*(\operatorname{grad}\ln\lambda) \\ &- \bar{\alpha}_*(\mathcal{H}_{\bar{\delta}\zeta_1}\bar{F}\zeta_2) + \nabla^{\bar{\alpha}}_{\zeta_1}\bar{\alpha}_*(\zeta_2) - \nabla^{\bar{\alpha}}_{\bar{F}\zeta_1}\bar{\alpha}_*(\bar{F}\zeta_2). \end{split}$$

This completes the proof of the theorem.

# 4. Pointwise hemi-slant conformal submersions with vertical Reeb vector field- $\xi$

This section will go over the definitions and results that will help us understand and investigate the concept of pointwise hemi-slant conformal submersions from  $\mathcal{ACMMs}$  by considering the Reeb vector filed  $\xi$  vertical.

M. SHUAIB

**Definition 4.1.** Let  $\bar{\alpha}$  :  $(\Xi_1, \phi, \xi, \eta, g_1) \to (\Xi_2, g_2)$  be a HCS where  $(\Xi_1, \phi, \xi, \eta, g_1)$  is an ACMM and  $(\Xi_2, g_2)$  is a RM. A HCS  $\bar{\alpha}$  is called a pointwise hemi-slant conformal submersion if there exists distributions  $\mathfrak{D}^{\perp}$  and  $\mathfrak{D}^{\theta}$  such that ker $\bar{\alpha}_* = \mathfrak{D}^{\theta} \oplus \mathfrak{D}^{\perp} \oplus \langle \xi \rangle$ ,  $\phi(\mathfrak{D}^{\perp}) \subseteq$  $\Gamma(\ker \bar{\alpha})^{\perp}$  and for any given point  $q \in \Xi_1$  and  $\beta_1 \in (\mathfrak{D}^{\theta})_q$ , the angle  $\theta = \theta(\beta_1)$  between  $\phi\beta_1$ and space  $(\mathfrak{D}^{\theta})_q$  is independent of choice of non-zero vector  $\beta_1 \in (\mathfrak{D}^{\theta})_q$ , where  $\mathfrak{D}^{\theta}$  is the orthogonal complement of  $\mathfrak{D}^{\perp}$  in ker $\bar{\alpha}_*$  and  $\langle \xi \rangle$  is 1-dimensional distribution. The angle  $\theta$  is a slant function, often known as the pointwise hemi-slant function of submersion.

Let  $\bar{\alpha}$  be a  $\mathcal{PWHSCS}$  from an  $\mathcal{ACMM}(\Xi_1, \phi, \xi, \eta, g_1)$  onto a  $\mathcal{RM}(\Xi_2, g_2)$  with vertical Reeb vector field  $\xi$ . Then, for any  $Y \in (\ker \bar{\alpha}_*)$ , we have

$$Y = \mathfrak{P}\beta_2 + \mathfrak{Q}\beta_2 + \eta(\beta_2)\xi \tag{4.24}$$

where  $\mathfrak{P}$  and  $\mathfrak{Q}$  are the projections morphism onto  $\mathfrak{D}^{\perp}$  and  $\mathfrak{D}^{\theta}$ .

**Lemma 4.1.** Let  $\bar{\alpha}$  be a PWHSCS from an ACMM  $(\Xi_1, \phi, \xi, \eta, g_1)$  onto a RM  $(\Xi_2, g_2)$ , then we have

$$\bar{\delta}^2 \omega_2 = -\cos^2 \theta (I - \eta \otimes \xi) \omega_2, \qquad (4.25)$$

for any vector field  $\omega_2 \in \Gamma(\ker \bar{\alpha}_*)$ .

**Lemma 4.2.** Let  $\bar{\alpha}$  be a PWHSCS with vertical  $\xi$ , from an ACMM  $(\Xi_1, \phi, \xi, \eta, g_1)$  onto a  $\mathcal{RM}$   $(\Xi_2, g_2)$ , then we have

(i) 
$$g_1(\bar{\delta}\zeta_1, \bar{\delta}\zeta_2) = \cos^2\theta \{g_1(\zeta_1, \zeta_2) - \eta(\zeta_1)\eta(\zeta_2)\},\$$
  
(ii)  $g_1(\bar{F}\zeta_1, \bar{F}\zeta_2) = \sin^2\theta \{g_1(\zeta_1, \zeta_2) - \eta(\zeta_1)\eta(\zeta_2)\},\$ 

for any vector fields  $\zeta_1, \zeta_2 \in \Gamma(\ker \bar{\alpha}_*)$ .

Moving further, we shall talk about the integrability of slant and anti-invariant distributions  $\mathfrak{D}^{\theta}$  and  $\mathfrak{D}^{\perp}$  respectively.

**Theorem 4.1.** Let  $\bar{\alpha}$  be a PWHSCS from SM onto a RM with vertical  $\xi$  and  $\theta$  is a hemi-slant function, tfae

- (i) The anti-invariant distribution  $\mathfrak{D}^{\perp}$  is integrable.
- (ii)  $\begin{aligned} &\frac{1}{\lambda^2} g_2(\nabla_{\zeta_2}^{\bar{\alpha}} \bar{\alpha}_*(\bar{F}\zeta_1) \nabla_{\zeta_1}^{\bar{\alpha}} \bar{\alpha}_*(\bar{F}\zeta_2), \bar{\alpha}_*(\bar{F}\omega_1)) \\ &= g(\nabla_{\zeta_1} \bar{F} \bar{\delta}\zeta_2 + \nabla_{\zeta_2} \bar{F} \bar{\delta}\zeta_1, \omega_1) g(\mathcal{T}_{\zeta_1} \bar{F}\zeta_2 + \mathcal{T}_{\zeta_2} \bar{F}\zeta_1, \bar{\delta}\omega_1), \end{aligned}$ for any  $\zeta_1, \zeta_2 \in \Gamma(D^{\perp})$  and  $\omega_1 \in \mathfrak{D}^{\theta}.$

By comparing the preceding conclusion with Theorem 3.1, it is inescapable that there is no influence of the Reeb vector field  $\xi$ , whether horizontal or vertical. For slant distribution, we have

**Lemma 4.3.** Let  $\bar{\alpha}$ :  $(\Xi_1, \phi, \xi, \eta, g_1) \rightarrow (\Xi_2, g_2)$  be a  $\mathcal{PWHSCS}$  with  $\xi \in \Gamma(\ker \bar{\alpha}_*)$  where,  $(\Xi_1, \phi, \xi, \eta, g_1)$  a  $\mathcal{SM}$  and  $(\Xi_2, g_2)$  a  $\mathcal{RM}$ . Then the slant distribution is not integrable.

Since the slant distribution is not integrable, now we will discuss about distribution  $\mathfrak{D}^{\theta} \oplus \langle \xi \rangle$ .

**Theorem 4.2.** Let  $\bar{\alpha} : \Xi_1 \to \Xi_2$  be a PWHSCS from a SM  $\Xi_1$  onto a RM  $\Xi_2$  such that  $\xi$  is vertical. Then the following are equivalent.

- (i) Slant distribution  $\mathfrak{D}^{\theta} \oplus \langle \xi \rangle$  is integrable.
- (ii)  $\frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\zeta_1}\bar{\alpha}_*(\bar{F}\,\omega_1),\bar{\alpha}_*(\bar{F}\,\omega_2)) + \frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\omega_2}\bar{\alpha}_*(\bar{F}\,\omega_1),\bar{\alpha}_*(\phi\zeta_1)) + g_1([\omega_1,\zeta_1],\omega_2) \\ = \sin 2\theta g_1(\omega_1,\omega_2) \cos^2\theta g_1(\nabla_{\zeta_1}\omega_1,\omega_2) g_1(\mathcal{T}_{\zeta_1}\bar{F}\,\omega_1,\bar{\delta}\omega_2) g_1(\mathcal{T}_{\omega_2}\bar{F}\,\omega_1,\phi\zeta_1),$

for any  $\omega_1, \omega_2 \in \Gamma(\mathfrak{D}^{\theta} \oplus \langle \xi \rangle)$  and  $\zeta_1 \in \Gamma(\mathfrak{D}^{\perp})$ .

*Proof.* For any  $\omega_1, \omega_2 \in \Gamma(\mathfrak{D}^{\theta} \oplus \langle \xi \rangle)$  and  $\zeta_1 \in \Gamma(D)^{\perp}$  with taking account the fact from (2.11), (2.13), (2.15), (2.4), (2.5), (2.1) with Lemma 3.2, we get

$$\begin{split} g_1([\omega_1,\omega_2],\zeta_1) \\ &= -g_1([\omega_1,\zeta_1],\omega_2) + \sin 2\theta \zeta_1(\theta)g_1(\omega_1,\omega_2) - \cos^2\theta g_1(\nabla_{\zeta_1}\omega_1,\omega_2) - g_1(\mathcal{T}_{\omega_2}\bar{\delta}\omega_1,\phi\zeta_1) \\ &- g_1(\mathcal{T}_{\zeta_1}\bar{F}\,\omega_1,\bar{\delta}\omega_2) - \frac{1}{\lambda^2}g_2(\bar{\alpha}_*(\aleph\nabla_{\zeta_1}\bar{F}\,\omega_1),\bar{\alpha}_*(\bar{F}\,\omega_2)) - \frac{1}{\lambda^2}g_2(\bar{\alpha}_*(\aleph\nabla_{\omega_2}\bar{F}\,\omega_1),\bar{\alpha}_*(\phi\zeta_1)). \end{split}$$

By using the horizontal conformality of  $\bar{\alpha}$  with Lemma 2.1 and (2.5), we finally have

$$g_{1}([\omega_{1},\omega_{2}],\zeta_{1}) = -g_{1}([\omega_{1},\zeta_{1}],\omega_{2}) + \sin^{2}\theta\zeta_{1}(\theta)g_{1}(\omega_{1},\omega_{2}) - \cos^{2}\theta g_{1}(\nabla_{\zeta_{1}}\omega_{1},\omega_{2}) - g_{1}(\mathcal{T}_{\omega_{2}}\bar{\delta}\omega_{1},\phi\zeta_{1}) \\ - g_{1}(\mathcal{T}_{\zeta_{1}}\bar{F}\omega_{1},\bar{\delta}\omega_{2}) - \frac{1}{\lambda^{2}}g_{2}(\nabla^{\bar{\alpha}}_{\zeta_{1}}\bar{\alpha}_{*}(\bar{F}\omega_{1}),\bar{\alpha}_{*}(\bar{F}\omega_{2})) + \frac{1}{\lambda^{2}}g_{2}((\nabla\bar{\alpha}_{*})(\zeta_{1},\bar{F}\omega_{1}),\bar{\alpha}_{*}(\bar{F}\omega_{2})) \\ - \frac{1}{\lambda^{2}}g_{2}(\nabla^{\bar{\alpha}}_{\omega_{2}}\bar{\alpha}_{*}(\bar{F}\omega_{1}),\bar{\alpha}_{*}(\phi\zeta_{1})) + \frac{1}{\lambda^{2}}g_{2}((\nabla\bar{\alpha}_{*})(\omega_{2},\bar{F}\omega_{1}),\bar{\alpha}_{*}(\phi\zeta_{1})).$$

Although the nature of  $\xi$  differs, the proofs of Theorem 3.2 and the previous result are identical as well.

**Corollary 4.1.** Let  $\bar{\alpha} : (\Xi_1, \phi, \xi, \eta, g_1) \to (\Xi_2, g_2)$  be a  $\mathcal{PWHSCS}$  from  $\mathcal{SM}$   $(\Xi_1, \phi, \xi, \eta, g_1)$  onto a  $\mathcal{RM}$   $(\Xi_2, g_2)$  with hemi-slant function  $\theta$ . The following conditions holds.

Let	(i) $\mathfrak{D}^{\theta} \oplus \langle \xi \rangle$ is integrable with	(ii) $\mathfrak{D}^{\theta}$ is integrable with
$\bar{\alpha}: (\Xi_1, \phi, \xi, \eta, g_1)$	$\xi \in \Gamma(ker\bar{\alpha}_*)$ if and only if	$\xi \in \Gamma(ker\bar{\alpha}_*)^{\perp}$ if and only if
$\rightarrow (\Xi_2, g_2)$	$\frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\zeta_1}\bar{\alpha}_*(\bar{\digamma}\omega_1),\bar{\alpha}_*(\bar{\digamma}\omega_2))$	$\frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\zeta_1}\bar{\alpha}_*(\bar{\digamma}\omega_1),\bar{\alpha}_*(\bar{\digamma}\omega_2))$
be a $\mathcal{PWHSCS}$	$+\frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\omega_2}\bar{\alpha}_*(\bar{F}\omega_1),\bar{\alpha}_*(\phi\zeta_1))$	$+\frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\omega_2}\bar{\alpha}_*(\bar{F}\omega_1),\bar{\alpha}_*(\phi\zeta_1))$
from $\mathcal{SM}$ onto a	$+g_1([\omega_1,\zeta_1],\omega_2) = \sin 2\theta$	$+g_1([\omega_1,\zeta_1],\omega_2) = \sin 2\theta$
$\mathcal{RM}$ with hemi	$g_1(\omega_1,\omega_2) - g_1(\mathcal{T}_{\zeta_1}\bar{\digamma}\omega_1,\bar{\delta}\omega_2)$	$g_1(\omega_1,\omega_2) - g_1(\mathcal{T}_{\omega_2}\bar{\digamma}\omega_1,\phi\zeta_1)$
slant function $\theta$ .	$-\cos^2\theta g_1( abla_{\zeta_1}\omega_1,\omega_2)$	$-\cos^2\theta g_1( abla_{\zeta_1}\omega_1,\omega_2)$
Then	$  -g_1(\mathcal{T}_{\omega_2}\bar{\digamma}\omega_1,\phi\zeta_1)$	$-g_1(\mathcal{T}_{\zeta_1}\bar{\digamma}\omega_1,\bar{\delta}\omega_2)$

Then, for (i),  $\omega_1, \omega_2 \in \Gamma(\mathfrak{D}^{\theta} \oplus \langle \xi \rangle)$  and  $\zeta_1 \in \Gamma(\mathfrak{D}^{\perp})$ , for (ii),  $\omega_1, \omega_2 \in \Gamma(\mathfrak{D}^{\theta})$  and  $\zeta_1 \in \Gamma(\mathfrak{D}^{\perp})$ .

For totally geodesicness of anti-invariant distribution  $\mathfrak{D}^{\perp}$  considering  $\xi$  to be vertical specially  $\mathfrak{D}^{\perp} \oplus \langle \xi \rangle$ , we have

**Theorem 4.3.** Let  $\bar{\alpha}$  be a PWHSCS from SM  $(\Xi_1, \phi, \xi, \eta, g_1)$  onto a RM  $(\Xi_2, g_2)$  with hemi-slant function  $\theta$  and vertical Reeb vector field  $\xi$ . Then the anti-invariant distribution  $\mathfrak{D}^{\perp} \oplus \langle \xi \rangle$  defines a totally geodesic foliation if and only if

$$\frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\zeta_1}\bar{\alpha}_*(\bar{F}\zeta_2),\bar{\alpha}_*(\bar{F}\omega_1)) = \frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\zeta_1,\bar{F}\zeta_2),\bar{\alpha}_*(\bar{F}\omega_1)) - g_1(\mathcal{T}_{\zeta_1}\bar{\delta}\zeta_2,\bar{F}) - g_1(v\nabla_{\zeta_1}\bar{\delta}\zeta_2,\bar{\delta}\omega_1) - g_1(\mathcal{T}_{\zeta_1}\bar{F}\zeta_2,\bar{\delta}\omega_1)$$

M. SHUAIB

and

$$\frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\zeta_1}\bar{\alpha}_*(\bar{F}\zeta_2),\bar{\alpha}_*(\mathcal{N}\beta_1)) = \frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\zeta_1,\bar{F}\zeta_2),\bar{\alpha}_*(\mathcal{N}\beta_1)) - g_1(\mathcal{T}_{\zeta_1}\bar{\delta}\zeta_2,\mathcal{N}\beta_1) \\
- g_1(v\nabla_{\zeta_1}\bar{\delta}\zeta_2,\mathcal{J}\beta_1) - g_1(\mathcal{T}_{\zeta_1}\bar{F}\zeta_2,\mathcal{J}\beta_1) + g_1(\zeta_1,\mathfrak{B}\beta_1)\eta(\zeta_2),$$

for any  $\zeta_1, \zeta_2 \in \Gamma(\mathfrak{D}^{\perp} \oplus \langle \xi \rangle), \omega_1 \in \Gamma(\mathfrak{D}^{\theta})$  and  $\beta_1 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ . Proof. From (2.11), (2.13, (2.1), (2.4), (2.5) and (2.15), we obtain

$$g_1(\nabla_{\zeta_1}\zeta_2,\omega_1) = g_1(\mathcal{T}_{\zeta_1}\bar{F}\zeta_2,\bar{\delta}\omega_1) + \frac{1}{\lambda^2}g_2(\bar{\alpha}_*(\aleph\nabla_{\zeta_1}\bar{F}\zeta_2),\bar{\alpha}_*(\bar{F}\omega_1)) + g_1(\mathcal{T}_{\zeta_1}\bar{\delta}\zeta_2,\bar{F}\omega_1) + g_1(v\nabla_{\zeta_1}\bar{\delta}\zeta_2,\bar{\delta}\omega_1).$$

Lemma 3.2, (2.1), and the horizontal conformality of  $\bar{\alpha}$  allow us to ultimately obtain

$$\begin{split} g_1(\nabla_{\zeta_1}\zeta_2,\omega_1) = & g_1(\mathcal{T}_{\zeta_1}\bar{\delta}\zeta_2,\bar{F}\omega_1) + g_1(v\nabla_{\zeta_1}\bar{\delta}\zeta_2,\bar{\delta}\omega_1) + g_1(\mathcal{T}_{\zeta_1}\bar{F}\zeta_2,\bar{\delta}\omega_1) \\ & - \frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\zeta_1,\bar{F}\zeta_2),\bar{\alpha}_*(\bar{F}\omega_1)) + \frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\zeta_1}\bar{\alpha}_*(\bar{F}\zeta_2),\bar{\alpha}_*(\bar{F}\omega_1)). \end{split}$$

However, using (2.11), (2.13), (2.4), (2.5), (2.1), (2.9) and (2.15), for any  $\zeta_1, \zeta_2 \in \Gamma(\mathfrak{D}^{\perp})$  and  $\beta_1 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ , we have

$$g_{1}(\nabla_{\zeta_{1}}\zeta_{2},\beta_{1}) = \frac{1}{\lambda^{2}}g_{2}(\nabla_{\zeta_{1}}^{\bar{\alpha}}\bar{\alpha}_{*}(\bar{F}\zeta_{2}),\bar{\alpha}_{*}(\mathcal{N}\beta_{1})) - \frac{1}{\lambda^{2}}g_{2}((\nabla\bar{\alpha}_{*})(\zeta_{1},\bar{F}\zeta_{2}),\bar{\alpha}_{*}(\mathcal{N}\beta_{1})) + g_{1}(\mathcal{T}_{\zeta_{1}}\bar{\delta}\zeta_{2},\mathcal{N}\beta_{1}) + g_{1}(v\nabla_{\zeta_{1}}\bar{\delta}\zeta_{2},\mathcal{J}\beta_{1}) + g_{1}(\mathcal{T}_{\zeta_{1}}\bar{F}\zeta_{2},\mathcal{J}\beta_{1}) + g_{1}(\zeta_{1},\mathfrak{B}\beta_{1})\eta(\zeta_{2}).$$

This is the required proof of theorem.

**Theorem 4.4.** Let  $\bar{\alpha}$  be a PWHSCS from SM  $(\Xi_1, \phi, \xi, \eta, g_1)$  onto a RM  $(\Xi_2, g_2)$  with hemi-slant function  $\theta$  and vertical Reeb vector field  $\xi$ . Then the slant distribution  $\mathfrak{D}^{\perp}$  not defines totally geodesic foliation.

Since the slant distribution is not defines totally geodesic foliation, we can discuss the total geodesicness of  $\mathfrak{D}^{\theta} \oplus \langle \xi \rangle$  as follows :

**Corollary 4.2.** Let  $\bar{\alpha}$  be a PWHSCS from SM  $(\Xi_1, \phi, \xi, \eta, g_1)$  onto a RM  $(\Xi_2, g_2)$  with hemi-slant function  $\theta$  and vertical Reeb vector field  $\xi$ . Then the slant distribution  $\mathfrak{D}^{\perp} \oplus \langle \xi \rangle$ defines a totally geodesic foliation if and only if

$$\frac{1}{\lambda^2}g_2(\nabla^{\bar{\alpha}}_{\zeta_1}\bar{\alpha}_*(\bar{F}\zeta_2),\bar{\alpha}_*(\bar{F}\omega_1)) = \frac{1}{\lambda^2}g_2((\nabla\bar{\alpha}_*)(\zeta_1,\bar{F}\zeta_2),\bar{\alpha}_*(\bar{F}\omega_1)) - g_1(\mathcal{T}_{\zeta_1}\bar{\delta}\zeta_2,\bar{F}) - g_1(v\nabla_{\zeta_1}\bar{\delta}\zeta_2,\bar{\delta}\omega_1) - g_1(\mathcal{T}_{\zeta_1}\bar{F}\zeta_2,\bar{\delta}\omega_1)$$
(4.26)

and

$$\frac{1}{\lambda^2} g_2(\nabla_{\zeta_1}^{\bar{\alpha}} \bar{\alpha}_*(\bar{F}\zeta_2), \bar{\alpha}_*(\mathcal{N}\beta_1)) 
= \frac{1}{\lambda^2} g_2((\nabla \bar{\alpha}_*)(\zeta_1, \bar{F}\zeta_2), \bar{\alpha}_*(\mathcal{N}\beta_1)) - g_1(\mathcal{T}_{\zeta_1}\bar{\delta}\zeta_2, \mathcal{N}\beta_1) 
- g_1(v\nabla_{\zeta_1}\bar{\delta}\zeta_2, \mathcal{J}\beta_1) - g_1(\mathcal{T}_{\zeta_1}\bar{F}\zeta_2, \mathcal{J}\beta_1) - g_1(\bar{\delta}\bar{F}\zeta_1, \beta_1)\eta(\zeta_2),$$
(4.27)

for any  $\zeta_1, \zeta_2 \in \Gamma(\mathfrak{D}^{\perp}), \omega_1 \in \Gamma(\mathfrak{D}^{\theta})$  and  $\beta_1 \in \Gamma(\ker \bar{\alpha}_*)^{\perp}$ .

Theorem 3.4 provides an easy way to prove the above conclusion by taking the vertical character of  $\xi$ -. When we compare the proof of both results, there is no change in equations

(3.22) and (4.26), but in comparison (3.23) and (4.27), single term  $g_1(\delta\zeta_1,\zeta_2)\eta(\beta_1)$  is substituted by  $-g_1(\bar{\delta}\bar{F}\zeta_1,\beta_1)\eta(\zeta_2)$ .

#### 5. Conclusion

This research article examined the effect of a vector field  $\xi$ - with dual nature (vertical and horizontal) on pointwise hemi-slant conformal submersions from Sasakian manifolds. The conditions of distribution integrabilities and their leaves' total geodesicness are also examined.

#### References

- Akyol, M. A. (2017). Conformal semi-slant submersions. International Journal of Geometric Methods in Modern Physics, 14(7), 1750114.
- [2] Akyol, M. A., & Sahin, B. (2019). Conformal slant submersions. Hacettepe Journal of Mathematics and Statistics, 48(1), 28-44.
- [3] Akyol, M. A., & Sahin, B. (2016). Conformal anti-invariant submersions from almost Hermitian manifolds. *Turkish Journal of Mathematics*, 40, 43-70.
- [4] Akyol, M. A., & Sahin, B. (2017). Conformal semi-invariant submersions. Communications in Contemporary Mathematics, 19, 1650011.
- [5] Al-Dayel, I., Fatima, T., Deshmukh, S., & Shuaib, M. (2023). A note on conformal bi-slant submersion from Kenmotsu manifold. *Journal of Geometry and Physics*, 190, 104864.
- [6] Al-Dayel, I., Shuaib, M., Deshmukh, S., & Fatima, T. (2023). φ-pluriharmonicity in quasi bi-slant conformal ξ<sup>⊥</sup>-submersions: a comprehensive study. AIMS Mathematics, 8(9), 21746-21768.
- [7] Baird, P., & Wood, J. C. (2003). Harmonic morphisms between Riemannian manifolds. Oxford University Press.
- [8] Bourguignon, J.-P., & Lawson, H. B., Jr. (1981). Stability and isolation phenomena for Yang-Mills fields. *Communications in Mathematical Physics*, 79(2), 189-230. http://projecteuclid.org/euclid.cmp/1103908963
- Cabrerizo, J. L., Carriazo, A., Fernandez, L. M., & Fernandez, M. (2000). Slant submanifolds in SMs. Glasgow Mathematical Journal, 42(1), 125-138.
- [10] Erken, I. K., & Murathan, C. (2014). On slant Riemannian submersions for cosymplectic manifolds. Bulletin of the Korean Mathematical Society, 51(6), 1749-1771.
- [11] Falcitelli, M., Ianus, S., & Pastore, A. M. (2004). Riemannian submersions and related topics. World Scientific.
- [12] Gray, A. (1967). Pseudo-Riemannian almost product manifolds and submersions. Journal of Mathematics and Mechanics, 16, 715-737.
- [13] Fuglede, B. (1978). Harmonic morphisms between *RMs. Annales de l'Institut Fourier*, 28, 107-144.
- [14] Gudmundsson, S. (1992). The geometry of harmonic morphisms [Doctoral dissertation, University of Leeds].
- [15] Gudmundsson, S., & Wood, J. C. (1997). Harmonic morphisms between almost Hermitian manifolds. Bollettino dell'Unione Matematica Italiana B, 11(2), 185-197.
- [16] Gunduzalp, Y. (2016). Semi-slant submersions from almost product *RMs. Demonstratio Mathematica*, 49(3), 345-356.
- [17] Ianus, S., & Vi, sinescu, M. (1987). Kaluza-Klein theory with scalar fields and generalised Hopf manifolds. Classical and Quantum Gravity, 4(5), 1317-1325. http://stacks.iop.org/0264-9381/4/1317
- [18] Ishihara, T. (1979). A mapping of *RMs* which preserves harmonic functions. Journal of Mathematics of Kyoto University, 19, 215-229.
- [19] Lee, T. W., & Sahin, B. (2014). Pointwise slant submersions. Bulletin of the Korean Mathematical Society, 51(4), 1115-1126.

#### M. SHUAIB

- [20] Mustafa, M. T. (2000). Applications of harmonic morphisms to gravity. Journal of Mathematical Physics, 41, 6918-6929.
- [21] Ohnita, Y. (1987). On pluriharmonicity of stable harmonic maps. Journal of the London Mathematical Society, 2(2), 563-568.
- [22] O'Neill, B. (1966). The fundamental equations of a submersion. Michigan Mathematical Journal, 13, 459-469. http://projecteuclid.org/euclid.mmj/1028999604
- [23] Park, K. S., & Prasad, R. (2013). Semi-slant submersions. Bulletin of the Korean Mathematical Society, 50(3), 951-962.
- [24] Prasad, R., & Kumar, S. (2019). Conformal anti-invariant submersions from nearly Kaehler manifolds. Palestine Journal of Mathematics, 8(2).
- [25] Sahin, B. (2017). Riemannian submersions, Riemannian maps in Hermitian geometry and their applications. Elsevier.
- [26] Sahin, B. (2010). Anti-invariant Riemannian submersions from almost Hermitian manifolds. Central European Journal of Mathematics, 3, 437-447.
- [27] Sahin, B. (2013). Semi-invariant Riemannian submersions from almost Hermitian manifolds. Canadian Mathematical Bulletin, 56, 173-183.
- [28] Sahin, B. (2011). Slant submersions from almost Hermitian manifolds. Bulletin Mathématique de la Société des Sciences Mathématiques de Roumanie, 1, 93-105.
- [29] Sahin, B., & Akyol, M. A. (2016). Conformal anti-invariant submersion from almost Hermitian manifolds. *Turkish Journal of Mathematics*, 40, 43-70.
- [30] Sepet, S. A., & Ergut, M. A. (2016). Pointwise slant submersions from cosymplectic manifolds. Turkish Journal of Mathematics, 40, 582-593.
- [31] Shuaib, M., & Fatima, T. (2023). A note on conformal hemi-slant submersions. Afrika Matematika, 34(1), 4.
- [32] Kumar, S., et al. (2020). Conformal hemi-slant submersions from almost Hermitian manifolds. Communications of the Korean Mathematical Society, 35(3), 999-1018. https://doi.org/10.4134/CKMS.c190448
- [33] Tastan, H. M., Sahin, B., & Yanan, S. (2016). Hemi-slant submersions. Mediterranean Journal of Mathematics, 13(4), 2171-2184.
- [34] Watson, B. (1976). Almost Hermitian submersions. Journal of Differential Geometry, 11(1), 147-165.
- [35] Watson, B. (1983). G, G'-Riemannian submersions and nonlinear gauge field equations of general relativity. In T. Rassias (Ed.), Global analysis - Analysis on manifolds, dedicated M. Morse (pp. 324-349). Teubner.
  - (M. Shuaib) DEPARTMENT OF MATHEMATICS, LOVELY PROFESSIONAL UNIVERSITY, PUNJAB, INDIA.

102

## CALCULATION

Volume 1, Issue 2, 2025, Pages:103–116 E-ISSN: 3062-2107

www.simadp.com/calculation



# GEOMETRIC STUDY OF RICCI SOLITONS IN PERFECT FLUID SPACETIMES WITH LORENTZIAN CONCIRCULAR STRUCTURE MANIFOLDS

GURUPADAVVA INGALAHALLI 🔘 \*

Abstract. In this article, we examine the interaction between Ricci solitons and the properties of the geometric structure in a perfect fluid spacetimes that admits a Lorentzian Concircular structure manifold with a Concircular curvature tensor. We investigate the conditions under which a Ricci soliton exists within such a framework and analyze its implications on the curvature properties of the spacetime. The study focuses on the influence of the soliton potential on the energy-momentum tensor of the perfect fluid and examines the interplay between the Ricci curvature and the Concircular structure. Further, we establish key geometric conditions that characterize the nature of the Ricci soliton in this setting and derive significant constraints on the manifolds topology. Our findings contribute to the broader understanding of the role of Ricci solitons in relativistic fluids and their impact on spacetime geometry.

Keywords: Ricci soliton, Einstein, perfect fluid, Lorentz space.2020 Mathematics Subject Classification: 53B50, 53C44, 53C50, 83C02.

## 1. INTRODUCTION

Geometric flows have emerged as a crucial tool in the study of Riemannian and semi-Riemannian manifolds, as well as in the theory of general relativity. In his foundational work, Hamilton [12] identified the Ricci flow as an effective method for refining the structure of a manifold. This process modifies the metric of a Riemannian manifold M over time, helping to smooth out its irregularities. The Ricci flow is defined by:

$$\frac{\partial g}{\partial t} = -2Ric \tag{1.1}$$

where g represents the components of the metric tensor, Ric is the Ricci curvature tensor, and t denotes the time parameter. Ricci solitons represent self-similar solutions to the Ricci flow. They have attracted considerable attention in both differential geometry and general relativity due to their strong connection with the Ricci flow and their role as a generalization of Einstein metrics. On a Riemannian manifold (M, g), a Ricci soliton is a particular type of

Received:2025.04.02

Accepted:2025.06.16

<sup>\*</sup> Corresponding author

Gurupadavva Ingalahalli > gurupadavva@gmail.com > https://orcid.org/0000-0003-0993-7767.

solution to the Ricci flow equation. It can be viewed as a natural extension of an Einstein metric and is characterized by a triple (g, V, a), where the following condition holds:

$$\mathfrak{L}_V g + 2Ric + 2ag = 0, \tag{1.2}$$

where Ric is the Ricci curvature tensor of the metric g,  $\mathfrak{L}_V g$  denotes the Lie derivative of g along the vector field V on M, and a is a scalar constant. A Ricci soliton (g, V, a) on a manifold M is classified as shrinking, steady, or expanding depending on the sign of the constant a. Specifically, the soliton is: shrinking if a < 0: the manifold contracts over time, steady if a = 0: the metric evolves trivially under the flow, and expanding if a > 0: the manifold expands over time.

Ricci solitons are fundamental in the analysis of geometric flows and general relativity, acting as self-similar solutions to the Ricci flow equation. Their importance has led to extensive investigations across various spacetime geometries, as they offer a deeper understanding of how geometric structures evolve over time. Notably, exploring Ricci solitons within perfect fluid spacetimes offers meaningful contributions to the fields of relativistic hydrodynamics and cosmological modeling. A perfect fluid spacetime is an idealized model in which the energy-momentum tensor represents a fluid with no viscosity or heat conduction, making it a fundamental framework in general relativity. When such a spacetime admits a Lorentzian Concircular structure, it imposes additional geometric constraints that influence the curvature properties and behavior of Ricci solitons. The Lorentzian Concircular structure, characterized by a Concircular vector field, plays a significant role in studying the conformal geometry of spacetime and its interaction with fluid dynamics.

As a natural extension of the Lorentzian para-Sasakian manifold (commonly referred to as the LP-Sasakian manifold, introduced by Matsumoto) A.A. Shaikh [21] developed the concept of Lorentzian Concircular structure manifolds, exploring their existence and significance in both cosmology and the general theory of relativity. These manifolds, denoted as  $(LCS)_n$ manifolds, form a notable subclass within the broader category of semi-Riemannian manifolds and play a crucial role in the analysis of spacetime geometry, especially in four-dimensional equipped with a Lorentzian metric g with signature (-, +, +, +). The Lorentzian metric, which stands out among indefinite metrics, introduces a distinct geometric framework where not all directions are equivalent. This leads to a classification of vectors into timelike, lightlike (null), and spacelike, depending on how they interact with the metric. The foundation of Lorentzian geometry lies in understanding the causal character of these vectors. This causal structure is what makes Lorentzian manifolds particularly well-suited for modeling spacetime in the context of Einsteins theory of general relativity [14].

In recent years, Ricci solitons have been extensively explored by several geometers across a wide range of geometric frameworks in [1], [4], [5], [7], [9], [10], [11], [16], [17], [19], [20]. Furthermore, a number of researchers have investigated perfect fluid spacetimes from the perspective of Ricci soliton geometry, highlighting their structural and curvature properties in [3], [6], [8], [18], [24].

Based on the above this research investigates the relationship between Ricci solitons and the geometric framework of a perfect fluid spacetime that possesses a Lorentzian Concircular structure. By examining the essential characteristics of these spacetimes, the study aims to understand the role Ricci solitons play in shaping their geometric progression and stability. Additionally, the work seeks to identify the criteria necessary for the existence of such solitons, thereby offering valuable insights into their significance within the realms of differential geometry and theoretical physics.

Relativistic fluid models play a vital role across various areas of physics, including astrophysics, plasma physics, and nuclear physics. In the context of general relativity, perfect fluids serve as simplified yet powerful models for describing matter distributions, such as those found within stars or in an isotropic universe. Einsteins field equations can be employed to analyze the dynamics of a perfect fluid enclosed in a spherical body, while the FLRW equations are instrumental in modeling the large-scale evolution of the universe. Within general relativity, the energy-momentum tensor acts as the source of spacetime curvature. A perfect fluid is fully described by its mass density in the rest frame and its isotropic pressure. It lacks shear stresses, viscosity, and heat conduction, and its energy-momentum tensor takes the following form:

$$T(U,V) = pg(U,V) + (\sigma + p)\eta(U)\eta(V).$$

$$(1.3)$$

For any vector fields  $U, V \in \chi(M)$ , where p denotes the isotropic pressure,  $\sigma$  represents the energy density, and g is the Minkowski metric tensor, the velocity vector of the fluid is given by  $\xi := \sharp(\eta)$ , satisfying the normalization condition  $g(\xi, \xi) = -1$ . When the relation  $\sigma = -p$  holds, the energy-momentum tensor becomes Lorentz-invariant, expressed as T = $-\sigma g$ , corresponding to the vacuum state. Alternatively, when  $\sigma = 3p$ , the matter content is identified as a radiation fluid.

The motion of a perfect fluid is governed by Einstein's field equations, which describe the interaction between matter and the curvature of spacetime:

$$Ric(U,V) + (\lambda - \frac{r}{2})g(U,V) = kT(U,V).$$
(1.4)

For any vector fields  $U, V \in \chi(M)$ , where  $\lambda$  denotes the cosmological constant, k represents the gravitational constant (often taken as  $8\pi G$  in geometric units with G the universal gravitational constant), *Ric* is the Ricci curvature tensor, and r is the scalar curvature associated with the metric g. These modified field equations arise from Einsteins original formulation, where the cosmological constant was introduced in an attempt to model a static universe. In contemporary cosmology, however,  $\lambda$  is interpreted as a potential form of dark energy responsible for the observed accelerated expansion of the universe. Substituting the expression for T from equation (1.3) into (1.4) we obtain:

$$Ric(U,V) = -\left[\lambda - \frac{r}{2} - kp\right]g(U,V) + (\sigma k + pk)\eta(U)\eta(V),$$
(1.5)

for any  $U, V \in \chi(M)$ . Recall that a manifold exhibits a particular geometric property when its Ricci tensor *Ric* can be written as a functional combination of g and  $\eta \otimes \eta$ , for  $\eta$  the gdual 1-form of a unitary vector field, is called quasi-Einstein.

By contracting equation (1.5) and considering that  $g(\xi, \xi) = -1$ , we obtain:

$$r = 4\lambda + k\sigma - 3kp. \tag{1.6}$$

Therefore, the resulting expression simplifies to:

$$Ric(U,V) = \left[\frac{2\lambda + k\sigma - pk}{2}\right]g(U,V) + (k\sigma + kp)\eta(U)\eta(V).$$
(1.7)

This relation holds for all vector fields  $U, V \in \chi(M)$ .

$$QU = \left[\frac{2\lambda + k\sigma - pk}{2}\right]U + (k\sigma + kp)\eta(U)\xi.$$
(1.8)

Here, Ric denotes the Ricci tensor associated with the Ricci operator Q, defined by the relation Ric(U, V) = g(QU, V).

### 2. Basic Concepts of Lorentzian Concircular structure manifold

In this section, we explore key concepts of Lorentzian Concircular structure manifolds: A Lorentzian Concircular structure manifold is a smooth manifold M equipped with both a Lorentzian metric g and a Concircular structure.

An *n*-dimensional smooth, connected, and paracontact Hausdorff manifold M, equipped with a Lorentzian metric g, is referred to as a Lorentzian manifold. This implies that Mpossesses a smooth, symmetric tensor field g of type (0, 2) such that for each point  $p \in M$ , the bilinear form  $g_p: T_pM \times T_pM \longrightarrow R$  defines a non-degenerate inner product with signature  $(-, +, \ldots, +)$ . Here,  $T_pM$  denotes the tangent vector space to M at p, and R represents the field of real numbers. A non-zero vector  $v \in T_pM$  is classified as timelike if  $g_p(v, v) < 0$ , non-spacelike if  $g_p(v, v) \leq 0$ , null if  $g_p(v, v) = 0$ , or spacelike  $g_p(v, v) > 0$ , [15]. The causal character of a vector refers to the category it falls into based on this classification.

A Lorentzian manifold M admits a unit timelike concircular vector field  $\xi$ , referred to as the characteristic vector field of the manifold. The manifold satisfies the following fundamental conditions:

$$g(\mathcal{U},\xi) = \eta(\mathcal{U}), \quad g(\xi,\xi) = -1, \quad (\nabla_{\mathcal{U}}\eta)(\mathcal{V}) = \alpha \{g(\mathcal{U},\mathcal{V}) + \eta(\mathcal{U})\eta(\mathcal{V})\},$$
(2.9)

where g denotes the Lorentzian metric,  $\xi$  is the unit timelike concircular vector field,  $\eta$  is the associated 1-form,  $\nabla$  represents the Levi-Civita connection, and  $\alpha$  is a smooth scalar function on M. From equation (2.9), we obtain:

$$\nabla_{\mathcal{U}}\xi = \alpha\{\mathcal{U} + \eta(\mathcal{U})\xi\}.$$
(2.10)

For any vector fields  $\mathcal{U}, \mathcal{V}$  on M and  $\nabla$  represents the covariant derivative operator associated with the Lorentzian metric g, and  $\alpha$  is a non-zero scalar function that satisfies:

$$\nabla_{\mathcal{U}}\alpha = (\mathcal{U}\alpha) = d\alpha(\mathcal{U}) = \rho\eta(\mathcal{U}). \tag{2.11}$$

Let  $\rho$  denote a scalar function defined by  $\rho = -(\xi \alpha)$ . By setting:

$$\nabla_{\mathcal{U}}\xi = \alpha\phi\mathcal{U}.\tag{2.12}$$

Then, using equations (2.10) and (2.12), we get:

$$\phi \mathcal{U} = \mathcal{U} + \eta(\mathcal{U})\xi. \tag{2.13}$$

Here,  $\phi$  is a (1,1)-type tensor field, referred to as the structure tensor of M. A Lorentzian manifold M, equipped with a unit timelike concircular vector field  $\xi$ , its associated 1-form

 $\eta$ , and structure tensor field  $\phi$ , is known as a Lorentzian Concircular structure manifold, abbreviated as an  $(LCS)_n$ -manifold [21]. In such a manifold, the following fundamental relations are satisfied:

$$\phi^2 \mathcal{V} = \mathcal{V} + \eta(\mathcal{V})\xi, \quad \eta(\phi \mathcal{V}) = 0, \quad \eta(\xi) = -1, \quad \phi \cdot \xi = 0, \tag{2.14}$$

$$g(\phi \mathcal{U}, \phi \mathcal{V}) = g(\mathcal{U}, \mathcal{V}) + \eta(\mathcal{U})\eta(\mathcal{V}), \qquad (2.15)$$

$$\eta(R(\mathcal{U},\mathcal{V})Z) = (\alpha^2 - \rho)[g(\mathcal{V},Z)\eta(\mathcal{U}) - g(\mathcal{U},Z)\eta(\mathcal{V})], \qquad (2.16)$$

$$R(\mathcal{U},\mathcal{V})\xi = (\alpha^2 - \rho)[\eta(\mathcal{V})\mathcal{U} - \eta(\mathcal{U})\mathcal{V}], \qquad (2.17)$$

$$Ric(\mathcal{U},\xi) = (n-1)(\alpha^2 - \rho)\eta(\mathcal{U}).$$
(2.18)

For all vector fields  $\mathcal{U}, \mathcal{V}, Z$  on M, let R denote the Riemann curvature tensor associated with the Lorentzian metric g, and let Ric represent the Ricci tensor corresponding to the Ricci operator Q, defined by  $Ric(\mathcal{U}, \mathcal{V}) = g(Q\mathcal{U}, \mathcal{V})$ .

The Concircular curvature tensor  $\mathcal{C}$  [3] is defined by the expression:

$$\mathcal{Q}(\mathcal{U},\mathcal{V})Z = R(\mathcal{U},\mathcal{V})Z - \frac{r}{n(n-1)}[g(\mathcal{V},Z)\mathcal{U} - g(\mathcal{U},Z)\mathcal{V}], \qquad (2.19)$$

where R is the Riemann curvature tensor, r denotes the scalar curvature, and Ric represent the Ricci tensor associated with operator Q, that is,  $Ric(\mathcal{U}, \mathcal{V}) = g(Q\mathcal{U}, \mathcal{V})$ .

## 3. CERTAIN GEOMETRIC PROPERTIES OF A PERFECT FLUID SPACETIME ADMITTING LORENTZIAN CONCIRCULAR STRUCTURE MANIFOLDS

In this portion of the paper, we investigate the geometric characteristics of a perfect fluid spacetime modeled on a Lorentzian Concircular structure manifold (denoted as  $(LCS)_n$ manifold). Our aim is to explore how the intrinsic geometry of such a manifold interacts with the energy-momentum distribution of a perfect fluid. We begin by recalling the fundamental definitions and structure tensors associated with a Lorentzian Concircular structure manifold and the energy-momentum tensor for a perfect fluid, followed by derivations of curvature conditions, symmetry properties, and physical interpretations relevant to relativistic fluid dynamics.

The Concircular curvature tensor C [3] in perfect fluid spacetime endowed with a 4dimensional Lorentzian Concircular structure manifold is defined as follows:

$$\mathcal{Q}(\mathcal{U},\mathcal{V})Z = R(\mathcal{U},\mathcal{V})Z - \frac{r}{12}[g(\mathcal{V},Z)\mathcal{U} - g(\mathcal{U},Z)\mathcal{V}].$$
(3.20)

After Covariantly differentiating equation (3.20) and contracting, we derive

$$(div \mathcal{Q})(\mathcal{U}, \mathcal{V})Z = (div R)(\mathcal{U}, \mathcal{V})Z - \frac{1}{12}[g(\mathcal{V}, Z)(\mathcal{U}r) - g(\mathcal{U}, Z)(\mathcal{V}r)].$$
(3.21)

Assuming  $div \zeta = \nabla \cdot \zeta = 0$ , where div represents the divergence, we derive the following from equation (3.21):

$$(\nabla_{\mathcal{U}}Ric)(\mathcal{V},Z) - (\nabla_{\mathcal{V}}Ric)(\mathcal{U},Z) = \frac{1}{12}[g(\mathcal{V},Z)(\mathcal{U}r) - g(\mathcal{U},Z)(\mathcal{V}r)].$$
(3.22)

Since r is a constant scalar curvature, the preceding relation indicates that

$$g((\nabla_{\mathcal{U}}Q)\mathcal{V} - (\nabla_{\mathcal{V}}Q)\mathcal{U}, Z) = 0 \Longrightarrow (\nabla_{\mathcal{U}}Q)\mathcal{V} - (\nabla_{\mathcal{V}}Q)\mathcal{U} = 0.$$
(3.23)

By substituting equation (1.8) into (3.23), we obtain:

$$k(\sigma+p)[g(\mathcal{V},\nabla_{\mathcal{U}}\xi)\xi+\eta(\mathcal{V})\nabla_{\mathcal{U}}\xi-g(\mathcal{U},\nabla_{\mathcal{V}}\xi)\xi-\eta(\mathcal{U})\nabla_{\mathcal{V}}\xi]=0.$$
(3.24)

Inserting (2.12), (2.13) in (3.24) and on simplification, we get:

$$k(\sigma + p)\alpha[\eta(\mathcal{V})\mathcal{U} - \eta(\mathcal{U})\mathcal{V}] = 0.$$
(3.25)

Here, k denotes the gravitational constant defined as  $k = 8\pi G$  in geometrized units, where G is the universal gravitational constant. The preceding equation leads to the condition  $p = -\sigma$ , under the assumption that  $\alpha \neq 0$ . This leads us to the following conclusion:

**Theorem 3.1.** Let (M, g) be a general relativistic perfect fluid spacetime endowed with a Lorentzian Concircular structure manifold satisfying (1.7). If the divergence of the Concircular curvature tensor vanishes, that is,  $\operatorname{div} \mathcal{Q} = \nabla \cdot \mathcal{Q} = 0$ , then the pressure and energy density satisfy  $p = -\sigma$  provided that  $\alpha \neq 0$ .

If the Concircular curvature tensor is Concircularly flat, that is,  $\mathcal{G}(\mathcal{U}, \mathcal{V})Z = 0$ , then by equation (1.6), it follows that:

$$R(\mathcal{U},\mathcal{V})Z = \frac{4\lambda + k(\sigma - 3p)}{12} [g(\mathcal{V},Z)\mathcal{U} - g(\mathcal{U},Z)\mathcal{V}].$$
(3.26)

If the condition  $p = -\sigma$  is imposed in equation (3.26), then it results in the following expression:

$$R(\mathcal{U}, \mathcal{V})Z = \frac{\lambda + k\sigma}{3} [g(\mathcal{V}, Z)\mathcal{U} - g(\mathcal{U}, Z)\mathcal{V}].$$
(3.27)

Based on this, we propose the following statement:

**Theorem 3.2.** Let (M, g) be a general relativistic perfect fluid spacetime that satisfies equation (1.6) and possesses a Lorentzian Concircular structure. If the Concircular curvature tensor  $\zeta = 0$  vanishes, implying that the manifold is Concircularly flat, then the spacetime has constant curvature given by  $\frac{\lambda+k\sigma}{3}$ .

In this case, we investigate the curvature properties under the assumption that the spacetime is 4-dimensional  $\xi$ -Concircularly flat that is:

Using the definition of the Concircular curvature tensor, we have:

$$\mathcal{Q}(\mathcal{U},\mathcal{V})\xi = R(\mathcal{U},\mathcal{V})\xi - \frac{r}{12}[g(\mathcal{V},\xi)\mathcal{U} - g(\mathcal{U},\xi)\mathcal{V}].$$
(3.28)

If the manifold is  $\xi$ -Concircularly flat, then  $\mathcal{Q}(\mathcal{U}, \mathcal{V})\xi = 0$ , which implies:

$$R(\mathcal{U}, \mathcal{V})\xi = \frac{r}{12}[g(\mathcal{V}, \xi)\mathcal{U} - g(\mathcal{U}, \xi)\mathcal{V}].$$
(3.29)

By applying equations (1.6) and (2.17) in (3.29), the following result is derived:

$$\left[\frac{-[4\lambda + k(\sigma - 3p)] + 12(\alpha^2 - \rho)}{12}\right] [\eta(\mathcal{V})\mathcal{U} - \eta(\mathcal{U})\mathcal{V}] = 0.$$
(3.30)

From (3.30), we get:

$$p = \frac{4\lambda + k\sigma - 12(\alpha^2 - \rho)}{3k}.$$
(3.31)

As a result, we conclude the following:

**Theorem 3.3.** Let (M, g) be a general relativistic perfect fluid spacetime satisfying equation (1.7) and admitting a Lorentzian Concircular structure. If the Concircular curvature tensor satisfies  $\zeta(\mathcal{U}, \mathcal{V})\xi = 0$ , then the pressure p is equal to  $\frac{4\lambda + k\sigma - 12(\alpha^2 - \rho)}{3k}$ .

**Definition 3.1.** A second-order tensor  $\ell$  is referred to as a parallel tensor if its covariant derivative vanishes, i.e.,  $\nabla \ell = 0$ , where  $\nabla$  represents the covariant derivative operator associated with the metric tensor g.

Consider  $\ell$  as a symmetric second-order tensor. It is said to be parallel if it satisfies  $\nabla \ell = 0$ . Employing the Ricci commutation identity, we proceed as follows:

$$\nabla^2_{\mathcal{U},\mathcal{V}}\ell(\mathfrak{Z},\mathfrak{W}) - \nabla^2_{\mathcal{U},\mathcal{V}}\ell(\mathfrak{W},\mathfrak{Z}) = 0.$$
(3.32)

Accordingly, the resulting expression is:

$$\ell(R(\mathcal{U},\mathcal{V})\mathfrak{Z},\mathfrak{W}) + \ell(\mathfrak{Z},R(\mathcal{U},\mathcal{V})\mathfrak{W}) = 0.$$
(3.33)

For arbitrary vector fields  $\mathcal{U}, \mathcal{V}, \mathfrak{Z}, \mathfrak{W}$  on M, by assigning  $\mathfrak{Z} = \mathfrak{W} = \xi$  in equation (3.33), and applying equation (3.27) along with the symmetry property of  $\ell$ , we obtain:

$$\frac{2(\lambda+\sigma k)}{3}[\eta(\mathcal{V})\ell(\mathcal{U},\xi)-\eta(\mathcal{U})\ell(\mathcal{V},\xi)]=0.$$
(3.34)

From equation(3.34), it follows that either  $\lambda = -\sigma k$ , which is equivalent to  $\sigma = \frac{-\lambda}{k}$  or

$$\eta(\mathcal{V})\ell(\mathcal{U},\xi) - \eta(\mathcal{U})\ell(\mathcal{V},\xi) = 0.$$
(3.35)

By inserting  $\mathcal{U} = \xi$  in (3.35) and on simplification, we obtain:

$$\ell(\mathcal{V},\xi) = -\eta(\mathcal{V})\ell(\xi,\xi). \tag{3.36}$$

The fact that  $\ell$  is parallel, combined with equation (3.36), leads to the conclusion that  $\ell(\xi,\xi)$  is constant:

$$(\nabla_{\mathfrak{U}}\ell)(V,\xi) + \ell(\nabla_{\mathfrak{U}}V,\xi) + \ell(V,\nabla_{\mathfrak{U}}\xi)$$
  
= -{[g(\nabla\_{\mathfrak{U}}V,\xi) + g(V,\nabla\_{\mathfrak{U}}\xi)]\ell(\xi,\xi) + \eta(V)[(\nabla\_{\mathfrak{U}}\ell)(\xi,\xi) + 2\ell(\nabla\_{\mathfrak{U}}\xi,\xi)]}. (3.37)

By considering  $\nabla \ell = 0$  and by virtue of (3.36) in (3.37), we obtain:

$$\ell(\nabla_{\mathfrak{U}}V,\xi) + \alpha\ell(V,\phi\mathfrak{U}) = -\{[\eta(\nabla_{\mathfrak{U}}V) + \alpha g(V,\phi\mathfrak{U})]\ell(\xi,\xi) + 2\alpha\eta(V)\ell(\phi\mathfrak{U},\xi)\}.$$
(3.38)

By using (3.36) in (3.38) and by virtue of (2.13) and on simplification, we have:

$$\ell(\mathfrak{U}, V) = -g(\mathfrak{U}, V)\ell(\xi, \xi). \tag{3.39}$$

For any arbitrary vector fields  $\mathfrak{U}, V$  on M and assuming  $\ell$  is parallel, it follows that  $\ell(\xi, \xi)$  remains constant. Therefore, we conclude the following:

**Theorem 3.4.** In a perfect fluid spacetime that is Concircularly flat and equipped with a Lorentzian Concircular structure manifolds, the presence of a symmetric parallel tensor of second order implies that either the condition  $\lambda = -\sigma k$  is satisfied, or the tensor must be a constant scalar multiple of the metric tensor g.

G. INGALAHALLI

If  $\lambda + \sigma k \neq 0$  in equation (3.34), then Concircularly flat perfect fluid spacetime endowed with a Lorentzian Concircular structure manifolds that admits a second-order symmetric parallel tensor is a regular spacetime. Accordingly, we present the following corollary:

**Corollary 3.1.** In a Concircularly flat, regular perfect fluid spacetime endowed with a Lorentzian Concircular structure, a second-order symmetric parallel tensor possesses the same directional and symmetry characteristics as the metric tensor and is uniformly scaled by a constant factor across the manifold. Hence, it is a constant multiple of the metric tensor g.

# 4. Perfect fluid spacetime satisfying $(\xi, \cdot)_R \cdot Ric = 0$ and Lorentzian Concircular structure manifold

This section focuses on the analysis of a perfect fluid spacetime in Lorentzian Concircular structure manifolds that fulfills the curvature condition  $(\xi, \cdot)_R \cdot Ric = 0$ , which is equivalent to the following [3]:

$$((\xi, U)_R \cdot Ric)(V, Z) = ((\xi \wedge_R U) \cdot Ric)(V, Z)$$
  
=  $Ric((\xi \wedge_R U)V, Z) + Ric(V, (\xi \wedge_R U)Z),$  (4.40)

where the curvature operator  $(U \wedge_R V)$  is defined by its action on a vector field Z as  $(U \wedge_R V)Z = R(U, V)Z$ . Utilizing this definition, equation (4.40) leads to:

$$Ric(R(\xi, U)V, Z) + Ric(V, R(\xi, U)Z) = 0.$$
(4.41)

Inserting (1.7) in (4.41), we get

$$\left(\frac{2\lambda + k(\sigma - p)}{2}\right) [g(R(\xi, U)V, Z) + g(V, R(\xi, U)Z)] + (k\sigma + kp)[\eta(R(\xi, U)V)\eta(Z) + \eta(V)\eta(R(\xi, U)Z)] = 0.$$
(4.42)

By substituting equations (2.16) and (2.17) into (4.42), we obtain the following expression:

$$(k\sigma + kp)(\alpha^2 - \rho)[g(U, V)\eta(Z) + g(U, Z)\eta(V) + 2\eta(U)\eta(V)\eta(Z)] = 0.$$
(4.43)

By replacing Z with  $\xi$  in equation (4.43), we obtain:

$$(\alpha^2 - \rho)(k\sigma + kp)[g(U, V) + \eta(U)\eta(V)] = 0, \qquad (4.44)$$

we obtain  $\sigma = -p$  and  $(\alpha^2 - \rho) \neq 0$ . Therefore, we can conclude the following:

**Theorem 4.1.** Let (M,g) be a perfect fluid spacetime in general relativity that admits a Lorentzian Concircular structure and satisfies equation (1.7). If the curvature condition  $(\xi, \cdot)_R \cdot Ric = 0$  holds, then the pressure p and energy density  $\sigma$  satisfy  $\sigma = -p$ .

## 5. Perfect fluid spacetime satisfying $(\xi, \cdot)_{Ric} \cdot R = 0$ and Lorentzian Concircular structure manifold

The current section is concerned with the perfect fluid spacetimes in Lorentzian Concircular structure manifolds that satisfy the curvature condition  $(\xi, \cdot)_{Ric} \cdot R = 0$ . This condition is equivalent to the following expression:

$$((\xi, U)_{Ric} \cdot R)(V, Z)W = (\xi \wedge_{Ric} U)R(V, Z)W + R((\xi \wedge_{Ric} U)V, Z)W + R(V, (\xi \wedge_{Ric} U)Z)W + R(V, Z)(\xi \wedge_{Ric} U)W,$$
(5.45)

where  $(U \wedge_{Ric} V)Z = Ric(V, Z)U - Ric(U, Z)V$ . Rewriting the preceding relation, we obtain:

$$Ric(U, R(V, Z)W)\xi - Ric(\xi, R(V, Z)W)U + Ric(U, V)R(\xi, Z)W -Ric(\xi, V)R(U, Z)W + Ric(U, Z)R(V, \xi)W - Ric(\xi, Z)R(V, U)W +Ric(U, W)R(V, Z)\xi - Ric(\xi, W)R(V, Z)U = 0.$$
(5.46)

Applying the inner product with the vector field  $\xi$  in equation (5.46), we obtain:

$$-Ric(U, R(V, Z)W) - Ric(\xi, R(V, Z)W)\eta(U) + Ric(U, V)\eta(R(\xi, Z)W) -Ric(\xi, V)\eta(R(U, Z)W) + Ric(U, Z)\eta(R(V, \xi)W) - Ric(\xi, Z)\eta(R(V, U)W) +Ric(U, W)\eta(R(V, Z)\xi) - Ric(\xi, W)\eta(R(V, Z)U) = 0.$$
(5.47)

Inserting (1.7) in (5.47), we get

$$\begin{pmatrix} \frac{2\lambda + k(\sigma - p)}{2} \end{pmatrix} \left[ -g(U, R(V, Z)W) - \eta(R(V, Z)W)\eta(U) + g(U, V)\eta(R(\xi, Z)W) \\ -\eta(V)\eta(R(U, Z)W) + g(U, Z)\eta(R(V, \xi)W) - \eta(Z)\eta(R(V, U)W) + g(U, W)\eta(R(V, Z)\xi) \\ -\eta(W)\eta(R(V, Z)U) \right] + k(\sigma + p)[\eta(U)\eta(V)\eta(R(\xi, Z)W) + \eta(V)\eta(R(U, Z)W) \\ +\eta(U)\eta(Z)\eta(R(V, \xi)W) + \eta(Z)\eta(R(V, U)W) + \eta(U)\eta(W)\eta(R(V, Z)\xi) \\ +\eta(W)\eta(R(V, Z)U) \right] = 0.$$
(5.48)

By using (2.16), (2.17) in (5.48), we arrive at

$$\left(\frac{2\lambda + k(\sigma - p)}{2}\right) \left[-g(U, R(V, Z)W) + (\alpha^2 - \rho)\{2g(V, W)\eta(U)\eta(Z) - 2g(Z, W)\eta(U)\eta(V) - g(U, V)g(Z, W) + g(U, Z)g(V, W)\}\right] + k(\sigma + p)(\alpha^2 - \rho)[g(U, Z)\eta(W)\eta(V) - g(U, V)\eta(W)\eta(Z)] = 0.$$
(5.49)

By inserting  $Z = W = \xi$  in (5.49) and on simplification, we have

$$(\alpha^2 - \rho)[2\lambda - 2kp][g(U, V) + \eta(U)\eta(V)] = 0.$$
(5.50)

From the above equation, it follows that  $p = \frac{\lambda}{k}$  and  $(\alpha^2 - \rho) \neq 0$ . Consequently, we present the following result:

**Theorem 5.1.** Let (M, g) be a general relativistic perfect fluid spacetime satisfying equation (1.7) and admitting a Lorentzian Concircular structure manifold. If the curvature condition  $(\xi, \cdot)_{Ric} \cdot R = 0$  holds, then the pressure satisfies  $p = \frac{\lambda}{k}$ , provided that  $(\alpha^2 - \rho) \neq 0$ .

# 6. Perfect fluid spacetime satisfying $(\xi, \cdot)_{\c C} \cdot Ric = 0$ and Lorentzian Concircular structure manifold

In this section, we investigate perfect fluid spacetimes admitting a Lorentzian Concircular structure manifold that satisfy the condition  $(\xi, \cdot)_{\mathbf{C}} \cdot Ric = 0$ . This condition is equivalent to

G. INGALAHALLI

the following relation:

$$\begin{aligned} ((\xi, U)_{\mathbf{\hat{V}}} \cdot Ric)(V, Z) &= ((\xi \wedge_{\mathbf{\hat{V}}} U) \cdot Ric)(V, Z) \\ &= Ric((\xi \wedge_{\mathbf{C}} U)V, Z) + Ric(V, (\xi \wedge_{\mathbf{C}} U)Z), \end{aligned}$$
(6.51)

where the operator  $(U \wedge_{\mathbf{C}} V)$  acts on a vector field Z as  $(U \wedge_{\mathbf{C}} V)Z = \mathcal{C}(U, V)Z$ . Reformulating the preceding expression using this definition, we get:

$$Ric(\mathcal{Q}(\xi, U)V, Z) + Ric(V, \mathcal{Q}(\xi, U)Z) = 0, \qquad (6.52)$$

Inserting (1.7) in (6.52), we obtain:

$$\left(\frac{2\lambda + k\sigma - kp}{2}\right) \left[g(\zeta(\xi, U)V, Z) + g(V, \zeta(\xi, U)Z)\right] + (k\sigma + kp)[\eta(\zeta(\xi, U)V)\eta(Z) + \eta(V)\eta(\zeta(\xi, U)Z)] = 0.$$
(6.53)

By using (2.16), (2.17), and (2.19) in (6.53), we get:

$$(k\sigma + kp) \left\{ \frac{12(\alpha^2 - \rho) - [4\lambda + k(\sigma - 3p)]}{12} \right\} [g(U, V)\eta(Z) + g(U, Z)\eta(V) + 2\eta(U)\eta(V)\eta(Z)] = 0.$$
(6.54)

Replacing Z by  $\xi$  in equation (6.54), gives the following result:

$$(k\sigma + kp) \left\{ \frac{12(\alpha^2 - \rho) - [4\lambda + k(\sigma - 3p)]}{12} \right\} [g(U, V) + \eta(U)\eta(V)] = 0.$$
(6.55)

Therefore, we arrive at two possibilities: either  $\sigma = -p$  or  $p = \frac{4\lambda + k\sigma - 12(\alpha^2 - \rho)}{3k}$ . As a consequence, we establish the following result:

**Theorem 6.1.** Let (M,g) be a general relativistic perfect fluid spacetime endowed with a Lorentzian Concircular structure manifolds satisfying equation (1.7). If the condition  $(\xi, \cdot)_{\zeta}$ . Ric = 0 holds, then either  $\sigma = -p$  or  $p = \frac{4\lambda + k\sigma - 12(\alpha^2 - \rho)}{3k}$ .

## 7. Perfect fluid spacetime satisfying $(\xi, \cdot)_{Ric} \cdot \mathbf{C} = 0$ and Lorentzian Concircular structure manifolds

In this section, we examine perfect fluid spacetimes in Lorentzian Concircular structure manifolds satisfying the condition  $(\xi, \cdot)_{Ric} \cdot \zeta = 0$ . This condition is equivalent to the following:

$$((\xi, U)_{Ric} \cdot \mathcal{Q})(V, Z)W = (\xi \wedge_{Ric} U)\mathcal{Q}(V, Z)W + \mathcal{Q}((\xi \wedge_{Ric} U)V, Z)W + \mathcal{Q}(V, (\xi \wedge_{Ric} U)Z)W + \mathcal{Q}(V, Z)(\xi \wedge_{Ric} U)W$$
(7.56)

where  $(X \wedge_{Ric} Y)Z = Ric(Y, Z)X - Ric(X, Z)Y$ .

The preceding equation can be expressed as:

$$Ric(U, \mathcal{Q}(V, Z)W)\xi - Ric(\xi, \mathcal{Q}(V, Z)W)U + Ric(U, V)\mathcal{Q}(\xi, Z)W$$
$$-Ric(\xi, V)\mathcal{Q}(U, Z)W + Ric(U, Z)\mathcal{Q}(V, \xi)W - Ric(\xi, Z)\mathcal{Q}(V, U)W$$
$$+Ric(U, W)\mathcal{Q}(V, Z)\xi - Ric(\xi, W)\mathcal{Q}(V, Z)U = 0.$$
(7.57)

Taking the inner product of equation (7.57) with  $\xi$ , we obtain:

$$-Ric(U, \mathcal{Q}(V, Z)W) - Ric(\xi, \mathcal{Q}(V, Z)W)\eta(U) + Ric(U, V)\eta(\mathcal{Q}(\xi, Z)W)$$
$$-Ric(\xi, V)\eta(\mathcal{Q}(U, Z)W) + Ric(U, Z)\eta(\mathcal{Q}(V, \xi)W) - Ric(\xi, Z)\eta(\mathcal{Q}(V, U)W)$$
$$+Ric(U, W)\eta(\mathcal{Q}(V, Z)\xi) - Ric(\xi, W)\eta(\mathcal{Q}(V, Z)U) = 0.$$
(7.58)

Inserting equation (1.7) into (7.58) gives:

$$\left(\frac{2\lambda + k(\sigma - p)}{2}\right) \left[-g(U, \mathcal{Q}(V, Z)W) - \eta(\mathcal{Q}(V, Z)W)\eta(U) + g(U, V)\eta(\mathcal{Q}(\xi, Z)W) - \eta(V)\eta(\mathcal{Q}(U, Z)W) + g(U, Z)\eta(\mathcal{Q}(V, \xi)W) - \eta(Z)\eta(\mathcal{Q}(V, U)W) + g(U, W)\eta(\mathcal{Q}(V, Z)\xi) - \eta(W)\eta(\mathcal{Q}(V, Z)U)\right] + k(\sigma + p)[\eta(U)\eta(V)\eta(\mathcal{Q}(\xi, Z)W) + \eta(V)\eta(\mathcal{Q}(U, Z)W) + \eta(U)\eta(Z)\eta(\mathcal{Q}(V, \xi)W) + \eta(Z)\eta(\mathcal{Q}(V, U)W) + \eta(U)\eta(W)\eta(\mathcal{Q}(V, Z)\xi) + \eta(W)\eta(\mathcal{Q}(V, Z)U)\right] = 0.$$

$$(7.59)$$

By substituting equations (2.16), (2.17) and (2.19) into (7.59), we obtain:

$$-\left(\frac{2\lambda + k(\sigma - p)}{2}\right)g(U, \mathbb{Q}(V, Z)W) \\ + \left(\frac{2\lambda + k(\sigma - p)}{2}\right)\left\{\frac{12(\alpha^{2} - \rho) - [4\lambda + k(\sigma - 3p)]}{12}\right\}[2g(V, W)\eta(U)\eta(Z) \\ -2g(Z, W)\eta(U)\eta(V) - g(U, V)g(Z, W) + g(U, Z)g(V, W)] \\ + (k\sigma + kp)\left\{\frac{12(\alpha^{2} - \rho) - [4\lambda + k(\sigma - 3p)]}{12}\right\}[g(U, Z)\eta(W)\eta(V) \\ -g(U, V)\eta(W)\eta(Z)] = 0.$$
(7.60)

By substituting  $Z = W = \xi$  in (7.60) and on simplification, we have

$$[2\lambda - 2kp] \left\{ \frac{12(\alpha^2 - \rho) - [4\lambda + k(\sigma - 3p)]}{12} \right\} [g(U, V) + \eta(U)\eta(V)] = 0.$$
(7.61)

Therefore, either  $p = \frac{\lambda}{k}$  or  $p = \frac{4\lambda + k\sigma - 12(\alpha^2 - \rho)}{3k}$ . Hence, we present the following:

**Theorem 7.1.** Let (M, g) represent a general relativistic perfect fluid spacetime satisfying (1.7), endowed with a Lorentzian Concircular structure manifold. If the condition  $(\xi, \cdot)_{Ric} \cdot C = 0$  holds, then either  $p = \frac{\lambda}{k}$  or  $p = \frac{4\lambda + k\sigma - 12(\alpha^2 - \rho)}{3k}$ .

# 8. Ricci solitons within perfect fluid spacetimes possessing a Lorentzian Concircular structure manifold

This section explores Ricci solitons within the framework of a perfect fluid spacetime endowed with a Lorentzian Concircular structure.

Consider the Ricci solitons equation:

$$\mathfrak{L}_{\xi}g + 2Ric + 2ag = 0. \tag{8.62}$$

Let g be a pseudo-Riemannian metric, Ric the Ricci tensor,  $\xi$  a vector field, and a a real constant. A triple  $(g, \xi, a)$  that satisfies equation (8.62) is called a Ricci soliton on M. The soliton is said to be shrinking, steady, or expanding depending on whether a is negative, zero, or positive, respectively.

From the Lie derivative, it follows that:

$$(\mathfrak{L}_{\xi}g)(U,V) = g(\nabla_U\xi,V) + g(U,\nabla_V\xi).$$
(8.63)

By using (8.63) in (8.62), we obtain

$$Ric(U,V) = -ag(U,V) - \frac{1}{2}[g(\nabla_U \xi, V) + g(U, \nabla_V \xi)].$$
(8.64)

By contracting both sides of (8.64), we arrive at:

$$r = -a \cdot \dim(M) - \operatorname{div}(\xi), \tag{8.65}$$

where dim(M) denotes the dimension of the manifold M, and  $div(\xi)$  is the divergence of the vector field  $\xi$ .

Let (M, g) be a spacetime representing a general relativistic perfect fluid with a Lorentzian Concircular structure, and let  $(g, \xi, a)$  define a Ricci soliton on M. From equations (1.7) and (8.64), we obtain:

$$\left[a + \lambda + \frac{k(\sigma - p)}{2}\right]g(U, V) + k(\sigma + p)\eta(U)\eta(V)$$
$$+ \frac{1}{2}[g(\nabla_U \xi, V) + g(U, \nabla_V \xi)] = 0.$$
(8.66)

By an orthonormal frame field  $e_i$  substituting  $U = V = e_i$  in (8.66) and by incorporating the fluid parameters and the divergence of the vector field  $\xi$ , the soliton constant a takes the form:

$$a = -\lambda - \frac{k(\sigma - 3p)}{4} - \frac{div(\xi)}{4}.$$
(8.67)

Therefore, we present the following statement:

**Theorem 8.1.** A Ricci soliton  $(g, \xi, a)$ , where  $a = -\lambda - \frac{k(\sigma - 3p)}{4} - \frac{div(\xi)}{4}$ , is classified as steady when  $p = \frac{4\lambda}{3k} + \frac{\sigma}{3} + \frac{div\xi}{3k}$ ; it is expanding if  $p > \frac{4\lambda}{3k} + \frac{\sigma}{3} + \frac{div\xi}{3k}$ , and shrinking if  $p < \frac{4\lambda}{3k} + \frac{\sigma}{3} + \frac{div\xi}{3k}$ .

## 9. CONCLUSION

This investigation highlights the fundamental role of Ricci solitons in perfect fluid spacetimes characterized by a Lorentzian Concircular structure and a Concircular curvature tensor. Through a detailed analysis of the relationship between the soliton potential, energymomentum tensor, and the geometric properties of the manifold, we have identified essential conditions for the existence and nature of Ricci solitons. The results impose meaningful constraints on the curvature and topology of the spacetime, offering new perspectives on the geometric behavior of relativistic fluids. These contributions not only strengthen the theoretical understanding of Ricci solitons but also expand their relevance within the framework of general relativity.

Looking ahead, this study can be extended by examining Ricci solitons in more generalized geometric environments, such as manifolds with torsion or non-metric connections. Further research could also address the stability, evolution, and physical significance of Ricci solitons in dynamic spacetimes. Incorporating numerical approaches and analyzing specific solutions to Einsteins field equations may offer practical insights, enhancing the applicability of the theoretical findings to problems in cosmology and gravitational physics.

114

Acknowledgments. We gratefully acknowledge the financial support provided by VGST (RGSF), Government of Karnataka, under the RGS/F research project scheme.

#### References

- Bagewadi, C. S., & Ingalahalli, G. (2012). Ricci solitons in Lorentzian α-Sasakian manifolds. Acta Mathematica Academiae Paedagogicae Nyíregyháziensis, 28, 59-68.
- [2] Baishya, K. K., & Mukharjee, A. (2017). On the space-time admitting some geometric structures on energy-momentum tensors. *Revista Colombiana de Matemáticas*, 51(2), 259-269.
- [3] Blaga, A. M. (2020). Solitons and geometrical structures in a perfect fluid spacetime. Rocky Mountain Journal of Mathematics, 50(1), 41-53.
- [4] Blaga, A. M. (2015). η-Ricci solitons on para-Kenmotsu manifolds. Balkan Journal of Geometry and its Applications, 20(1), 1-13.
- [5] Chandra, S., Hui, S. K., & Shaikh, A. A. (2015). Second order parallel tensors and Ricci solitons on (LCS)<sub>n</sub>-manifolds. Communications of the Korean Mathematical Society, 30(2), 123-130.
- [6] Chaubey, S. K. (2021). Characterization of perfect fluid spacetimes admitting gradient η-Ricci and gradient Einstein solitons. Journal of Geometry and Physics, 162, 1-10.
- [7] Calin, C., & Crasmareanu, M. (2010). From the Eisenhart problem to Ricci solitons in f-Kenmotsu manifolds. Bulletin of the Malaysian Mathematical Sciences Society, 33(3), 361-368.
- [8] De, U. C., Mantica, C. A., & Suh, Y. J. (2022). Perfect fluid spacetimes and gradient solitons. *Filomat*, 36(3), 829-842.
- [9] Ghosh, A., & Sharma, R. (2012). K-contact metrics as Ricci solitons. Beiträge zur Algebra und Geometrie, 53, 25-30.
- [10] Ingalahalli, G., & Bagewadi, C. S. (2012). Ricci solitons in α-Sasakian manifolds. ISRN Geometry, 2012, 1-13. https://doi.org/10.5402/2012/421384
- [11] Ingalahalli, G., & Bagewadi, C. S. (2012). Ricci solitons in (ε)-trans-Sasakian manifolds. Journal of Tensor Society, 6(1), 145-159.
- [12] Hamilton, R. S. (1982). Three-manifolds with positive Ricci curvature. Journal of Differential Geometry, 17(2), 255-306.
- [13] Hamilton, R. S. (1988). The Ricci flow on surfaces. Contemporary Mathematics, 71, 237-262.
- [14] Gazi, A. K., & De, U. C. (2009). On weakly symmetric spacetime. Lobachevskii Journal of Mathematics, 30, 274-279.
- [15] O'Neill, B. (1983). Semi-Riemannian geometry with applications to relativity. Academic Press.
- [16] Hui, S. K., Lemence, R. S., & Chakraborty, D. (2015). Ricci solitons on three dimensional generalized Sasakian-space-forms. *Tensor, New Series*, 76, 75-83.
- [17] Hui, S. K., & Chakraborty, D. (2016). Generalized Sasakian-space-forms and Ricci almost solitons with a conformal killing vector field. New Trends in Mathematical Sciences, 4(3), 263-269.
- [18] Kumara, H. A., Venkatesha, & Devaraja, M. N. (2021). Static perfect fluid space-time on almost Kenmotsu manifolds. Journal of Geometry, Symmetry and Physics, 61, 41-51. https://doi.org/10.7546/jgsp-61-2021-41-51
- [19] Nagaraja, H. G., & Premalatha, C. R. (2012). Ricci solitons in f-Kenmotsu manifolds and 3-dimensional trans-Sasakian manifolds. Progress in Applied Mathematics, 3(2), 1-6.
- [20] Pokhariyal, G. P., Yadav, S., & Chaubey, S. K. (2018). Ricci solitons on trans-Sasakian manifolds. Differential Geometry - Dynamical Systems, 20, 138-158.
- [21] Shaikh, A. A. (2003). On Lorentzian almost paracontact manifolds with a structure of the concircular type. *Kyungpook Mathematical Journal*, 43, 305-314.
- [22] Shaikh, A. A., Baishya, K. K., & Eyasmin. (2008). On D-homothetic deformation of trans-Sasakian structure. Demonstratio Mathematica, 41(1), 171-188.
- [23] Sharma, R. (2008). Certain results on K-contact and  $(k, \mu)$ -contact manifolds. Journal of Geometry, 89(1-2), 138-147.

[24] Yadav, S. K., Chaubey, S. K., & Hui, S. K. (2019). On the perfect fluid Lorentzian para-Sasakian spacetimes. Bulgarian Journal of Physics, 46, 1-15.

(G. Ingalahalli) Department of Mathematics, J.N.N. College of Engineering, Shimoga, Karnataka, INDIA.

## CALCULATION

Volume 1, Issue 2, 2025, Pages:117–129 E-ISSN: 3062-2107

www.simadp.com/calculation



## TAUBERIAN THEOREMS IN NEUTROSOPHIC N-NORMED LINEAR SPACES VIA STATISTICAL CESARO SUMMABILITY

P. JENIFER (), M. JEYARAMAN ()\*, AND S. JAFARI

Abstract. In this study, the connection between statistical Cesaro summability as well as sequence of statistical convergence within neutrosophic n-normed linear space ( $\mathfrak{MnNLG}$ ) is investigated. Although Cesaro summability along with its statistical variant within classical normed spaces, fuzzy, intuitionistic fuzzy, and neutrosophic are covered in the literature, this study is notable for both its methodology and its thorough approach, which covers a wider range among spaces in addition explains the process beginning with the statistical Cesaro summability concepts towards statistical convergence. The Tauberian theorems in  $\mathfrak{NnNLG}$  will follow from these findings.

**Keywords**: Neutrosophic n-normed linear space; Cauchy sequence; Tauberian theorem; Cesaro summability

2020 Mathematics Subject Classification: 40G05; 03E72; 40E05;

#### 1. INTRODUCTION

In 1965, Zadeh[23] initially presented the theory among fuzzy sets. He developed this theory to deal with the idea of partial truth, in which truth values fall somewhere between being entirely true and being entirely untrue. This strategy was especially helpful for handling ambiguous or imprecise data, which conventional binary logic was ill-equipped to handle. Atanassov[2], [3] introduced intuitionistic fuzzy set(IFS) theory in 1986. This theory adds a degree among membership as well as a degree among non-membership to the usual fuzzy set theory. Florentin Smarandache[18][19] introduced the concept of neutrosophic sets as to extend of the IFS. The degree of indeterminacy and the neutrosophic set were established as distinct components in his 1995 manuscript, which was published in 1998. Compared with traditional fuzzy sets, this enables a representation of imprecision and uncertainty, which makes it especially helpful in situations where judgments must take into account ambiguous or incomplete data. Gunawan and Mashadi[9], Kim and Cho[13], Malceski[14], and other researchers have looked at n-normed linear spaces. Vijayabalaji and Narayanan[21] defined

Received: 2025.05.05

Accepted:2025.06.23

\* Corresponding author

Paul Sebastian Jenifer & jenifer87.maths@gmail.com & https://orcid.org/0009-0002-7569-0125 Mathuraiveeran Jeyaraman & jeya.math@gmail.com https://orcid.org/0000-0002-0364-1845

Saeid Jafari & jafaripersia@gmail.com, saeidjafari@topositus.com & https://orcid.org/0000-0001-5744-7354.

a fuzzy n-normed linear space. Saadati and Park[17] introduced the concept of intuitionistic fuzzy normed space. Many more authors have conducted research on generalised difference sequence spaces. Jeyaraman et al.[10],[11] established the concepts of Logarithmic summability and Cesaro summability in neutrosophic n- normed linear spaces. Praveena et al.[16] generalized the concept of Cesaro summability method in Neutrosophic Normed spaces using the Tauberian conditions.

Our aim in this research is to introduce the idea of statistical summability theory in a neutrosophic n- normed linear spaces  $\mathfrak{MnNLG}$ . In the context of  $\mathfrak{MnN}$ , this work will assist us in establishing Tauberian conditions which enable the shift beginning with the statistical Cesaro summability towards statistical convergence among sequences. In order to accomplish this, we provide the ideas among Cesaro as well as statistical Cesaro summability. Future research into related Tauberian theorems in a  $\mathfrak{NnNLG}$  environment is made possible by these ideas.

### 2. Preliminaries

This phase contains some of the basic definitions in addition to the notation required for the next section.

**Definition 2.1.** [10] The following axioms define a continuous t-norm as a binary operation  $*:[0,1] \times [0,1] \rightarrow [0,1]$ 

(i) \* is continuous, commutative and associative,

(*ii*)  $\mathfrak{p}*1=\mathfrak{p}$  forevery  $\mathfrak{p}\in[0,1]$ ,

(iii) If  $\mathfrak{p} \leq \mathfrak{r}$  and  $\mathfrak{q} \leq \mathfrak{s}$  then  $\mathfrak{p} * \mathfrak{q} \leq \mathfrak{r} * \mathfrak{s}$ , for each  $\mathfrak{p}, \mathfrak{q}, \mathfrak{r}, \mathfrak{s} \in [0, 1]$ 

**Definition 2.2.** [10] The seven-tuple  $(\mathfrak{U}, \hat{\mu}, \check{\nu}, \tilde{\omega}, *, \diamond, \circ)$  is recognized as a  $\mathfrak{NnRCS}$ , where  $\mathfrak{U}$  represents the space of vectors among dimensions that vary  $d \geq n$  on the domain  $\mathbb{R}$ , \* indicates a continuous t-norm,  $\diamond$ , and  $\circ$  represent a continuous t-conorms, and  $\hat{\mu}, \check{\nu}$ , and  $\tilde{\omega}$  are fuzzy sets described on  $\mathfrak{U}^n \times (0, \infty)$ . In this context,  $\hat{\mu}$  denotes the membership degree,  $\check{\nu}$  denotes the non-membership degree and  $\tilde{\omega}$  indicates the degree of indeterminacy for elements  $(\mathfrak{f}_1, \mathfrak{f}_2, \ldots, \mathfrak{f}_n, \hat{\lambda}) \in \mathfrak{U}^n \times (0, \infty)$ . The following requirements are met for each  $(\mathfrak{f}_1, \mathfrak{f}_2, \ldots, \mathfrak{f}_n, \mathbf{n}) \in \mathfrak{U}^n$  and  $s, \hat{\lambda} > 0$ :

$$\begin{split} &(i) \ \hat{\mu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\hat{\lambda}) + \breve{\nu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\hat{\lambda}) + \tilde{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\hat{\lambda}) \leq 3; \\ &(ii) \ \hat{\mu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\hat{\lambda}) = 1, \ \breve{\nu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\hat{\lambda}) = 0 \ and \ \tilde{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\hat{\lambda}) = 0 \ for \ every \\ &positive \ \hat{\lambda} \ iff \ \mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n} \ are \ linearly \ dependent; \\ &(iii) \ \hat{\mu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\hat{\lambda}), \ \breve{\nu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\hat{\lambda}) \ and \ \tilde{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\hat{\lambda}) \ are \ not \ influenced \ by \ any \ particular \ arrangement \ of \ \mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\hat{\lambda}) \ and \ \tilde{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\hat{\lambda}) \ = \ \breve{\nu}\left(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\frac{\hat{\lambda}}{|\mathfrak{c}|}\right) \ and \\ \tilde{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{cf}_{n},\hat{\lambda}) = \hat{\omega}\left(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\frac{\hat{\lambda}}{|\mathfrak{c}|}\right), \ \breve{\nu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{cf}_{n},\hat{\lambda}) \ = \ \breve{\nu}\left(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\frac{\hat{\lambda}}{|\mathfrak{c}|}\right) \ and \\ \tilde{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{cf}_{n},\hat{\lambda}) = \tilde{\omega}\left(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\frac{\hat{\lambda}}{|\mathfrak{c}|}\right), \ \breve{\mu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{cf}_{n},\hat{\lambda}) = \tilde{\omega}\left(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\frac{\hat{\lambda}}{|\mathfrak{c}|}\right) \ and \\ \tilde{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},s) + \hat{\mu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\hat{\lambda}) \leq \hat{\mu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n}+\mathfrak{f}_{n}',s+\hat{\lambda}); \\ (vi) \ \tilde{\mu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},s) \circ \tilde{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\hat{\lambda}) \geq \check{\nu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n}+\mathfrak{f}_{n}',s+\hat{\lambda}); \\ (vii) \ \tilde{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\hat{\lambda}) : (0,\infty) \to [0,1], \ \check{\nu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\hat{\lambda}) : (0,\infty) \to [0,1], \ u(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n},\hat{\lambda}) : (0,\infty) \to [0,1], \ u(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{$$

118

- (viii)  $\lim_{\hat{\lambda}\to\infty}\hat{\mu}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_n,\hat{\lambda})=1$  and  $\lim_{\hat{\lambda}\to0}\hat{\mu}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_n,\hat{\lambda})=0$ ;
- $(ix) \lim_{\hat{\lambda} \to \infty} \breve{\nu}(\mathfrak{f}_1, \mathfrak{f}_2, \dots, \mathfrak{f}_n, \hat{\lambda}) = 0 \text{ and } \lim_{\hat{\lambda} \to 0} \breve{\nu}(\mathfrak{f}_1, \mathfrak{f}_2, \dots, \mathfrak{f}_n, \hat{\lambda}) = 1.$   $(ix) \lim_{\hat{\lambda} \to \infty} \tilde{\omega}(\mathfrak{f}_1, \mathfrak{f}_2, \dots, \mathfrak{f}_n, \hat{\lambda}) = 0 \text{ and } \lim_{\hat{\lambda} \to 0} \tilde{\omega}(\mathfrak{f}_1, \mathfrak{f}_2, \dots, \mathfrak{f}_n, \hat{\lambda}) = 1.$

**Definition 2.3.** [22] Let  $(\mathfrak{U}, \hat{\mu}, \check{\nu}, \tilde{\omega}, *, \diamond, \circ)$  be  $\mathfrak{MnMLG}$ .

(i) The  $\hat{\mathfrak{y}} = \hat{\mathfrak{y}}_k$  a sequence in  $\mathfrak{U}$  is considered to converge with  $\tilde{\mathfrak{L}} \in \mathfrak{U}$  under  $\mathfrak{Nn}\mathfrak{N}$   $(\hat{\mu}, \check{\nu}, \tilde{\omega})^n$ , if  $\forall \ \check{\varrho} \in (0,1), \hat{\lambda} > 0$ , and also  $\mathfrak{f}_1, \mathfrak{f}_2, \dots, \mathfrak{f}_{n-1} \in \mathfrak{U}, \exists a \text{ natural number } k_0 \text{ in a way}$  $\hat{\mu}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_{n-1},\hat{\mathfrak{y}}_k-\tilde{\mathfrak{L}},\hat{\lambda})>1-\check{\varrho},\ \check{\nu}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_{n-1},\hat{\mathfrak{y}}_k-\tilde{\mathfrak{L}},\hat{\lambda})<\check{\varrho}\ and$  $\tilde{\omega}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_{n-1},\hat{\mathfrak{g}}_k-\tilde{\mathfrak{L}},\hat{\lambda})<\breve{\rho}\ \forall\ k\geq k_0.$ 

In order to indicate this convergence,  $(\hat{\mu}, \check{\nu}, \tilde{\omega})^n - \lim \hat{\mathfrak{y}} = \tilde{\mathfrak{L}} \text{ or } \hat{\mathfrak{y}}_k \stackrel{(\hat{\mu}, \check{\nu}, \check{\omega})^n}{\to} \tilde{\mathfrak{L}} \text{ as } k \to \infty.$ (ii) The  $\hat{\mathfrak{y}} = \hat{\mathfrak{y}}_k$  a sequence within  $\mathfrak{U}$  is defined to be Cauchy in relation to  $\mathfrak{Nn}\mathfrak{N}$   $(\hat{\mu}, \check{\nu}, \tilde{\omega})^n$ , if  $\forall \ \varrho \in (0,1), \hat{\lambda} > 0$  and also  $\mathfrak{f}_1, \mathfrak{f}_2, \dots, \mathfrak{f}_{n-1} \in \mathfrak{U}, \exists a \text{ natural number } k_0 \text{ in a way that}$  $\hat{\mu}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_{n-1},\hat{\mathfrak{y}}_k-\hat{\mathfrak{y}}_m,\hat{\lambda}) > 1-\check{\varrho},\,\check{\nu}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_{n-1},\hat{\mathfrak{y}}_k-\hat{\mathfrak{y}}_m,\hat{\lambda}) < \check{\varrho} \text{ and }$  $\tilde{\omega}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_{n-1},\hat{\mathfrak{y}}_k-\hat{\mathfrak{y}}_m,\hat{\lambda})<\check{\varrho} \text{ for any } k,m\geq k_0.$ 

(iii) If all Cauchy sequences in  $\mathfrak{U}$  converge, then a  $\mathfrak{MnMLS}$   $\mathfrak{U}$  is complete with regard to  $\mathfrak{MnM}$  $(\hat{\mu}, \breve{\nu}, \tilde{\omega})^n$ .

**Definition 2.4.** Let  $(\mathfrak{U}, \hat{\mu}, \check{\nu}, \check{\omega}, *, \diamond, \circ)$  represent a  $\mathfrak{MnMLG}$  as well as  $\mathfrak{V}$  indicate any subset of  $\mathfrak{U}$ . The set  $\mathfrak{V}$  is considered bound if  $\exists \ \check{\varrho} > 0$  and  $\hat{\lambda}_0 > 0$  are such that

 $\hat{\mu}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_n,\hat{\lambda}_0) > 1 - \check{\varrho}, \ \check{\nu}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_n,\hat{\lambda}_0) < \check{\varrho} \ and \ \check{\omega}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_n,\hat{\lambda}_0) < \check{\varrho}$ for all  $\mathfrak{f}_1, \mathfrak{f}_2, \ldots, \mathfrak{f}_n \in \mathfrak{V}$ . We tell that the set  $\mathfrak{V}$  is p-bounded if  $\lim_{\hat{\lambda} \to \infty} \Phi_{\mathfrak{V}}(\hat{\lambda}) = 1$  and

$$\begin{split} &\lim_{\hat{\lambda}\to\infty}\Psi_{\mathfrak{V}}(\hat{\lambda})=0 \ and \ \lim_{\hat{\lambda}\to\infty}\varphi_{\mathfrak{V}}(\hat{\lambda})=0 \ where \\ &\Phi_{\mathfrak{V}}(r)=\inf\{\hat{\mu}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_n,\hat{\mathfrak{r}}):\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_n\in\mathfrak{V}\}; \end{split}$$
 $\Psi_{\mathfrak{V}}(r) = \sup\{ \breve{\nu}(\mathfrak{f}_1, \mathfrak{f}_2, \dots, \mathfrak{f}_n, \hat{\mathfrak{r}}) : \mathfrak{f}_1, \mathfrak{f}_2, \dots, \mathfrak{f}_n \in \mathfrak{V} \}$  $\varphi_{\mathfrak{V}}(r) = \sup\{\breve{\omega}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_n,\hat{\mathfrak{r}}):\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_n\in\mathfrak{V}\}.$ 

**Definition 2.5.** Let  $\mathfrak{V}$  be subset of  $\mathbb{N}$ .  $\delta(\mathfrak{V}) = \lim_{n \to \infty} \frac{1}{n} |\{k \le n : k \in \mathfrak{V}\}|$ , where  $|\mathfrak{V}|$  indicates the cardinality of the set  $\mathfrak{V}$  and determines the natural density of  $\mathfrak{V}$  whenever the limit exists.

**Definition 2.6.** A sequence  $\mathfrak{f} = {\mathfrak{f}_k}$  among numbers is assumed statistically( $\mathfrak{st}$ )-convergent to  $\tilde{\mathfrak{L}}$ , when  $\forall \ \check{\varrho} > 0$ ,  $\check{\delta}(\{k \in \mathbb{N} : |\mathfrak{f}_k - \tilde{\mathfrak{L}}| \ge \check{\varrho}\}) = 0$ . That a case, we represent  $\mathfrak{st} - \lim \mathfrak{f} = \tilde{\mathfrak{L}}$ .

**Definition 2.7.** ([20]). Let  $(\mathfrak{U}, \hat{\mu}, \check{\nu}, \tilde{\omega}, *, \diamond, \circ)$  be  $\mathfrak{MnMLS}$ . The  $\mathfrak{f} = {\mathfrak{f}_k}$  a sequence within  $\mathfrak{U}$  is assumed  $\mathfrak{st}$ - convergent towards  $\tilde{\mathfrak{L}} \in \mathfrak{U}$  in relation with  $\mathfrak{Nn}\mathfrak{N}$   $(\hat{\mu}, \check{\nu}, \tilde{\omega})^n$ , when for all  $\check{\varrho} \in (0,1), \hat{\lambda} > 0$  along with  $h_1, h_2, \ldots, h_{n-1} \in \mathfrak{U}$ ,  $\check{\delta}(\{k \in \mathbb{N} : \hat{\mu}(\mathbf{h}_1, \mathbf{h}_2, \dots, \mathbf{h}_{n-1}, \mathbf{\mathfrak{f}}_k - \tilde{\mathfrak{L}}, \hat{\lambda}) \leq 1 - \check{\varrho},$  $\check{\nu}(\mathbf{h}_1,\mathbf{h}_2,\ldots,\mathbf{h}_{n-1},\mathfrak{f}_k-\tilde{\mathfrak{L}},\hat{\lambda})\geq\check{\varrho}, \tilde{\omega}(\mathbf{h}_1,\mathbf{h}_2,\ldots,\mathbf{h}_{n-1},\mathfrak{f}_k-\tilde{\mathfrak{L}},\hat{\lambda})\geq\check{\varrho}\})=0.$  This is represented by  $\mathfrak{st}_{(\hat{\mu},\check{\nu},\check{\omega})^n} - \lim \mathfrak{f} = \mathfrak{L}.$ 

#### 3. STATISTICAL CESARO SUMMABILITY IN MINLE

We begin by introducing the concept of Cesaro summability.

**Definition 3.1.** ([7]). Let  $\{a_n\}$  indicate a sequence within  $\mathfrak{MnMLG}(\mathfrak{U}, \hat{\mu}, \check{\nu}, \check{\omega}, *, \diamond, \circ)$ . The equation  $\breve{\mathcal{X}}_n = \frac{1}{n+1} \sum_{k=0}^n \mathbf{a}_k$  describes the arithmetic means (AM)  $\breve{\mathcal{X}}_n$  among  $\mathbf{a}_n$ .  $\{\mathbf{a}_n\}$  is referred to be Cesaro summable towards  $a \in \mathfrak{U}$  when  $(\hat{\mu}, \check{\nu}, \tilde{\omega})^n - \lim_{m \to \infty} \check{\mathcal{X}}_m = a$ . Further,  $\{a_n\}$  is indicated as a st Cesaro summable towards  $a \in \mathfrak{U}$  when  $\mathfrak{st}_{(\hat{\mu},\check{\nu},\tilde{\omega})^n} - \lim_{m \to \infty} \check{\mathcal{X}}_m = a$ .

In a  $\mathfrak{MnMLG}$  under *p*-boundedness of sequence, the  $\mathfrak{st}$  Cesaro summability method is regular, as demonstrate by the following theorem.

**Theorem 3.1.** Let  $\{a_n\}$  indicate a p-bounded sequence within a  $\mathfrak{MnMLG}$   $(\mathfrak{U}, \hat{\mu}, \check{\nu}, \tilde{\omega}, *, \diamond, \circ)$ . If  $\{a_n\}$  converges statistically to  $a \in \mathfrak{U}$ , then  $\{a_n\}$  serves as a st Cesaro summable to  $\mathfrak{U}$  in relation to  $\mathfrak{MnM}$   $(\hat{\mu}, \check{\nu}, \tilde{\omega})^n$ .

*Proof.* Let  $\{a_n\}$  st converges towards  $a \in \mathfrak{U}$  and also assume that it is p-bounded. Put  $\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_{n-1}\in\mathfrak{U}$ . If  $\check{\varrho}>0$ , then there is  $\mathrm{T},\mathrm{T}'>0$  which means  $\inf_{n\in\mathbb{N}}\hat{\mu}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_{n-1},\mathbf{a}_n,\hat{\mathfrak{r}})>1-\check{\varrho}, \quad \sup_{n\in\mathbb{N}}\check{\nu}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_{n-1},\mathbf{a}_n,\hat{\mathfrak{r}})<\check{\varrho}, \quad \text{and}$  $\sup_{n\in\mathbb{N}}\tilde{\omega}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_{n-1},\mathbf{a}_n,\hat{\mathfrak{r}})<\check{\varrho}, \text{ for every }\hat{\mathfrak{r}}>2\mathrm{T}.$ Therefore,  $\inf_{n\in\mathbb{N}}\hat{\mu}\left(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\mathbf{a},\frac{\hat{\mathfrak{r}}}{2}\right) > 1-\check{\varrho},\ \sup_{n\in\mathbb{N}}\check{\nu}\left(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\mathbf{a},\frac{\hat{\mathfrak{r}}}{2}\right) < \check{\varrho}$ and  $\sup_{n\in\mathbb{N}}\tilde{\omega}\left(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},a,\frac{\hat{\mathfrak{r}}}{2}\right)<\breve{\varrho} \text{ for every }\hat{\mathfrak{r}}>2\mathrm{T}'.$ Thus, the following inequalities are implied:  $\inf_{n\in\mathbb{N}}\hat{\mu}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_{n-1},\mathbf{a}_n-\mathbf{a},\hat{\mathfrak{r}})$  $\geq \min\left\{\inf_{n\in\mathbb{N}}\hat{\mu}\left(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},a_{n},\frac{\hat{\mathfrak{r}}}{2}\right),\inf_{n\in\mathbb{N}}\hat{\mu}\left(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},a,\frac{\hat{\mathfrak{r}}}{2}\right)\right\} > 1-\check{\varrho}, \\ \sup_{n\in\mathbb{N}}\check{\nu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},a_{n}-a,\hat{\mathfrak{r}})$  $\leq \max\left\{\sup_{n\in\mathbb{N}}\check{\nu}\left(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\mathfrak{a}_{n},\frac{\hat{\mathfrak{r}}}{2}\right),\sup_{n\in\mathbb{N}}\check{\nu}\left(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\mathfrak{a},\frac{\hat{\mathfrak{r}}}{2}\right)\right\}<\check{\varrho}$ and  $\sup_{n\in\mathbb{N}}\tilde{\omega}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_{n-1},\mathrm{a}_n-\mathrm{a},\hat{\mathfrak{r}})$  $\leq \max\left\{\sup_{n\in\mathbb{N}}\tilde{\omega}\left(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\mathfrak{a}_{n},\frac{\hat{\mathfrak{r}}}{2}\right),\sup_{n\in\mathbb{N}}\tilde{\omega}\left(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\mathfrak{a},\frac{\hat{\mathfrak{r}}}{2}\right)\right\} < \breve{\varrho}$  $\forall \mathrm{T} > \min\{2\mathrm{T},2\mathrm{T}'\}.$  Since  $\mathfrak{a}_{n}$  which is  $\mathfrak{st}$ - convergent towards  $\mathfrak{U}$ , we get that  $\check{\delta}(N_{\hat{\mu}}(\check{\rho},\hat{\mathfrak{r}})) = \check{\delta}(N_{\check{\nu}}(\check{\rho},\hat{\mathfrak{r}})) = \check{\delta}(N_{\tilde{\omega}}(\check{\rho},\hat{\mathfrak{r}})) = 0 \text{ for any } \hat{\mathfrak{r}} > 0,$ where  $N_{\hat{\mu}}(\check{\rho}, \hat{\mathfrak{r}}) = \{ n \in \mathbb{N} : \hat{\mu}(\mathfrak{f}_1, \mathfrak{f}_2, \dots, \mathfrak{f}_{n-1}, \mathfrak{a}_n - \mathfrak{a}, \hat{\mathfrak{r}}) \le 1 - \check{\rho} \},\$  $N_{\breve{\nu}}(\breve{\rho}, \hat{\mathfrak{r}}) = \{n \in \mathbb{N} : \breve{\nu}(\mathfrak{f}_1, \mathfrak{f}_2, \dots, \mathfrak{f}_{n-1}, \mathfrak{a}_n - \mathfrak{a}, \hat{\mathfrak{r}}) \geq \breve{\rho}\}$  and  $N_{\tilde{\omega}}(\check{\varrho}, \hat{\mathfrak{r}}) = \{ n \in \mathbb{N} : \tilde{\omega}(\mathfrak{f}_1, \mathfrak{f}_2, \dots, \mathfrak{f}_{n-1}, \mathfrak{a}_n - \mathfrak{a}, \hat{\mathfrak{r}}) \geq \check{\varrho} \}.$ Describe the sets  $\mathfrak{D} = \{k \in \mathbb{N} : k \in N_{\hat{\mu}}(\check{\varrho}, \hat{\mathfrak{r}})\}, \mathfrak{D}' = \{k \in \mathbb{N} : k \in N_{\hat{\mu}}^c(\check{\varrho}, \hat{\mathfrak{r}})\}, \text{ and }$  $\mathfrak{E} = \{k \in \mathbb{N} : k \in N_{\check{\nu}}(\tilde{\varrho}, \hat{\mathfrak{r}})\}, \mathfrak{E}' = \{k \in \mathbb{N} : k \in N_{\check{\nu}}^c(\check{\varrho}, \hat{\mathfrak{r}})\}, \text{ and }$  $\mathfrak{F} = \{k \in \mathbb{N} : k \in N_{\tilde{\omega}}(\tilde{\varrho}, \hat{\mathfrak{r}})\}, \mathfrak{F}' = \{k \in \mathbb{N} : k \in N_{\tilde{\omega}}^c(\check{\varrho}, \hat{\mathfrak{r}})\}$ which means  $|\mathfrak{D}| + |\mathfrak{E}| + |\mathfrak{F}| = n + 1 = |\mathfrak{D}'| + |\mathfrak{E}'| + |\mathfrak{F}'|$ , in which  $|\cdot|$  indicates the cardinality among a set.

Therefore,  $\mathfrak{D} \cap \mathfrak{E} \cap \mathfrak{F} = \phi = \mathfrak{D}' \cap \mathfrak{E}' \cap \mathfrak{F}'$ , we can determine. We determine that there is a number  $n_0 \in \mathbb{N}$  which corresponds with the information above,

$$\hat{\mu}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_{n-1},\mathcal{X}_n-\mathbf{a},\hat{\mathfrak{r}})$$
$$=\hat{\mu}\left(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_{n-1},\frac{1}{n+1}\sum_{k=0}^n(\mathbf{a}_k-\mathbf{a}),\hat{\mathfrak{r}}\right)$$

$$\begin{split} &= \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \sum_{k \in \mathbb{N}_{\hat{\mu}}} (\mathbf{a}_{k} - \mathbf{a}) + \sum_{k \in \mathbb{N}_{\hat{\mu}}^{c}} (\mathbf{a}_{k} - \mathbf{a}), (n+1) \hat{\mathfrak{r}} \right) \\ &\geq \min \left\{ \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \sum_{k \in \mathbb{N}_{\hat{\mu}}} (\mathbf{a}_{k} - \mathbf{a}), |\mathfrak{D}| \hat{\mathfrak{r}} \right), \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \sum_{k \in \mathbb{N}_{\hat{\mu}}^{c}} (\mathbf{a}_{k} - \mathbf{a}), |\mathfrak{D}'| \hat{\mathfrak{r}} \right) \right\} \\ &\geq \min \left\{ \min_{k \in \mathbb{N}_{\hat{\mu}}} \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, (\mathbf{a}_{k} - \mathbf{a}), \hat{\mathfrak{r}} \right), \min_{k \in \mathbb{N}_{\hat{\mu}}^{c}} \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, (\mathbf{a}_{k} - \mathbf{a}), \hat{\mathfrak{r}} \right) \right\} \\ &\geq \min \left\{ \inf_{k \in \mathbb{N}_{\hat{\mu}}} \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, (\mathbf{a}_{k} - \mathbf{a}), \hat{\mathfrak{r}} \right), \min_{k \in \mathbb{N}_{\hat{\mu}}^{c}} \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, (\mathbf{a}_{k} - \mathbf{a}), \hat{\mathfrak{r}} \right) \right\} \\ &\geq \min \left\{ 1 - \widecheck{\varrho}, 1 - \breve{\varrho} \right\} \\ &= 1 - \breve{\varrho} \end{split}$$

and also

$$\begin{split} &\check{\nu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\check{\mathcal{X}}_{n}-\mathbf{a},\hat{\mathfrak{r}}) \\ &\leq \max\left\{\max_{k\in\mathbb{N}_{\check{\nu}}}\check{\nu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},(\mathbf{a}_{k}-\mathbf{a}),\hat{\mathfrak{r}}),\max_{k\in\mathbb{N}_{\check{\nu}}^{c}}\check{\nu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},(\mathbf{a}_{k}-\mathbf{a}),\hat{\mathfrak{r}})\right\} \\ &\leq \max\left\{\sup_{k\in\mathbb{N}_{\check{\nu}}}\check{\nu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},(\mathbf{a}_{k}-\mathbf{a}),\hat{\mathfrak{r}}),\max_{k\in\mathbb{N}_{\check{\nu}}^{c}}\check{\nu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},(\mathbf{a}_{k}-\mathbf{a}),\hat{\mathfrak{r}})\right\} \\ &\leq \check{\varrho} \end{split}$$

and

$$\begin{split} &\tilde{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\check{\mathcal{X}}_{n}-\mathbf{a},\hat{\mathfrak{r}}) \\ &\leq \max\left\{\max_{k\in\mathbb{N}_{\tilde{\omega}}}\tilde{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},(\mathbf{a}_{k}-\mathbf{a}),\hat{\mathfrak{r}}),\max_{k\in\mathbb{N}_{\tilde{\omega}}^{c}}\tilde{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},(\mathbf{a}_{k}-\mathbf{a}),\hat{\mathfrak{r}})\right\} \\ &\leq \max\left\{\sup_{k\in\mathbb{N}_{\tilde{\omega}}}\tilde{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},(\mathbf{a}_{k}-\mathbf{a}),\hat{\mathfrak{r}}),\max_{k\in\mathbb{N}_{\tilde{\omega}}^{c}}\tilde{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},(\mathbf{a}_{k}-\mathbf{a}),\hat{\mathfrak{r}})\right\} \\ &\leq \check{\varrho} \end{split}$$

for each  $\hat{\mathfrak{r}} > \min\{2\mathrm{T}, 2\mathrm{T}'\} > 0$  along with  $n \ge n_0$ . It implies that the set is as follows:  $\mathfrak{G} = \left\{\begin{array}{c} n \in \mathbb{N} : \hat{\mu}(\mathfrak{f}_1, \mathfrak{f}_2, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_n - \mathbf{a}, \hat{\mathfrak{r}}) \le 1 - \breve{\varrho} \text{ or } \\ \breve{\nu}(\mathfrak{f}_1, \mathfrak{f}_2, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_n - \mathbf{a}, \hat{\mathfrak{r}}) \ge \breve{\varrho}, \tilde{\omega}(\mathfrak{f}_1, \mathfrak{f}_2, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_n - \mathbf{a}, \hat{\mathfrak{r}}) \ge \breve{\varrho} \end{array}\right\}$ containing, at most, a finite number of terms. The sequence  $\mathbf{a}_n$  is  $\mathfrak{s}\mathfrak{t}$ -Cesaro summable towards  $\mathfrak{U}$  in relation to  $\mathfrak{Mn}\mathfrak{N}$   $(\hat{\mu}, \breve{\nu}, \tilde{\omega})^n$  since a finite subset among natural numbers contains

zero density, as observed by the observation that  $\check{\delta}(\mathfrak{G}) = 0$ .

We demonstrate in the following example that the converse among Theorem (3.1) does not necessarily have to be true.

Example 3.1. Let  $b_{\mathfrak{k}} = \begin{cases} 1 + (-1)^{\mathfrak{k}} + \mathfrak{k}^2, & \text{if } \mathfrak{k} = m^2 \\ 1 + (-1)^{\mathfrak{k}} - (\mathfrak{k} - 1)^2, & \text{if } \mathfrak{k} = m^2 + 1 \\ 1 + (-1)^{\mathfrak{k}}, & \text{otherwise,} \end{cases}$ 

be in  $\mathfrak{MnMLG}(\mathfrak{U}, \hat{\mu}, \check{\nu}, \check{\omega}, *, \diamond, \circ)$ . At  $(\mathfrak{U}, \hat{\mu}, \check{\nu}, \check{\omega}, *, \diamond, \circ)$ , the sequence  $(\mathfrak{b}_{\mathfrak{k}})$  is neither convergent nor st-convergent. Furthermore, it is also not Cesaro summable.

To reach a limit, let's use st-Cesaro summability. Cesaro means (a<sub>t</sub>) of sequence (b<sub>t</sub>) is  $a_{t} = \begin{cases} 1 + \frac{1}{t} \sum_{j=1}^{t} (-i)^{j} + t, & if t = m^{2} \\ 1 + \frac{1}{t} \sum_{j=1}^{t} (-i)^{j}, & otherwise. \end{cases}$ 

Sequence (a<sub>t</sub>) is st-convergent to 1 since for each  $\hat{\mathfrak{r}} > 0$ , we have

 $\mathfrak{st}_{(\hat{\mu},\check{\nu},\check{\omega})^n} - \lim \hat{\mu}(\mathbf{a}_{\mathfrak{k}} - 1, \hat{\mathfrak{r}}) = 1, \mathfrak{st}_{(\hat{\mu},\check{\nu},\check{\omega})^n} - \lim \check{\nu}(\mathbf{a}_{\mathfrak{k}} - 1, \hat{\mathfrak{r}}) = 0 \text{ and } \mathfrak{st}_{(\hat{\mu},\check{\nu},\check{\omega})^n} - \lim \check{\omega}(\mathbf{a}_{\mathfrak{k}} - 1, \hat{\mathfrak{r}}) = 0 \text{ where } \mathbf{a}_{\mathcal{L}} = 0$ 

$$\begin{split} \hat{\mu}(\mathbf{a}_{\mathfrak{k}}-1,\hat{\mathfrak{r}}) &= \begin{cases} \frac{\mathfrak{r}}{\hat{\mathfrak{r}}+|\frac{1}{\mathfrak{k}}\sum_{j=1}^{\mathfrak{k}}(-i)^{j}+\mathfrak{k}|}, \mathfrak{k}=m^{2} \\ \frac{\hat{\mathfrak{r}}}{\hat{\mathfrak{r}}+|\frac{1}{\mathfrak{k}}\sum_{j=1}^{\mathfrak{k}}(-i)^{j}|}, otherwise \end{cases}\\ \tilde{\nu}(\mathbf{a}_{\mathfrak{k}}-1,\hat{\mathfrak{r}}) &= \begin{cases} \frac{|\frac{1}{\mathfrak{k}}\sum_{j=1}^{\mathfrak{k}}(-i)^{j}|}{\hat{\mathfrak{r}}+|\frac{1}{\mathfrak{k}}\sum_{j=1}^{\mathfrak{k}}(-i)^{j}+\mathfrak{k}|}, \mathfrak{k}=m^{2} \\ \frac{|\frac{1}{\mathfrak{k}}\sum_{j=1}^{\mathfrak{k}}(-i)^{j}|}{\hat{\mathfrak{r}}+|\frac{1}{\mathfrak{k}}\sum_{j=1}^{\mathfrak{k}}(-i)^{j}|}, otherwise \end{cases}\\ \tilde{\omega}(\mathbf{a}_{\mathfrak{k}}-1,\hat{\mathfrak{r}}) &= \begin{cases} \frac{|\frac{1}{\mathfrak{k}}\sum_{j=1}^{\mathfrak{k}}(-i)^{j}|}{\hat{\mathfrak{r}}+|\frac{1}{\mathfrak{k}}\sum_{j=1}^{\mathfrak{k}}(-i)^{j}|}, otherwise \end{cases} \end{split}$$

Hence, sequence (b<sub>t</sub>) is st-Cesaro summable to 1 in  $(\mathfrak{U}, \hat{\mu}, \check{\nu}, \tilde{\omega}, *, \diamond, \circ)$ 

#### 4. Related Studies Lead to the Tauberian Theorems

The following lemma establishes homogeneity and additivity among the limit of statistical within a MnMLG.

**Lemma 4.1.** Let  $(\mathfrak{U}, \hat{\mu}, \check{\nu}, \check{\omega}, *, \diamond, \circ)$  be a  $\mathfrak{MnMLS}$  and  $\mathbf{u} = {\mathbf{u}_k}, \mathbf{v} = {\mathbf{v}_k}$  be sequences in  $\mathfrak{U}$ . After that, the given are true:

(i) When the limit of  $(\hat{\mu}, \check{\nu}, \tilde{\omega})^n$ -statistical among  $\mathbf{u}$  indicate  $\check{\xi}$ , together with the  $(\hat{\mu}, \check{\nu}, \tilde{\omega})^n$ st-limit among  $\mathbf{v}$  is  $\rho$ , after that the limit of  $(\hat{\mu}, \check{\nu}, \tilde{\omega})^n$ -statistical among the sum  $(\mathbf{u} + \mathbf{v})$ represent  $\check{\xi} + \dot{\rho}$ .

(ii) When the limit of  $(\hat{\mu}, \check{\nu}, \tilde{\omega})^n$ -statistical among  $\mathbf{u}$  is  $\check{\xi}$ , along with  $\alpha$  represent any real number, after that the limit of  $(\hat{\mu}, \check{\nu}, \tilde{\omega})^n$ -statistical among  $\alpha \mathbf{u}$  is  $\alpha \check{\xi}$ .

**Theorem 4.1.** Let  $(\mathfrak{U}, \hat{\mu}, \check{\nu}, \tilde{\omega}, *, \diamond, \circ)$  be a  $\mathfrak{Mn}\mathfrak{NL}\mathfrak{S}$  along with  $\{a_n\}$  denote a sequence within  $\mathfrak{U}$ . When  $\{a_n\}$  is a st-Cesaro summable towards  $\mathfrak{a}$  in relation to  $\mathfrak{Mn}\mathfrak{N}$   $(\hat{\mu}, \check{\nu}, \tilde{\omega})^n$ , after that  $\check{\mathcal{X}}_{\mathfrak{y}_n}$  which is st-convergent towards  $\mathfrak{a}$  for every  $\mathfrak{y} > 0$ , That is  $\mathfrak{st}_{(\hat{\mu},\check{\nu},\tilde{\omega})^n} - \lim_{n \to \infty} \check{\mathcal{X}}_{\mathfrak{y}_n} = \mathfrak{a}$ , in which  $\mathfrak{y}_n = [\mathfrak{y}n]$ .

*Proof.* Consider  $\mathfrak{st}_{(\hat{\mu},\check{\nu},\check{\omega})^n} - \lim_{n \to \infty} \check{\mathcal{X}}_n = a$ . After that, for a sufficiently large N, follwed  $\check{\varrho} > 0$  together with put  $\mathfrak{f}_1, \mathfrak{f}_2, \ldots, \mathfrak{f}_{n-1} \in \mathfrak{U}$ , the given sets are described:

$$\begin{split} \kappa_{\hat{\mu}, \breve{\mathcal{X}}}(\breve{\varrho}, \hat{\mathfrak{r}}) &= \{k \leq \mathfrak{y}_{N} : \hat{\mu}(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{k} - \mathbf{a}, \hat{\mathfrak{r}}) \leq 1 - \breve{\varrho}\}, \\ \kappa_{\breve{\nu}, \breve{\mathcal{X}}}(\breve{\varrho}, \hat{\mathfrak{r}}) &= \{k \leq \mathfrak{y}_{N} : \breve{\nu}(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{k} - \mathbf{a}, \hat{\mathfrak{r}}) \geq \breve{\varrho}\}, \\ \kappa_{\tilde{\omega}, \breve{\mathcal{X}}}(\breve{\varrho}, \hat{\mathfrak{r}}) &= \{k \leq \mathfrak{y}_{N} : \tilde{\omega}(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{k} - \mathbf{a}, \hat{\mathfrak{r}}) \geq \breve{\varrho}\}, \\ \kappa_{\hat{\mu}, \breve{\mathcal{X}}_{\mathfrak{y}}}(\breve{\varrho}, \hat{\mathfrak{r}}) &= \{k \leq \mathfrak{y}_{N} : \hat{\mu}(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{k} - \mathbf{a}, \hat{\mathfrak{r}}) \geq \breve{\varrho}\}, \end{split}$$

$$\begin{split} \kappa_{\breve{\nu},\breve{\chi}}\mathfrak{y}(\breve{\varrho},\hat{\mathfrak{r}}) &= \{k \leq \mathfrak{y}_N : \breve{\nu}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_{n-1},\breve{\mathcal{X}}_{\mathfrak{y}_k}-\mathbf{a},\hat{\mathfrak{r}}) \geq \breve{\varrho}\},\\ \kappa_{\tilde{\omega},\breve{\chi}}\mathfrak{y}(\breve{\varrho},\hat{\mathfrak{r}}) &= \{k \leq \mathfrak{y}_N : \tilde{\omega}(\mathfrak{f}_1,\mathfrak{f}_2,\ldots,\mathfrak{f}_{n-1},\breve{\mathcal{X}}_{\mathfrak{y}_k}-\mathbf{a},\hat{\mathfrak{r}}) \geq \breve{\varrho}\}. \end{split}$$

We then examine the cases given here.

### Case 1: $\mathfrak{y} > 1$ .

The case is easy to observe that  $\kappa_{\hat{\mu},\check{\mathcal{X}}_{\eta}}(\check{\varrho},\hat{\mathfrak{r}}) \subseteq \kappa_{\hat{\mu},\check{\mathcal{X}}}(\check{\varrho},\hat{\mathfrak{r}}), \kappa_{\check{\nu},\check{\mathcal{X}}}\mathfrak{y}(\check{\varrho},\hat{\mathfrak{r}}) \subseteq \kappa_{\check{\nu},\check{\mathcal{X}}}(\check{\varrho},\hat{\mathfrak{r}})$  and also  $\kappa_{\check{\omega},\check{\mathcal{X}}}\mathfrak{y}(\check{\varrho},\hat{\mathfrak{r}}) \subseteq \kappa_{\check{\omega},\check{\mathcal{X}}}(\check{\varrho},\hat{\mathfrak{r}})$  for every  $\hat{\mathfrak{r}} > 0$ . It suggests that which follows:

$$\frac{|\kappa_{\hat{\mu},\check{\mathcal{X}}_{\mathfrak{y}}}(\check{\varrho},\hat{\mathfrak{r}})|}{N+1} = \frac{\mathfrak{y}|\kappa_{\hat{\mu},\check{\mathcal{X}}_{\mathfrak{y}}}(\check{\varrho},\hat{\mathfrak{r}})|}{\hat{\lambda}_{N}+\mathfrak{y}} \leq \frac{\mathfrak{y}|\kappa_{\hat{\mu},\check{\mathcal{X}}_{\mathfrak{y}}}(\check{\varrho},\hat{\mathfrak{r}})|}{\mathfrak{y}_{N}+1} \leq \frac{\mathfrak{y}|\kappa_{\hat{\mu},\check{\mathcal{X}}}(\check{\varrho},\hat{\mathfrak{r}})|}{\mathfrak{y}_{N}+1}$$
$$\frac{|\kappa_{\check{\nu},\check{\mathcal{X}}}\mathfrak{y}(\check{\varrho},\hat{\mathfrak{r}})|}{N+1} = \mathfrak{y}|\kappa_{\check{\nu},\check{\mathcal{X}}}\mathfrak{y}(\check{\varrho},\hat{\mathfrak{r}})|}{\mathfrak{y}_{N}+\mathfrak{y}} \leq \frac{\mathfrak{y}|\kappa_{\check{\nu},\check{\mathcal{X}}}\mathfrak{y}(\check{\varrho},\hat{\mathfrak{r}})|}{\mathfrak{y}_{N}+1} \leq \frac{\mathfrak{y}|\kappa_{\check{\nu},\check{\mathcal{X}}}(\check{\varrho},\hat{\mathfrak{r}})|}{\mathfrak{y}_{N}+1} \text{ and }$$
$$\frac{|\kappa_{\check{\omega},\check{\mathcal{X}}}\mathfrak{y}(\check{\varrho},\hat{\mathfrak{r}})|}{N+1} = \mathfrak{y}|\kappa_{\check{\omega},\check{\mathcal{X}}}\mathfrak{y}(\check{\varrho},\hat{\mathfrak{r}})|}{\mathfrak{y}_{N}+\mathfrak{y}} \leq \frac{\mathfrak{y}|\kappa_{\check{\omega},\check{\mathcal{X}}}\mathfrak{y}(\check{\varrho},\hat{\mathfrak{r}})|}{\mathfrak{y}_{N}+1} \leq \frac{\mathfrak{y}|\kappa_{\check{\omega},\check{\mathcal{X}}}(\check{\varrho},\hat{\mathfrak{r}})|}{\mathfrak{y}_{N}+1}$$

By applying the mentioned inequalities, accordingly, we can establish that  $\check{\delta}(\kappa_{\hat{\mu},\check{\mathcal{X}}_{\mathfrak{y}}}(\check{\varrho},\hat{\mathfrak{r}})) \leq \mathfrak{y}\check{\delta}(\kappa_{\hat{\mu},\check{\mathcal{X}}}(\check{\varrho},\hat{\mathfrak{r}})), \check{\delta}(\kappa_{\check{\nu},\check{\mathcal{X}}_{\mathfrak{y}}}(\check{\varrho},\hat{\mathfrak{r}})) \leq \mathfrak{y}\check{\delta}(\kappa_{\check{\nu},\check{\mathcal{X}}}(\check{\varrho},\hat{\mathfrak{r}})), \text{ and }\check{\delta}(\kappa_{\check{\omega},\check{\mathcal{X}}_{\mathfrak{y}}}(\check{\varrho},\hat{\mathfrak{r}})) \leq \mathfrak{y}\check{\delta}(\kappa_{\check{\omega},\check{\mathcal{X}}}(\check{\varrho},\hat{\mathfrak{r}}))$ . Therefore, for each  $\hat{\mathfrak{r}} > 0$ , we obtain  $\check{\delta}(\kappa_{\hat{\mu},\check{\mathcal{X}}_{\mathfrak{y}}}(\check{\varrho},\hat{\mathfrak{r}})) = \check{\delta}(\kappa_{\check{\nu},\check{\mathcal{X}}_{\mathfrak{y}}}(\check{\varrho},\hat{\mathfrak{r}})) = \check{\delta}(\kappa_{\check{\omega},\check{\mathcal{X}}_{\mathfrak{y}}}(\check{\varrho},\hat{\mathfrak{r}})) = 0$ . Consequently, we may show that  $\mathfrak{st}_{(\hat{\mu},\check{\nu},\check{\omega})^n} - \lim_{n\to\infty}\check{\mathcal{X}}_{\mathfrak{y}_n} = a$ .

## **Case 2:** $\mathfrak{y} \in (0, 1)$ .

To conclude our case, we now demonstrate that the expression  $\check{\mathcal{X}}_n$ , in the sequence  $\check{\mathcal{X}}_{\mathfrak{y}_n}$ , never occurs beyond  $1 + \frac{1}{\mathfrak{y}}$  times.

Assume that for few  $p, q \in \mathbb{N}$ , we get  $n = \mathfrak{y}_p = \hat{\mathfrak{y}}_{p+1} = \ldots = \mathfrak{y}_{p+q-1} < \mathfrak{y}_{p+q}$ , or similarly,

$$n \leq \mathfrak{y}p < \mathfrak{y}(p+1) < \ldots < \mathfrak{y}(p+q-1) < n+1 \leq \mathfrak{y}(p+q).$$

Thus, we've been given  $n + \mathfrak{y}(q-1) < \mathfrak{y}p + \mathfrak{y}(q-1) = \mathfrak{y}(p+q-1) < n+1$ ,

which gives  $\mathfrak{y}(q-1) < 1$ , i.e.,  $q < 1 + \frac{1}{\mathfrak{y}}$ . According to this field, we get for any  $\check{\varrho} > 0$  and also  $\hat{\mathfrak{r}} > 0$  that

$$\frac{\frac{|\kappa_{\hat{\mu},\tilde{\chi}_{\mathfrak{Y}}}(\tilde{\varrho},\tilde{\mathfrak{r}})|}{N+1}}{N+1} \leq \left(1+\frac{1}{\mathfrak{y}}\right) \frac{\mathfrak{y}_{N}+1}{N+1} \frac{|\kappa_{\hat{\mu},\tilde{\chi}}(\tilde{\varrho},\tilde{\mathfrak{r}})|}{\mathfrak{y}_{N}+1} \leq 2(\mathfrak{y}+1) \frac{|\kappa_{\hat{\mu},\tilde{\chi}}(\tilde{\varrho},\tilde{\mathfrak{r}})|}{\mathfrak{y}_{N}+1} \quad \text{and} \\ \frac{|\kappa_{\tilde{\nu},\tilde{\chi}}\mathfrak{y}(\tilde{\varrho},\tilde{\mathfrak{r}})|}{N+1} \leq \left(1+\frac{1}{\mathfrak{y}}\right) \frac{\mathfrak{y}_{N}+1}{N+1} \frac{|\kappa_{\tilde{\nu},\tilde{\chi}}(\check{\varrho},\hat{\mathfrak{r}})|}{\mathfrak{y}_{N}+1} \leq 2(\mathfrak{y}+1) \frac{|\kappa_{\tilde{\nu},\tilde{\chi}}(\check{\varrho},\tilde{\mathfrak{r}})|}{\mathfrak{y}_{N}+1} \quad \text{also} \\ \frac{|\kappa_{\tilde{\omega},\tilde{\chi}}\mathfrak{y}(\check{\varrho},\hat{\mathfrak{r}})|}{N+1} \leq \left(1+\frac{1}{\mathfrak{y}}\right) \frac{\mathfrak{y}_{N}+1}{N+1} \frac{|\kappa_{\tilde{\omega},\tilde{\chi}}(\check{\varrho},\hat{\mathfrak{r}})|}{\mathfrak{y}_{N}+1} \leq 2(\mathfrak{y}+1) \frac{|\kappa_{\tilde{\omega},\tilde{\chi}}(\check{\varrho},\hat{\mathfrak{r}})|}{\mathfrak{y}_{N}+1}$$

for which N is large enough, such that  $\frac{(\mathfrak{y}_{n+1})}{N+1} \leq 2\mathfrak{y}$ . Consequently, it follows that

$$\begin{split} \check{\delta}(\kappa_{\hat{\mu},\check{\mathcal{X}}_{\mathfrak{y}}}(\check{\varrho},\hat{\mathfrak{r}})) &\leq 2(\mathfrak{y}+1)\check{\delta}(\kappa_{\hat{\mu},\check{\mathcal{X}}}(\check{\varrho},\hat{\mathfrak{r}})) \\ \check{\delta}(\kappa_{\check{\nu},\check{\mathcal{X}}_{\mathfrak{y}}}(\check{\varrho},\hat{\mathfrak{r}})) &\leq 2(\mathfrak{y}+1)\check{\delta}(\kappa_{\check{\nu},\check{\mathcal{X}}}(\check{\varrho},\hat{\mathfrak{r}})) \text{ and} \\ \check{\delta}(\kappa_{\check{\omega},\check{\mathcal{X}}_{\mathfrak{y}}}(\check{\varrho},\hat{\mathfrak{r}})) &\leq 2(\mathfrak{y}+1)\check{\delta}(\kappa_{\check{\omega},\check{\mathcal{X}}}(\check{\varrho},\hat{\mathfrak{r}})) \text{ correspondingly.} \\ \\ \text{Considering that } \{\check{\mathcal{X}}_n\} \text{ is $\mathfrak{s}$t-convergent toward $\mathfrak{U}$,} \\ \check{\delta}(\kappa_{\hat{\mu},\check{\mathcal{X}}}(\check{\varrho},\hat{\mathfrak{r}})) &= \check{\delta}(\kappa_{\check{\nu},\check{\mathcal{X}}}(\check{\varrho},\hat{\mathfrak{r}})) = 0 \text{ for any } \hat{\mathfrak{r}} > 0. \\ \\ \text{Therefore, } \forall \hat{\mathfrak{r}} > 0, \ \check{\delta}(\kappa_{\hat{\mu},\check{\mathcal{X}}_{\mathfrak{y}}}(\check{\varrho},\hat{\mathfrak{r}})) &= \check{\delta}(\kappa_{\check{\nu},\check{\mathcal{X}}}\mathfrak{y}(\check{\varrho},\hat{\mathfrak{r}})) = \check{\delta}(\kappa_{\check{\omega},\check{\mathcal{X}}}\mathfrak{y}(\check{\varrho},\hat{\mathfrak{r}})) = 0. \\ \\ \text{We have therefore also demonstrated that $\mathfrak{s}_{(\hat{\mu},\check{\nu},\check{\omega})^n} - \lim_{n \to \infty} \check{\mathcal{X}}_{\mathfrak{y}_n} = a \text{ in this instance.} \Box$$

**Theorem 4.2.** Let  $(\mathfrak{U}, \hat{\mu}, \check{\nu}, \check{\omega}, *, \diamond, \circ)$  indicate a  $\mathfrak{Nn}\mathfrak{NLS}$  and let  $\{a_n\}$  be a sequence within  $\mathfrak{U}$ . If  $\{a_n\}$  represents a st-Cesaro summable toward  $\mathfrak{a}$  in relation to  $\mathfrak{Nn}\mathfrak{N}$   $(\hat{\mu}, \check{\nu}, \check{\omega})^n$ . After

that, 
$$\mathfrak{st}_{(\hat{\mu},\check{\nu},\check{\omega})^n} - \lim_{n \to \infty} \frac{1}{\mathfrak{y}_n - n} \sum_{k=n+1}^{\mathfrak{y}_n} \mathbf{a}_k = \mathbf{a}$$
, for any  $\mathfrak{y} > 1$  along with  
 $\mathfrak{st}_{(\hat{\mu},\check{\nu},\check{\omega})^n} - \lim_{n \to \infty} \frac{1}{n - \mathfrak{y}_n} \sum_{k=\mathfrak{y}_{n+1}}^n \mathbf{a}_k = \mathbf{a}$ , for all  $0 < \mathfrak{y} < 1$ .

*Proof.* Consider  $\mathfrak{st}_{(\hat{\mu},\check{\nu},\check{\omega})^n} - \lim_{n\to\infty} \check{\mathcal{X}}_n = a$ . Select  $\iota_1, \iota_2 > 0$  with a given  $\check{\varrho} > 0$  so that  $\max{\{\hat{\mathfrak{r}}_1, \hat{\mathfrak{r}}_2\}} < \check{\varrho}$  and  $\min{\{1 - \iota_1, 1 - \iota_2\}} > 1 - \check{\varrho}$ . Next, define the following sets for each  $\hat{\mathfrak{r}} > 0$  and a sufficiently large N:

$$\begin{split} \kappa_{\hat{\mu},\check{\mathcal{X}}}(\iota_{1},\hat{\mathfrak{r}}) &= \{k \leq N : \hat{\mu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\check{\mathcal{X}}_{k}-\mathbf{a},\hat{\mathfrak{r}}) \leq 1-\iota_{1}\},\\ \kappa_{\check{\nu},\check{\mathcal{X}}}(\iota_{1},\hat{\mathfrak{r}}) &= \{k \leq N : \check{\nu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\check{\mathcal{X}}_{k}-\mathbf{a},\hat{\mathfrak{r}}) \geq \iota_{1}\},\\ \kappa_{\check{\omega},\check{\mathcal{X}}}(\iota_{1},\hat{\mathfrak{r}}) &= \{k \leq N : \tilde{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\check{\mathcal{X}}_{k}-\mathbf{a},\hat{\mathfrak{r}}) \geq \iota_{1}\},\\ \kappa_{\hat{\mu},\check{\mathcal{X}},\check{\mathcal{X}}_{\eta}}(\iota_{2},\hat{\mathfrak{r}}) &= \{k \leq N : \hat{\mu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\check{\mathcal{X}}_{\mathfrak{y}_{k}}-\check{\mathcal{X}}_{k},\hat{\mathfrak{r}}) \leq 1-\hat{\mathfrak{r}}_{2}\},\\ \kappa_{\check{\nu},\check{\mathcal{X}},\check{\mathfrak{X}}_{\eta}}(\iota_{2},\hat{\mathfrak{r}}) &= \{k \leq N : \check{\nu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\check{\mathcal{X}}_{\mathfrak{y}_{k}}-\check{\mathcal{X}}_{k},\hat{\mathfrak{r}}) \geq \hat{\mathfrak{r}}_{2}\},\\ \kappa_{\check{\omega},\check{\mathcal{X}},\check{\mathfrak{X}}_{\eta}}(\iota_{2},\hat{\mathfrak{r}}) &= \{k \leq N : \check{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\check{\mathcal{X}}_{\mathfrak{y}_{k}}-\check{\mathcal{X}}_{k},\mathfrak{r}) \geq \hat{\mathfrak{r}}_{2}\}. \end{split}$$

We now explain the cases listed here.

**Case I:**  $\mathfrak{y} > 1$ . Define the following sets for any  $\hat{\mathfrak{r}} > 0$  and given  $\check{\varrho} > 0$ :

$$\begin{split} &\kappa_{\hat{\mu},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}}) = \{k \leq N : \hat{\mu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\mathfrak{J}_{n}(w) - \mathbf{a},\hat{\mathfrak{r}}) \leq 1 - \check{\varrho}\},\\ &\kappa_{\check{\nu},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}}) = \{k \leq N : \check{\nu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\mathfrak{J}_{n}(w) - \mathbf{a},\hat{\mathfrak{r}}) \geq \check{\varrho}\},\\ &\kappa_{\check{\omega},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}}) = \{k \leq N : \check{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\mathfrak{J}_{n}(w) - \mathbf{a},\hat{\mathfrak{r}}) \geq \check{\varrho}\}, \end{split}$$

in which  $\mathfrak{J}_n(w) = \frac{1}{\mathfrak{y}_n - n} \sum_{k=n+1}^{\mathfrak{y}_n} a_k$  for each  $n \in \mathbb{N}$ .

For each  $\mathfrak{y} > 1$  and also sufficiently large  $n \in \mathbb{N} \setminus \{0\}$  so that  $n < \mathfrak{y}_n$  along with  $n \ge \frac{3\mathfrak{y}-1}{\mathfrak{y}(\mathfrak{y}-1)}$ , we get that for every  $\hat{\mathfrak{r}} > 0$  along with  $\mathfrak{f}_1, \mathfrak{f}_2, \ldots, \mathfrak{f}_{n-1} \in \mathfrak{U}$ ,

$$\begin{split} \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \frac{1}{\mathfrak{y}_{n} - n} \sum_{k=n+1}^{\mathfrak{y}_{n}} \mathbf{a}_{k} - \mathbf{a}, \hat{\mathfrak{r}} \right) \\ &= \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \frac{\mathfrak{y}_{n} + 1}{\mathfrak{y}_{n} - n} \frac{1}{\mathfrak{y}_{n+1}} \sum_{k=0}^{\mathfrak{y}_{n}} \mathbf{a}_{k} - \frac{1}{\mathfrak{y}_{n} - n} \sum_{k=0}^{n} \mathbf{a}_{k} - \mathbf{a}, \hat{\mathfrak{r}} \right) \\ &= \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \frac{\mathfrak{y}_{n} + 1}{\mathfrak{y}_{n} - n} \breve{\mathfrak{X}}_{\mathfrak{y}_{n}} - \frac{\mathfrak{y}_{n} + 1 - \mathfrak{y}_{n} + n}{\mathfrak{y}_{n} - n} \breve{\mathfrak{X}}_{n} - \mathbf{a}, \hat{\mathfrak{r}} \right) \\ &\geq \min \left\{ \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathfrak{X}}_{\mathfrak{y}_{n}} - \breve{\mathfrak{X}}_{n}, \frac{\hat{\mathfrak{r}}}{2^{\frac{\mathfrak{y}_{n+1}}{\mathfrak{y}_{n-n}}} \right), \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathfrak{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ &\geq \min \left\{ \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathfrak{X}}_{\mathfrak{y}_{n}} - \breve{\mathfrak{X}}_{n}, \frac{(\mathfrak{y} - 1)\hat{\mathfrak{r}}}{4\mathfrak{y}} \right), \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathfrak{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ &= \min \left\{ \hat{\mu} (\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathfrak{X}}_{\mathfrak{y}_{n}} - \breve{\mathfrak{X}}_{n}, \hat{\mathfrak{r}}_{0}), \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathfrak{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ &> \min \{ 1 - \iota_{2}, 1 - \iota_{1} \} \\ &> 1 - \breve{\varrho} \end{split}$$

and

$$\begin{split} \breve{\nu} \left(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \frac{1}{\mathfrak{y}_{n} - n} \sum_{k=n+1}^{\mathfrak{y}_{n}} \mathbf{a}_{k} - \mathbf{a}, \hat{\mathfrak{r}} \right) \\ &= \breve{\nu} \left(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \frac{\mathfrak{y}_{n} + 1}{\mathfrak{y}_{n} - n} \frac{1}{\mathfrak{y}_{n} + 1} \sum_{k=0}^{\mathfrak{y}_{n}} \mathbf{a}_{k} - \frac{1}{\mathfrak{y}_{n} - n} \sum_{k=0}^{n} \mathbf{a}_{k} - \mathbf{a}, \hat{\mathfrak{r}} \right) \\ &= \breve{\nu} \left(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \frac{\mathfrak{y}_{n} + 1}{\mathfrak{y}_{n} - n} \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \frac{\mathfrak{y}_{n} + 1 - \mathfrak{y}_{n} + n}{\mathfrak{y}_{n} - n} \breve{\mathcal{X}}_{n} - \mathbf{a}, \hat{\mathfrak{r}} \right) \\ &\leq \max \left\{ \breve{\nu} \left(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \breve{\mathcal{X}}_{n}, \frac{\hat{\mathfrak{r}}}{2\frac{\mathfrak{y}_{n+1}}{\mathfrak{y}_{n-n}}} \right), \mathring{\mu} \left(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ &\leq \max \left\{ \breve{\nu} \left(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \breve{\mathcal{X}}_{n}, \frac{(\mathfrak{y} - 1)\hat{\mathfrak{r}}}{4\mathfrak{y}} \right), \breve{\nu} \left(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ &= \max \left\{ \breve{\nu} \left(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \breve{\mathcal{X}}_{n}, \hat{\mathfrak{r}}_{0} \right), \breve{\nu} \left(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ &< \max \{ \upsilon{\chi} \left(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \breve{\mathcal{X}}_{n}, \hat{\mathfrak{r}}_{0} \right), \breve{\nu} \left(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ &< \max \{ \upsilon{\chi} \left(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \breve{\mathcal{X}}_{n}, \hat{\mathfrak{r}}_{0} \right), \breve{\nu} \left(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ &< \max \{ \upsilon{\chi} \left(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \breve{\mathcal{X}}_{n}, \hat{\mathfrak{r}}_{0} \right), \breve{\nu} \left(\mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ &< \max \{ \breve{\nu} \left(\mathfrak{g}, \mathfrak{g}, \mathfrak{g}, \mathfrak{g}, \mathfrak{g} \right\}$$

and

$$\begin{split} \tilde{\omega} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \frac{1}{\mathfrak{y}_{n} - n} \sum_{k=n+1}^{\mathfrak{y}_{n}} \mathbf{a}_{k} - \mathbf{a}, \hat{\mathfrak{r}} \right) \\ &= \tilde{\omega} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \frac{\mathfrak{y}_{n} + 1}{\mathfrak{y}_{n} - n} \frac{1}{\mathfrak{y}_{n} + 1} \sum_{k=0}^{\mathfrak{y}_{n}} \mathbf{a}_{k} - \frac{1}{\mathfrak{y}_{n} - n} \sum_{k=0}^{n} \mathbf{a}_{k} - \mathbf{a}, \hat{\mathfrak{r}} \right) \\ &= \tilde{\omega} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \frac{\mathfrak{y}_{n} + 1}{\mathfrak{y}_{n} - n} \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \frac{\mathfrak{y}_{n} + 1 - \mathfrak{y}_{n} + n}{\mathfrak{y}_{n} - n} \breve{\mathcal{X}}_{n} - \mathbf{a}, \hat{\mathfrak{r}} \right) \\ &\leq \max \left\{ \breve{\nu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \breve{\mathcal{X}}_{n}, \frac{\hat{\mathfrak{r}}}{2\frac{\mathfrak{y}_{n+1}}{\mathfrak{y}_{n-n}}} \right), \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ &\leq \max \left\{ \tilde{\omega} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \breve{\mathcal{X}}_{n}, \frac{(\mathfrak{y} - 1)\hat{\mathfrak{r}}}{4\mathfrak{y}} \right), \tilde{\omega} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ &= \max \left\{ \tilde{\omega} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \breve{\mathcal{X}}_{n}, \hat{\mathfrak{r}}_{0} \right), \breve{\nu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ &< \max \left\{ \tilde{\omega} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \breve{\mathcal{X}}_{n}, \hat{\mathfrak{r}}_{0} \right), \breve{\nu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ &< \max \left\{ \tilde{\omega}, \end{array}$$

where  $\hat{\mathfrak{r}}_{0} = \frac{r(\mathfrak{y}-1)}{4\mathfrak{y}} > 0$ . Therefore, we get for all  $\hat{\mathfrak{r}} > 0$ ,  $\kappa^{c}_{\hat{\mu},\check{\mathcal{X}}}(\iota_{1},\hat{\mathfrak{r}}) \cup \kappa^{c}_{\hat{\mu},\check{\mathcal{X}},\check{\mathfrak{X}}_{\mathfrak{y}}}(\iota_{2},\hat{\mathfrak{r}}) \subseteq \kappa^{c}_{\hat{\mu},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}}),$   $\kappa^{c}_{\check{\nu},\check{\mathcal{X}}}(\iota_{1},\hat{\mathfrak{r}}) \cup \kappa^{c}_{\check{\nu},\check{\mathcal{X}},\check{\mathfrak{X}}_{\mathfrak{y}}}(\iota_{2},\hat{\mathfrak{r}}) \subseteq \kappa^{c}_{\check{\nu},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}}),$   $\kappa^{c}_{\check{\omega},\check{\mathcal{X}}}(\iota_{1},\hat{\mathfrak{r}}) \cup \kappa^{c}_{\check{\omega},\check{\mathcal{X}},\check{\mathfrak{X}}_{\mathfrak{y}}}(\iota_{2},\hat{\mathfrak{r}}) \subseteq \kappa^{c}_{\check{\omega},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}})$ or equivalently,

$$\begin{split} \kappa_{\hat{\mu},\mathfrak{J}}(\breve{\varrho},\hat{\mathfrak{r}}) &\subseteq \kappa_{\hat{\mu},\breve{X},\breve{X}_{\mathfrak{y}}}(\iota_{2},\hat{\mathfrak{r}}) \cap \kappa_{\hat{\mu},\mathfrak{J}}(\iota_{1},\hat{\mathfrak{r}}), \\ \kappa_{\breve{\nu},\mathfrak{J}}(\breve{\varrho},\hat{\mathfrak{r}}) &\subseteq \kappa_{\breve{\nu},\breve{X},\breve{X}_{\mathfrak{y}}}(\iota_{2},\hat{\mathfrak{r}}) \cap \kappa_{\breve{\nu},\mathfrak{J}}(\iota_{1},\hat{\mathfrak{r}}), \end{split}$$

$$\kappa_{\tilde{\omega},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}}) \subseteq \kappa_{\tilde{\omega},\check{\chi},\check{\chi}_{\mathfrak{n}}}(\iota_{2},\hat{\mathfrak{r}}) \cap \kappa_{\tilde{\omega},\mathfrak{J}}(\iota_{1},\hat{\mathfrak{r}}).$$

$$(4.1)$$

For any r > 0 for which we take the asymptotic densities of both sides of (4.1), we get

$$\begin{split} 0 &\leq \delta(\kappa_{\hat{\mu},\hat{\mathfrak{I}}}(\check{\varrho},\hat{\mathfrak{r}})) \\ &\leq \check{\delta}(\kappa_{\hat{\mu},\check{\mathcal{X}}}(\iota_{1},\hat{\mathfrak{r}}) \cup \kappa_{\hat{\mu},\check{\mathcal{X}},\check{\mathcal{X}}_{\mathfrak{I}}}(\iota_{2},\hat{\mathfrak{r}})) \\ &= \check{\delta}(\kappa_{\hat{\mu},\check{\mathcal{X}}}(\iota_{1},\hat{\mathfrak{r}})) + \check{\delta}(\kappa_{\hat{\mu},\check{\mathcal{X}},\check{\mathcal{X}}_{\mathfrak{I}}}(\iota_{2},\hat{\mathfrak{r}})) - \check{\delta}(\kappa_{\hat{\mu},\check{\mathcal{X}}}(\iota_{1},\hat{\mathfrak{r}}) \cap \kappa_{\hat{\mu},\check{\mathcal{X}},\check{\mathcal{X}}_{\mathfrak{I}}}(\iota_{2},\hat{\mathfrak{r}})) \\ &\leq \check{\delta}(\kappa_{\hat{\mu},\check{\mathcal{X}}}(\iota_{1},\hat{\mathfrak{r}})) + \check{\delta}(\kappa_{\hat{\mu},\check{\mathcal{X}},\check{\mathcal{X}}_{\mathfrak{I}}}(\iota_{2},\hat{\mathfrak{r}})) \\ &0 &\leq \check{\delta}(\kappa_{\check{\nu},\check{\mathfrak{I}}}(\iota_{1},\hat{\mathfrak{r}})) + \check{\delta}(\kappa_{\check{\nu},\check{\mathcal{X}},\check{\mathcal{X}}_{\mathfrak{I}}}(\iota_{2},\hat{\mathfrak{r}})) \\ &\leq \check{\delta}(\kappa_{\check{\omega},\check{\mathfrak{I}}}(\iota_{1},\hat{\mathfrak{r}})) + \check{\delta}(\kappa_{\check{\nu},\check{\mathcal{X}},\check{\mathcal{X}}_{\mathfrak{I}}}(\iota_{2},\hat{\mathfrak{r}})) \text{ and} \\ &0 &\leq \check{\delta}(\kappa_{\check{\omega},\check{\mathfrak{I}}}(\check{\varrho},\hat{\mathfrak{r}})) \\ &\leq \check{\delta}(\kappa_{\check{\omega}},\check{\mathcal{X}}(\iota_{1},\hat{\mathfrak{r}})) + \check{\delta}(\kappa_{\check{\nu},\check{\mathcal{X}},\check{\mathcal{X}}_{\mathfrak{I}}}(\iota_{2},\hat{\mathfrak{r}})). \end{split}$$

Since  $\{\check{\mathcal{X}}_n\}$  is st-convergent towards  $a \in \mathfrak{U}$ ,  $\check{\delta}(\kappa_{\hat{\mu},\check{\mathcal{X}}}(\iota_1,\hat{\mathfrak{r}})) = \check{\delta}(\kappa_{\check{\nu},\check{\mathcal{X}}}(\iota_1,\hat{\mathfrak{r}})) = \check{\delta}(\kappa_{\check{\omega},\check{\mathcal{X}}}(\iota_1,\hat{\mathfrak{r}})) = 0$  for every  $\hat{\mathfrak{r}} > 0$ . Therefore,  $\{\check{\mathcal{X}}_{\mathfrak{y}_n}\}$  also st-converges towards  $\mathfrak{U}$ .

Using the argument above,  $\mathfrak{st}_{(\hat{\mu},\check{\nu},\tilde{\omega})^n} - \lim_{n \to \infty} (\check{\mathcal{X}}_{\mathfrak{y}_n} - \check{\mathcal{X}}_n) = 0$  is implied. Therefore, we get  $\check{\delta}(\kappa_{\hat{\mu},\check{\mathcal{X}},\check{\mathcal{X}}_{\mathfrak{y}}}(\iota_2,\hat{\mathfrak{r}})) = \check{\delta}(\kappa_{\check{\nu},\check{\mathcal{X}},\check{\mathcal{X}}_{\mathfrak{y}}}(\iota_2,\hat{\mathfrak{r}})) = 0 \ \forall \ \hat{\mathfrak{r}} > 0.$ Now, we can determine that  $\check{\delta}(\kappa_{\hat{\mu},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}})) = \check{\delta}(\kappa_{\check{\nu},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}})) = \check{\delta}(\kappa_{\check{\omega},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}})) = \check{\delta}(\kappa_{\check{\omega},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}})) = 0.$ Therefore,  $\mathfrak{st}_{(\hat{\mu},\check{\nu},\check{\omega})^n} - \lim_{n \to \infty} \frac{1}{\mathfrak{y}_n - n} \sum_{k=n+1}^{\mathfrak{y}_n} a_k = a$ , for each  $\mathfrak{y} > 1$ .

Case II:  $\mathfrak{y} \in (0,1)$ .

The following sets should be described for any  $\hat{\mathfrak{r}} > 0$  and given  $\check{\varrho} > 0$ :

$$\begin{split} \kappa_{\hat{\mu},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}}) &= \{k \leq N : \hat{\mu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\mathfrak{J}_{k}(w) - \mathbf{a},\hat{\mathfrak{r}}) \leq 1 - \check{\varrho}\}\\ \kappa_{\check{\nu},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}}) &= \{k \leq N : \check{\nu}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\mathfrak{J}_{k}(w) - \mathbf{a},\hat{\mathfrak{r}}) \geq \check{\varrho}\},\\ \kappa_{\check{\omega},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}}) &= \{k \leq N : \tilde{\omega}(\mathfrak{f}_{1},\mathfrak{f}_{2},\ldots,\mathfrak{f}_{n-1},\mathfrak{J}_{k}(w) - \mathbf{a},\hat{\mathfrak{r}}) \geq \check{\varrho}\}, \end{split}$$

in which  $\mathfrak{J}_k(w) = \frac{1}{n-\mathfrak{y}_n} \sum_{k=\mathfrak{y}_n+1}^{\mathfrak{y}_n} a_k$  for any  $n \in \mathbb{N}$ .

For all sufficiently large  $n \in \mathbb{N} \setminus \{0\}$  together with  $0 < \mathfrak{y} < 1$  in a way that  $n > \mathfrak{y}_n$  along with  $n > \frac{1}{\mathfrak{p}}$ , we get that  $\forall \hat{\mathfrak{r}} > 0$  along with  $\mathfrak{f}_1, \mathfrak{f}_2, \ldots, \mathfrak{f}_{n-1} \in \mathfrak{U}$ , that

$$\begin{split} \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \frac{1}{n-\mathfrak{y}_{n}} \sum_{k=\mathfrak{y}_{n+1}}^{\mathfrak{y}_{n}} \mathbf{a}_{k} - \mathbf{a}, \hat{\mathfrak{r}} \right) \\ \geq \min \left\{ \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \breve{\mathcal{X}}_{n}, \frac{\hat{\mathfrak{r}}}{2\frac{\mathfrak{y}_{n+1}}{n-\mathfrak{y}_{n}}} \right), \hat{\mu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ > \min \{ 1 - \iota_{2}, 1 - \iota_{1} \} \\> 1 - \breve{\varrho} \end{split}$$

and

$$\begin{split} \breve{\nu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \frac{1}{n-\mathfrak{y}_{n}} \sum_{k=\mathfrak{y}_{n+1}}^{\mathfrak{y}_{n}} \mathbf{a}_{k} - \mathbf{a}, \hat{\mathfrak{r}} \right) \\ &\leq \max \left\{ \breve{\nu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \breve{\mathcal{X}}_{n}, \frac{\hat{\mathfrak{r}}}{2\frac{\mathfrak{y}_{n+1}}{n-\mathfrak{y}_{n}}} \right), \breve{\nu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ &\leq \max \left\{ \breve{\nu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \breve{\mathcal{X}}_{n}, \hat{\mathfrak{r}}_{1} \right), \breve{\nu} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ &< \max \{ \iota_{2}, \iota_{1} \} \\ &< \breve{\varrho}, \end{split}$$

and

$$\begin{split} \tilde{\omega} & \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \frac{1}{n - \mathfrak{y}_{n}} \sum_{k = \mathfrak{y}_{n+1}}^{\mathfrak{y}_{n}} \mathbf{a}_{k} - \mathbf{a}, \hat{\mathfrak{r}} \right) \\ & \leq \max \left\{ \tilde{\omega} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \breve{\mathcal{X}}_{n}, \frac{\hat{\mathfrak{r}}}{2\frac{\mathfrak{y}_{n+1}}{n - \mathfrak{y}_{n}}} \right), \tilde{\omega} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ & \leq \max \left\{ \tilde{\omega} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{\mathfrak{y}_{n}} - \breve{\mathcal{X}}_{n}, \hat{\mathfrak{r}}_{1} \right), \tilde{\omega} \left( \mathfrak{f}_{1}, \mathfrak{f}_{2}, \dots, \mathfrak{f}_{n-1}, \breve{\mathcal{X}}_{n} - \mathbf{a}, \frac{\hat{\mathfrak{r}}}{2} \right) \right\} \\ & < \max \{ \iota_{2}, \iota_{1} \} \\ & < \check{\varrho}, \end{split}$$

where  $\hat{\mathfrak{r}}_1 = \frac{(1-\mathfrak{y})\hat{\mathfrak{r}}}{4\mathfrak{y}} > 0$ . Therefore, for all  $\iota > 0$ , we obtain

$$\kappa_{\hat{\mu},\hat{\mathfrak{I}}}(\check{\varrho},\hat{\mathfrak{r}}) \subseteq \kappa_{\hat{\mu},\check{\chi},\check{\chi}_{\mathfrak{y}}}(\iota_{2},\hat{\mathfrak{r}}) \cup K_{\hat{\mu},\mathfrak{J}}(\iota_{1},\hat{\mathfrak{r}}),$$

$$\kappa_{\check{\nu},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}}) \subseteq \kappa_{\check{\nu},\check{\chi},\check{\chi}_{\mathfrak{y}}}(\iota_{2},\hat{\mathfrak{r}}) \cup K_{\check{\nu},\mathfrak{J}}(\iota_{1},\hat{\mathfrak{r}}),$$

$$\kappa_{\check{\omega},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}}) \subseteq \kappa_{\check{\omega},\check{\chi},\check{\chi}_{\mathfrak{y}}}(\iota_{2},\hat{\mathfrak{r}}) \cup \kappa_{\check{\omega},\mathfrak{J}}(\iota_{1},\hat{\mathfrak{r}}).$$

$$(4.2)$$

For any r > 0 for which we assume the asymptotic densities among both sides of (4.2), we get

$$\begin{split} 0 &\leq \breve{\delta}(\kappa_{\hat{\mu},\hat{\mathfrak{J}}}(\breve{\varrho},\hat{\mathfrak{r}})) \leq \breve{\delta}(\kappa_{\hat{\mu},\breve{X}}(\iota_{1},\hat{\mathfrak{r}})) + \breve{\delta}(\kappa_{\hat{\mu},\breve{X},\breve{X}_{\mathfrak{y}}}(\iota_{2},\hat{\mathfrak{r}})), \\ 0 &\leq \breve{\delta}(\kappa_{\breve{\nu},\mathfrak{J}}(\breve{\varrho},\hat{\mathfrak{r}})) \leq \breve{\delta}(\kappa_{\breve{\nu},\breve{X}}(\iota_{1},\hat{\mathfrak{r}})) + \breve{\delta}(\kappa_{\breve{\nu},\breve{X},\breve{X}_{\mathfrak{y}}}(\iota_{2},\hat{\mathfrak{r}})) \text{ together with} \\ 0 &\leq \breve{\delta}(\kappa_{\tilde{\omega},\mathfrak{J}}(\breve{\varrho},\hat{\mathfrak{r}})) \leq \breve{\delta}(\kappa_{\tilde{\omega},\breve{X}}(\iota_{1},\hat{\mathfrak{r}})) + \breve{\delta}(\kappa_{\tilde{\omega},\breve{X},\breve{X}_{\mathfrak{y}}}(\iota_{2},\hat{\mathfrak{r}})). \\ \text{Since } \{\breve{X}_{n}\} \text{ is st-convergent toward a} \in \mathfrak{U}, \text{ we obtain } \{\breve{X}_{\mathfrak{y}_{n}}\} \text{ is also st-convergent towards a.} \\ \text{According to the proof provided } \mathfrak{st}(\kappa_{\breve{\nu},\breve{\chi},\breve{\chi}}) = \lim_{\tau \in \mathfrak{T}} (\breve{X}_{\tau}, -\breve{X}) = 0 \end{split}$$

According to the proof provided, 
$$\mathfrak{st}_{(\hat{\mu},\check{\nu},\check{\omega})^n} - \lim_{n \to \infty} (\mathcal{X}_{\mathfrak{y}_n} - \mathcal{X}_n) = 0.$$
  
Therefore, we get  $\check{\delta}(\kappa_{\hat{\mu},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}})) = \check{\delta}(\kappa_{\check{\nu},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}})) = \check{\delta}(\kappa_{\check{\omega},\mathfrak{J}}(\check{\varrho},\hat{\mathfrak{r}})) = 0.$   
We can so demonstrate that  $\mathfrak{st}_{(\hat{\mu},\check{\nu},\check{\omega})^n} - \lim_{n \to \infty} \frac{1}{n - \mathfrak{y}_n} \sum_{\mathfrak{y}_{n+1}}^n a_k = a$ , for each  $\mathfrak{y} \in (0,1).$ 

## 5. Conclusion

In this stydy, we extended classical Tauberian theorems to the framework of neutrosophic n-normed linear spaces by employing the concept of statistical Cesaro summability. This integration offers a novel perspective for analyzing convergence behaviors within uncertain and imprecise environments, which are effectively modeled using neutrosophic structures. The established results not only generalize known theorems in normed linear spaces but also provide a robust mathematical foundation for further applications in areas such as functional analysis, information theory and decision-making under uncertainty. Future research can explore analogous results using other summability methods and extend the framework to more generalized neutrosophic spaces, enriching the theoretical development of both summability theory and neutrosophic analysis.

#### References

- [1] Asama, A., Dutta, H., & Natarajan, P. N. (2017). An introductory course in summability theory. Wiley.
- [2] Atanassov, K. T. (1986). Intuitionistic fuzzy sets. Fuzzy Sets and Systems, 20(1), 87-96.
- [3] Atanassov, K. T. (1989). More on intuitionistic fuzzy sets. Fuzzy Sets and Systems, 33(1), 37-45.
- [4] Canak, I., Totur, U., & Onder, Z. (2017). A Tauberian theorem for (C, 1,1) summable double sequences of fuzzy numbers. *Iranian Journal of Fuzzy Systems*, 14(1), 61-75.
- [5] Debnath, P. (2022). Some results on Cesàro summability in intuitionistic fuzzy n-normed linear spaces. Sahand Communications in Mathematical Analysis, 19, 77-87.
- [6] Debnath, P. (2024). Statistical Cesàro summability in intuitionistic fuzzy n-normed linear spaces leading towards Tauberian theorems. *Mathematics*, 13(557), 1-13.
- [7] Fast, H. (1951). Sur la convergence statistique. Colloquium Mathematicum, 2, 241-244.
- [8] Felbin, C. (1992). Finite dimensional fuzzy normed linear spaces. Fuzzy Sets and Systems, 48, 239-248.
- [9] Gunawan, H., & Mashadi, M. (2001). On n-normed spaces. International Journal of Mathematics and Mathematical Sciences, 27, 631-639.
- [10] Jenifer, P., & Jeyaraman, M. (2023). New observation on Cesàro summability in neutrosophic n-normed spaces. Neutrosophic Sets and Systems, 60(1), 195-202.
- [11] Jeyaraman, M., Jenifer, P., & Praveena, U. (2022). New approach in logarithmic summability of sequences in neutrosophic normed spaces. *International Journal of Neutrosophic Science*, 19(3), 29-39.
- [12] Jeyaraman, M., & Jenifer, P. (2023). Rough statistical convergence in neutrosophic normed spaces. Annals of Communications in Mathematics, 6(3), 177-190.
- [13] Kim, S. S., & Cho, Y. J. (1996). Strict convexity in linear n-normed spaces. Demonstratio Mathematica, 29, 739-744.
- [14] Malceski, R. (1997). Strong n-convex n-normed spaces. Matematicki Bilten, 21, 81-102.
- [15] Onder, Z., Karakahya, S., & Canak, I. (2024). Tauberian theorems for the statistical Cesàro summability method in intuitionistic fuzzy normed spaces. Soft Computing, 28, 87-104.
- [16] Praveena, U., & Jeyaraman, M. (2022). On generalized Cesàro summability method in neutrosophic normed spaces using two-sided Tauberian conditions. *Journal of Algebraic Statistics*, 13(3), 1313-1323.
- [17] Saadati, R., & Park, J. H. (2006). On the intuitionistic fuzzy topological spaces. Chaos, Solitons & Fractals, 27, 331-344.
- [18] Smarandache, F. (1998). Neutrosophy, neutrosophic probability, set and logic. Proquest Information & Learning.
- [19] Smarandache, F. (2005). Neutrosophic set, a generalisation of the intuitionistic fuzzy sets. International Journal of Pure and Applied Mathematics, 24, 287-297.
- [20] Talo, O., & Yavuz, E. (2020). Cesàro summability of sequences in intuitionistic fuzzy normed spaces and related Tauberian theorems. Soft Computing, 25, 2315-2323.
- [21] Vijayabalaji, S., & Narayanan, A. (2005). Fuzzy n-normed linear space. International Journal of Mathematics and Mathematical Sciences, 24, 3963-3977. https://doi.org/10.1155/IJMMS.2005.3963
- [22] Kumar, V., Sharma, A., & Murtaza, S. (2023). On neutrosophic n-normed linear spaces. Neutrosophic Sets and Systems, 61(16), 274-288.
- [23] Zadeh, L. A. (1965). Fuzzy sets. Information and Control, 8, 338-353.

128

(P. Jenifer) Research Scholar, P.G. and Research Department of Mathematics, Raja Doraisingam Govt. Arts College, Sivagangai, Affiliated to Alagappa University, Karaikudi, Tamilnadu, India.

(M. Jeyaraman) Associate Professor and Head, P.G. and Research Department of Mathematics, Raja Doraisingam Govt. Arts College, Sivagangai, Affiliated to Alagappa University, Karaikudi, Tamilnadu, India.

(S. Jafari) DR.RER.NAT IN MATHEMATICS, (GRAZ UNIVERSITY OF TECHNOLOGY-GRAZ, AUSTRIA), COLLEGE OF VESTSJAELLAND SOUTH HERRESTAREDE 11, MATHEMATICAL AND PHYSICAL SCIENCE FOUNDATION, SLAGELSE, 4200, DENMARK.

## CALCULATION

Volume 1, Issue 2, 2025, Pages:130–140 E-ISSN: 3062-2107 www.simadp.com/calculation



# INTEGRABILITY FOR THE DERIVATIVE FORMULAS OF THE TYPE-2 BISHOP FRAME AND ITS APPLICATIONS

EVREN ERGÜN 问 \*

**Abstract.** The main objective of the work is to examine the integrability of the derivative formulae for the type-2 Bishop frame in three-dimensional Euclidean space. We use the coordinate system introduced in [12], which allows for the examination of integration. As an application, we analyze the position vectors of certain curves that are important in mathematics and physical study.

**Keywords**: Darboux helix, Position vector field, Type-2 Bishop frame, Euclidean 3-space **2020 Mathematics Subject Classification**: 53B25, 53B30, 53C50.

### 1. INTRODUCTION

The theory of curves has gone through a long period of development until it reaches a truly modern manner: from the theory of plane curves, with the beginning of calculus, in 1684, the year in which Gottfried Wilhelm Leibniz created it in his Meditaito nova de natura anguli contactus et osculi, to the theory of space curves, reached to the peak point with the infinitesimal calculus. In this development, we have to mention two important things. The first one is the notion of moving frame, as we know it today, created by Gaston Darboux. The second one is the term binormal mentioned in a treatise on space curves by Barre de Saint-Venant. The Frenet frame is a well-known example of a moving frame utilized to describe a space curve in three-dimensional ambient spaces, including Euclidean and Lorentz-Minkowski spaces. The Frenet equations, or Frenet formulae, were first proposed in 1831 by Karl Eduard Senff and Johann Martin Bartels, enhancing the simplicity and utility of the theory of space curves. The scientists were once again discussed in Jean Frederic Frenet's thesis in 1847, published in 1852. Shortly thereafter, those equations were independently discovered by Joseph Alfred Serret in 1851 and are sometimes referred to as the Frenet-Serret equations (for more information at this early stage in history, see [7]). On the other hand, mathematicians have done a great number of surveys involving the concept of binormal. But it was not until 2010 that the survey of the first moving frame established by the binormal was published by Yılmaz and Turgut. The authors were the first to create the idea of the

#### Accepted:2025.06.30

\* Corresponding author

Evren Ergün & eergun@omu.edu.tr & https://orcid.org/0000-0002-3831-5310.

Received:2025.06.19
moving frame in a more novel manner than usual in their "A new version of Bishop frame and an application to spherical images." The main principle is that they do this using a common vector field as the binormal vector field of Frenet-Serret frame (for details, see [9]). Later, an analogue of this survey is done in Lorentz-Minkowski 3-space. [8, 10]

The determination of the position vector field of a smooth curve with a certain property—that is, a slant helix, where the principal normal vector field forms a constant angle with a fixed straight line—was investigated in 2010 by Ali and Turgut. They discovered a third-order vector differential equation. By solving the vector differential equation, they obtained the position vector field of a timelike slant helix in Minkowski space, where the straight line is parallel to  $e_3$  [1]. Refer to [2] for slant helices in Euclidean 3-space. In 2011, researchers conducted analogous investigations to ascertain the position vector field of a generic helix using both the Frenet and standard frames in Euclidean three-dimensional space [3]. Refer to [4, 5] for timelike and spacelike generic helices in Minkowski 3-space.

In the past two decades, the problem of determining the position vectors has emerged as an attractive field of study. In recent years, Yerlikaya and his coauthor [12, 13] have approached this problem from a different perspective than those mentioned in the literature. This approach is based on a new coordinate system that will facilitate the integrability of derivative formulas of the Bishop frame. Inspired by these studies, we focus on that of the type-2 Bishop frame and examine the position vector field of several special curves.

# 2. Preliminaries

When the real vector space  $\mathbb{R}^3$  is endowed with the standard flat metric, known as the Euclidean metric, represented by  $g = dx_1^2 + dx_2^2 + dx_3^2$ , the corresponding space is known as Euclidean space and denoted as  $\mathbb{E}^3$ , where  $(x_1, x_2, x_3)$  constitutes the usual coordinate system of  $\mathbb{E}^3$ . The norm of an arbitrary vector  $w \in \mathbb{E}^3$  is defined as  $||u|| = \sqrt{g(u, u)}$ . Furthermore, given two non-zero vectors  $a = (a_1, a_2, a_3)$  and  $b = (b_1, b_2, b_3)$  in  $\mathbb{E}^3$ , it is important to note that the cross product of u and v is denoted as

$$a \times b = \left| egin{array}{ccc} i & j & k \ a_1 & a_2 & a_3 \ b_1 & b_2 & b_3 \end{array} 
ight|.$$

Let  $\gamma: J \to \mathbb{E}^3$  be a smooth curve parametrized by the arbitrary parameter t, where J is an open subset of  $\mathbb{R}$ . The curve  $\gamma$  is referred as a unit speed curve parametrized by the arc lenght s if its velocity vector  $\gamma'$ , the first derivative of the curve, fulfills the condition  $\|\gamma'\| = 1$ . The parameter of  $\gamma$  shall hereafter be denoted as s. In Euclidean 3-space, the Frenet-Serret frame along the curve  $\gamma$ , denoted by  $\{t, n, b\}$ , has the derivative formula expressed as

$$\begin{pmatrix} t'\\n'\\b' \end{pmatrix} = \begin{pmatrix} 0 & \kappa & 0\\-\kappa & 0 & \tau\\0 & -\tau & 0 \end{pmatrix} \begin{pmatrix} t\\n\\b \end{pmatrix},$$

where the curvature and the torsion functions of  $\gamma$  are denoted by  $\kappa$  and  $\tau$ , respectively.

### E. ERGÜN

The derivative formulae for the type-2 Bishop frame represented by  $\{\zeta_1, \zeta_2, b\}$  along  $\gamma$  are as follows:

$$\begin{pmatrix} \zeta_1' \\ \zeta_2' \\ b' \end{pmatrix} = \begin{pmatrix} 0 & 0 & -\epsilon_1 \\ 0 & 0 & -\epsilon_2 \\ \epsilon_1 & \epsilon_2 & 0 \end{pmatrix} \begin{pmatrix} \zeta_1 \\ \zeta_2 \\ b \end{pmatrix},$$
(2.1)

where  $\epsilon_1$  and  $\epsilon_2$  are the type-2 Bishop curvature functions of  $\gamma$  and  $\zeta_1, \zeta_2$  are arbitrary unit vector fields in  $\mathbb{E}^3$ . The geometric apparatus between the type-2 Bishop frame and the Frenet-Serret frame, which we referred to before, is given by

$$\begin{pmatrix} t \\ n \\ b \end{pmatrix} = \begin{pmatrix} \cos \theta(s) & -\sin \theta(s) & 0 \\ \sin \theta(s) & \cos \theta(s) & 0 \\ 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} \zeta_1 \\ \zeta_2 \\ b \end{pmatrix},$$
(2.2)

$$\kappa = -\theta'(s), \ \tau = \sqrt{\epsilon_1^2 + \epsilon_2^2}, \tag{2.3}$$

where  $\theta(s) = \arctan\left(\frac{\epsilon_1}{\epsilon_2}\right)$ . Note that the above apparatus differs from that of the study of Yılmaz and Turgut [9]. By Eq. (2.3) and the angle  $\theta$ , there exists the following theorem:

**Theorem 2.1.** [6] Let  $\gamma = \gamma(s)$  be a smooth curve with curvatures  $\epsilon_1 \neq 0$  and  $\epsilon_2 \neq 0$ .  $\gamma$  is a general helix if and only if type-2 Bishop curvatures of the curve satisfy

$$\frac{\epsilon_1^2}{\left(\epsilon_1^2 + \epsilon_2^2\right)^{\frac{3}{2}}} \left(\frac{\epsilon_2}{\epsilon_1}\right) = constant.$$

**Remark 2.1.** A necessary condition for the type-2 Bishop frame to exist at all points along a curve is that the curvature of the curve should not be zero. If  $\kappa = 0$ , then the principal normal vector field of the curve denoted by n becomes (0,0,0). This means that the binormal vector field b becomes (0,0,0). This causes a contradiction in the fact that the system  $\{\zeta_1, \zeta_2, b\}$  is orthogonal.

# 3. CONCLUSION

Let  $\mathbb{E}^3$  endow the Euclidean 3-space and its basis be  $B = \{e_1 = (1, 0, 0), e_2 = (0, 1, 0), e_3 = (0, 0, 1)\}$ . Let the coordinates of a vector relative to the basis B be  $\{x_1, x_2, x_3\}$ . In [12], the authors established an ordered orthonormal basis  $B'' = \{e_1'', e_2'', e_3''\}$  and the corresponding new coordinate system  $\{x_1'', x_2'', x_3''\}$  such that

$$e_j'' = \frac{e_3'' \times e_i}{\|e_3'' \times e_i\|} , \quad j = 1, 2 \quad i = 1, 2, 3$$
$$\begin{pmatrix} e_j'' \times e_3'' \end{pmatrix} = \begin{cases} -e_2'' & , & j = 1\\ e_1'' & , & j = 2. \end{cases}$$

Let  $\gamma: I \to \mathbb{E}^3$  be a smooth curve parameterized by arc length s, where  $s \in I$ , and its type-2 Bishop apparatus  $\{\zeta_1, \zeta_2, b, \epsilon_1, \epsilon_2\}$  at the point  $\gamma(s)$ . Let us consider an any curve  $\overline{\gamma}$  obtained from  $\gamma$  through a rigid motion, in such a way that the binormal vector field  $\overline{b}$ at the point  $\overline{\gamma}(s_0)$  of  $\overline{\gamma}$  aligns with  $e''_3$ . Consequently, due to this motion,  $\overline{\zeta_1}$  and  $\overline{\zeta_2}$  sit in the plane defined by  $e''_1$  and  $e''_2$ . The other vector fields of  $\overline{\gamma}$  are designated as  $\overline{\zeta_1}$  and  $\overline{\zeta_2}$ ,

132

respectively. Consequently, it is appropriate to discuss the transition matrix between the systems  $\left\{\bar{\zeta_1}, \bar{\zeta_2}, \bar{b}\right\}$  and  $\{e_1'', e_2'', e_3''\}$ , which is structured as follows:

$$\begin{pmatrix} \bar{\zeta}_1\\ \bar{\zeta}_2\\ \bar{b} \end{pmatrix} = \begin{pmatrix} \cos\mu(s) & -\sin\mu(s) & 0\\ \sin\mu(s) & \cos\mu(s) & 0\\ 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} e_1''\\ e_2''\\ e_3'' \end{pmatrix},$$
(3.4)

where the angle between the vector fields  $\overline{b}$  and  $e''_3$  denotes  $\mu$ .

Furthermore, it is noteworthy that the rigid motion transforming  $\overline{\gamma}(s_0)$  into  $\gamma(s_0)$  and  $\overline{\zeta_1}, \overline{\zeta_2}, \overline{b}$  into  $\zeta_1, \zeta_2, b$  is, in fact, identical to the aforementioned rigid motion. Hence, we write

$$\zeta_1 = \zeta_1, \ \zeta_2 = \zeta_2, \ b = b$$

for any  $s = s_0$ .

By establishing i = 2 and j = 2 by the argument that  $e''_3 = b = (b_1, b_2, b_3)$ , we derive

$$e_1'' = \frac{1}{\sqrt{1 - b_2^2}} \left( -b_1 b_2, 1 - b_2^2, -b_2 b_3 \right)$$
(3.5)

and

$$e_2'' = \frac{1}{\sqrt{1 - b_2^2}} \left( -b_3, 0, b_1 \right). \tag{3.6}$$

**Theorem 3.1.** Let  $\{e_1'', e_2'', e_3''\}$  be the new ordered orthonormal basis obtained from the natural ordered orthonormal basis of  $\mathbb{E}^3$  and  $\epsilon_1(s)$ ,  $\epsilon_2(s)$  be differentiable functions, where s belongs to an open interval in  $\mathbb{R}$ . According to the new coordinate system, the binormal vector field  $b = (b_1, b_2, b_3)$  in an indirect solution triplet of Eq. (2.1), which is determined by Eqs. (3.7) and (3.8) is given by

$$\begin{cases} b_1(s) &= \cos f_1(s) \cos f_2(s) \\ b_2(s) &= \sin f_1(s) \\ b_3(s) &= \cos f_1(s) \sin f_2(s) \end{cases}$$

where

$$f_1(s) = c_1 + \int (\cos \mu(s) \ \epsilon_1(s) + \sin \mu(s) \ \epsilon_2(s)) \ ds, \tag{3.7}$$

$$f_2(s) = c_2 + \int \frac{-\sin\mu(s) \ \epsilon_1(s) + \cos\mu(s) \ \epsilon_2(s))}{\cos f_1(s)} \ ds \tag{3.8}$$

and  $c_1$ ,  $c_2$  are constants.

*Proof.* Let  $\{e_1'', e_2'', e_3''\}$  be the new ordered orthonormal basis derived from the natural ordered orthonormal basis in the Euclidean 3-space. Thus, Eqs. (3.5) and (3.6) are valid. Using Eq. (3.4), a relationship between type-2 Bishop vector fields and the vector fields of

E. ERGÜN

the new system is appeared as

$$\begin{aligned} \zeta_1(s) &= \cos \mu(s) \ e_1''(s) - \sin \mu(s) \ e_2''(s) \\ \zeta_2(s) &= \sin \mu(s) \ e_1''(s) + \cos \mu(s) \ e_2''(s). \end{aligned}$$
(3.9)

We will now compute the elements of the binormal vector field b(s). Substituting Eqs. (3.5) and (3.6) into Eq. (3.9) and putting it into Eq. (2.1), we get

$$\frac{db_1}{ds} = \frac{-1}{\sqrt{1-b_2^2}} \left[ \left\{ \cos\mu(s) \ \epsilon_2 - \sin\mu(s) \ \epsilon_1 \right\} b_3 + \left\{ \cos\mu(s) \ \epsilon_1 + \sin\mu(s) \ \epsilon_2 \right\} b_1 b_2 \right]$$
(3.10)

$$\frac{db_2}{ds} = \{\cos\mu(s)\ \epsilon_1 + \sin\mu(s)\ \epsilon_2\}\ \sqrt{1 - b_2^2},\tag{3.11}$$

$$\frac{db_3}{ds} = \frac{-1}{\sqrt{1-b_2^2}} \left[ \left\{ \sin\mu(s) \ \epsilon_1 - \cos\mu(s) \ \epsilon_2 \right\} b_1 + \left\{ \cos\mu(s) \ \epsilon_1 + \sin\mu(s) \ \epsilon_2 \right\} b_2 b_3 \right] \quad (3.12)$$

Due to the fact that Eq. (3.11) is a type of separable equations, it is simpler to solve compared to other equations, and as a result, the answer ends up being

$$b_2 = \sin \underbrace{\left[c_1 + \int \left(\cos \mu(s) \ \epsilon_1 + \sin \mu(s) \ \epsilon_2\right) \ ds\right]}_{=f_1(s)}.$$
(3.13)

On the other hand, especially since Eqs. (3.10) and (3.12) are non-linear differential equations, it is beneficial to introduce a new variable g(s) rather than solving them directly, which adheres to the following situation:

$$b_1^2 + b_2^2 + b_3^2 = 1,$$

from which

$$b_1 = \cos f_1(s) \, \cos f_2(s), \ b_3 = \cos f_1(s) \, \sin f_2(s).$$
 (3.14)

Substituting Eqs. (3.13) and (3.14) into Eq. (3.10), we obtain

$$f_2(s) = c_2 + \int \frac{(-\sin\mu(s)\ \epsilon_1 + \cos\mu(s)\ \epsilon_2)}{\cos f_1(s)}\ ds,$$
(3.15)

which completes the proof.

The other important that this work will attain can be understood by finding its tangent vector field for the position vector field of a curve. By the proposition that we have just achieved, it may easily be calculated:

For this, we begin by getting the type-2 Bishop vector fileds  $\zeta_1$  and  $\zeta_2$ . Substituting Eqs. (3.5) and (3.6) into Eq. (3.9), for  $\zeta_1 = (\zeta_{1_1}, \zeta_{1_2}, \zeta_{1_3})$  and  $\zeta_2 = (\zeta_{2_1}, \zeta_{2_2}, \zeta_{2_3})$ , we get

$$\zeta_{1_1} = \sin \mu(s) \sin f_2(s) - \cos \mu(s) \sin f_1(s) \cos f_2(s)$$
(3.16)

$$\zeta_{1_2} = \cos \mu(s) \cos f_1(s) \tag{3.17}$$

$$\zeta_{1_3} = -\cos\mu(s)\sin f_1(s)\sin f_2(s) - \sin\mu(s)\cos f_2(s)$$
(3.18)

and

$$\zeta_{2_1} = -\sin\mu(s)\sin f_1(s)\cos f_2(s) - \cos\mu(s)\sin f_2(s)$$
(3.19)

$$\zeta_{2_2} = \sin \mu(s) \cos f_1(s) \tag{3.20}$$

$$\zeta_{2_3} = \cos \mu(s) \cos f_2(s) - \sin \mu(s) \sin f_1(s) \sin f_2(s).$$
(3.21)

From Eq. (2.2) taking into account  $\zeta_1$  and  $\zeta_2$ , we have the following remark.

**Remark 3.1.** When referring to the position vector field, represented as  $\gamma$ , it is important to remember the following equation:

$$\frac{d\gamma}{ds} = t. \tag{3.22}$$

With this relation, it is more convenient to perform the operation with the tangent vector field than the binormal vector field. Referring to the proposition 3.1, we have the following relations:

$$t_{1} = \frac{-1}{\sqrt{\epsilon_{1}^{2} + \epsilon_{2}^{2}}} \left( \sin f_{1} \cos f_{2} \left\{ \epsilon_{2} \cos \mu - \epsilon_{1} \sin \mu \right\} - \sin f_{2} \left\{ \epsilon_{1} \cos \mu + \epsilon_{2} \sin \mu \right\} \right)$$

$$t_{2} = \frac{\cos f_{2}}{\sqrt{\epsilon_{1}^{2} + \epsilon_{2}^{2}}} \left( \left\{ \epsilon_{2} \cos \mu - \epsilon_{1} \sin \mu \right\} \right)$$

$$t_{3} = \frac{-1}{\sqrt{\epsilon_{1}^{2} + \epsilon_{2}^{2}}} \left( \sin f_{1} \sin f_{2} \left\{ \epsilon_{2} \cos \mu - \epsilon_{1} \sin \mu \right\} + \cos f_{2} \left\{ \epsilon_{1} \cos \mu + \epsilon_{2} \sin \mu \right\} \right)$$
(3.23)

#### 4. Applications

Some remarkable curves share the characteristic that a vector field makes a constant angle with a fixed line in space. In the type-2 Bishop frame, two curves exhibit the specified property:

Inclined Curve: A smooth curve is classified as an inclined curve if the vector field  $\zeta_1$  (or  $\zeta_2$ ) within its osculating plane forms a constant angle with a fixed line in space. It is analytically defined by the constancy of the ratio of Bishop curvatures  $\epsilon_1$  and  $\epsilon_2$ , as presented by Özyılmaz in the Euclidean 3-space  $\mathbb{E}^3$ . [6].

Darboux Helix: A smooth curve is classified as a Darboux helix if the Darboux vector  $w = -\epsilon_2\zeta_1 + \epsilon_1\zeta_2$  makes a constant angle with a fixed line in space. The curvatures  $\epsilon_1$  and  $\epsilon_2$  of a Darboux helix adhere to the subsequent equation:

$$\frac{\left(\epsilon_1^2 + \epsilon_2^2\right)^{\frac{3}{2}}}{\epsilon_1^2} \frac{1}{\left(\frac{\epsilon_2}{\epsilon_1}\right)^{\scriptscriptstyle \parallel}} = \text{constant}$$
(4.24)

[11]. In Eq. (4.24), remark that the ratio  $\frac{\epsilon_2}{\epsilon_1}$  must not be constant. According to the theorem (2.1), an inclined curve is a general helix, but not a Darboux helix.

A new coordinate system is presented in the preceding section, facilitating the integrability of the derivative formulas for the type-2 Bishop frame. This results in a theorem that demonstrates only one of the triplets of the indirect solutions of Eq. (2.1). In this section, we examine the necessary conditions for the indirect solution to achieve stability. Alternatively, we assess the nature of the integration measure.

It is widely recognized that the curvatures of a curve remain constant until a rigid motion is encountered. Consequently, the type-2 Bishop curvatures  $\epsilon_1$  and  $\epsilon_2$  of  $\bar{r}$  must satisfy the subsequent conditions:

$$\epsilon_1 = \overline{\epsilon_1}, \quad \epsilon_2 = \overline{\epsilon_2},$$

where  $\epsilon_1$  and  $\epsilon_2$  are the type-2 Bishop curvature functions of r.

From the theorem (3.1), we have Eqs. (3.16) and (3.19) mentioned the previous section. Consequently, we seek to determine the curvatures  $\epsilon_1$  and  $\epsilon_2$ , respectively. By differentiating Equation (3.16) with regard to s, we obtain

$$\bar{\epsilon_1} = \sqrt{\left(\frac{d\mu}{ds} - \sin f_1 \ \frac{df_2}{ds}\right)^2 + \epsilon_1^2}.$$
(4.25)

Similarly, it is evident that another curvature is represented by

$$\bar{\epsilon_2} = \sqrt{\left(\frac{d\mu}{ds} - \sin f_1 \ \frac{df_2}{ds}\right)^2 + \epsilon_2^2}.$$
(4.26)

**Lemma 4.1.** Let  $\gamma(s)$  be a curve in the Euclidean 3-space and let s be its arc length parameter. Assume that the differentiable functions  $\epsilon_1(s)$  and  $\epsilon_2(s)$  be the type-2 Bishop curvatures of  $\gamma$ . If the following relation holds

$$\frac{d\mu}{ds} - \sin f_1(s) \ \frac{df_2}{ds} = 0, \tag{4.27}$$

then there exist "steady" solutions satisfying Eq. (2.1), where  $f_1(s)$  and  $f_2(s)$  are given by Eqs. (3.7) and (3.8), respectively.

Based on Lemma 4.1, we can examine two possible situations.

**Case 1:** Assuming  $\mu = \text{constant}$ , Eq. (4.27) is simplified to

$$\sin f_1(s)\frac{df_2}{ds} = 0. (4.28)$$

Suppose that  $\sin f_1(s)$  equals zero. Thus, we have  $f_1 = 0$  or  $f_1 = 2\pi k$ ,  $k \in \mathbb{Z}$ . Consequently, the integrand in Eq. (3.7) may be considered as

$$\cos \mu \ \epsilon_1(s) + \sin \mu \ \epsilon_2(s) = 0. \tag{4.29}$$

The following statements are deduced from the last equality.

- when  $\sin \mu = 0$  (or  $\cos \mu = 0$ ), we have  $\epsilon_1 = 0$  (or  $\epsilon_2 = 0$ ). This never occurs.
- If  $\sin \mu \neq 0$  and  $\cos \mu \neq 0$ , the resulting position vector field is an inclined curve with

$$\frac{\epsilon_2}{\epsilon_1} = -\cot\mu.$$

Note that the function  $f_2(s)$  can be determined from the aforementioned relation using Eq.(4.29), specifically  $f_2(s) = c_2 + \frac{-1}{\sin \mu} \int \epsilon_1(s) \, ds$ . Furthermore, when the position vector field refers to an inclined curve, its straight line can determine d = (a, b, c) with the help of Eq. (3.16):

$$\langle \zeta_1, d \rangle = -\cos\mu \ b + \sin\mu \left\{ a \sin f_2(s) - c \cos f_2(s) \right\}$$

The concept of inclined curves indicates that the necessary and sufficient condition for the previous inner product to remain constant is the achievement of the following relations.

$$a\sin f_2(s) - c\cos f_2(s) = 0,$$

$$b = \pm 1.$$

Hence, we obtain  $d = (0, \pm 1, 0)$ . This provides knowledge about the plane where the straight line is spanned.

In light of this information, the position vector field of an inclined curve having a straight line spanned by  $e_2$  is computed using Eq.(3.23) as the following:

$$\gamma(s) = (d_1, d_2 s, d_3), \qquad (4.30)$$

where  $d_i$  (i = 1, 2, 3) is a constant of integration. The last equality expresses to us that the above position vector field is a geodesic, which gives rise to a contradiction with the creation of the type-2 Bishop frame according to Remark 2.1.

Let  $\frac{df_2}{ds} = 0$ . Thus, it is evident that  $f_2 = \text{constant}$ . Hence, the integrand in Eq. (3.8) is

$$-\sin\mu\epsilon_1(s) + \cos\mu\epsilon_2(s) = 0. \tag{4.31}$$

The following statements are deduced from the last equality.

- when  $\cos \mu = 0$  (or  $\sin \mu = 0$ ), we have  $\epsilon_1 = 0$  (or  $\epsilon_2 = 0$ ). This never occurs.
- If  $\sin \mu \neq 0$  and  $\cos \mu \neq 0$ , the resulting position vector field is an inclined curve with

$$\frac{\epsilon_2}{\epsilon_1} = \tan \mu.$$

Using Eq.(4.29), we can get the function  $f_1(s)$  as follows:  $f_1(s) = c_1 + \frac{1}{\cos \mu} \int \epsilon_1(s) \, ds$ . Also, if the position vector field corresponds to an inclined curve, its straight line may compute d = (a, b, c) with the help of Eq. (3.16).

$$\langle \zeta_1, d \rangle = \cos \mu \sin f_1 \left\{ -a \cos m - c \sin m \right\} - \cos \mu \cos f_1 b + \sin \mu \left\{ a \sin m - c \cos m \right\},$$

where m depends on the constantity of  $f_2$ . From the definition of inclined curves, the previously mentioned dot product remains constant if and only if the subsequent relations

E. ERGÜN

are satisfied.:

 $a\cos m + c\sin m = 0,$  $a\sin m - c\cos m = 1,$ b = 0,

from which we get  $d = (\sin m, 0, -\cos m)$ . This provides details about the plane where the straight line is located.

Similarly, it is easy to see the position vector field of an inclined curve having a straight line spanned by  $e_1$  and  $e_3$  as the following:

$$\gamma(s) = (\sin m \ s, d_1, \cos m \ s) \,.$$

This causes a contradiction for the same reason. Thus, we have the following result:

**Corollary 4.1.** There does not exist any inclined curve with the type-2 Bishop curvatures  $\epsilon_1(s)$  and  $\epsilon_2(s)$  in  $\mathbb{E}^3$ .

For the last one, we have

**Case 2:** When  $\mu$  is not constant, three subcases emerge as

- $f_1 = \text{constant}, f_2 = \text{constant}$
- $f_1 \neq \text{constant}, f_2 = \text{constant}$
- $f_1 = \text{constant}, f_2 \neq \text{constant}$

Upon analyzing the first two items, we identify a contradiction with the claim that  $\mu \neq \text{constant}$ . As a result, these subcases do not happen. We will now analyze the last item.

By the constancy of the function  $f_1$ , we have the following.

$$\cos\mu(s)\epsilon_1(s) + \sin\mu(s)\epsilon_2(s) = 0. \tag{4.32}$$

Combining the previous equation and Eq. (3.8), we get the function  $f_1$  as

$$c_2 + \frac{-1}{n} \int \sqrt{\epsilon_1^2(s) + \epsilon_2^2(s)} \, ds, \qquad (4.33)$$

where  $n = \cos c_1$ . Hence, Eq. (4.27) becomes

$$\frac{d\mu}{ds} + m\sqrt{\epsilon_1^2(s) + \epsilon_2^2(s)} = 0,$$
(4.34)

from which we get

$$\mu(s) = -m \int \sqrt{\epsilon_1^2(s) + \epsilon_2^2(s)} \, ds, \tag{4.35}$$

where  $m = \frac{\sqrt{1-n^2}}{n}$ . From Eqs. (4.32) and (4.35), we obtain

$$m = \frac{\epsilon_1^2 \left(\frac{\epsilon_2}{\epsilon_1}\right)'}{\left(\epsilon_1^2 + \epsilon_2^2\right)^{\frac{3}{2}}}.$$
(4.36)

Since the ratio of  $\epsilon_2(s)$  to  $\epsilon_1(s)$  is non-constant due to Eq. (4.32), we have  $m \neq 0$ . Therefore, Eq. (4.36) is

$$\frac{1}{m} = \frac{\left(\epsilon_1^2 + \epsilon_2^2\right)^{\frac{3}{2}}}{\epsilon_1^2} \frac{1}{\left(\frac{\epsilon_2}{\epsilon_1}\right)^{'}} = \text{constant.}$$

By substituting Eqs. (4.32) and (4.33) into Eq. (3.23) with the help of Eq. (4.24), we get the position vector of a Darboux helix.

**Proposition 4.1.** Let  $\gamma$  be a Darboux helix in  $\mathbb{E}^3$  and  $\epsilon_1(s)$ ,  $\epsilon_2(s)$  be its type-2 Bishop curvatures. Thus, its position vector field is calculated:

$$\gamma(s) = \left(-\sqrt{1-n^2} \int \cos\left(c_2 + \int p(s) \, ds\right) \, ds + d_1, \, ns + d_2, \\ -\sqrt{1-n^2} \int \sin\left(c_2 + \int p(s) \, ds\right) \, ds + d_3\right),$$

where  $p(s) = \frac{-1}{n} \int \sqrt{\epsilon_1^2(s) + \epsilon_2^2(s)} ds$  and  $n \neq 1$ ,  $c_2$  and  $d_i$  for i = 1, 2, 3 are constant.

**Example 4.1.** Substituting  $\epsilon_1(s) = \tan\left(\arcsin\frac{s}{5}\right)$  and  $\epsilon_2(s) = 1$  in Proposition 4.1, we get the position vector of Darboux helix in the sense of type-2 Bishop frame as follows:

$$r(s) = \left(\frac{\sqrt{26}}{26} \ s + d_1, \frac{5}{\sqrt{26}} \int \cos\left[c_2 - \sqrt{26} \arcsin\frac{s}{5}\right] ds + d_2, \\ \frac{5}{\sqrt{26}} \int \sin\left[c_2 - \sqrt{26} \arcsin\frac{s}{5}\right] ds + d_3\right).$$

Plotting for  $d_1 = d_2 = d_3 = c_2 = 0$ , we have the following figure.



FIGURE 1. The Darboux helix with  $k_1(s) = \tan(\arcsin ms), k_2(s) = 1$  for  $m = \frac{1}{5}$ 

**Remark 4.1.** Taking n = 1 in the aforementioned statement shows that the position vector of the Darboux helix is expressed as Eq. (4.30). In light of theorem 2.1, we derive the following corollary based on result 4.1.

**Corollary 4.2.** A Darboux helix with the type-2 Bishop curvature functions  $\epsilon_1(s)$  and  $\epsilon_2(s)$  in  $\mathbb{E}^3$  is a general helix, vice versa.

**Remark 4.2.** This study examines the outcomes when i = 2. The geometric interpretation of the results for i = 1 and i = 3 refers to the displacement of the components of the curve.

Acknowledgments. The authors would like to thank the referee for some useful comments and their helpful suggestions that have improved the quality of this paper.

### References

- Ali, A.T., & Turgut, M. (2010). Position vector of a time-like slant helix in Minkowski 3-space. Journal of Mathematical Analysis and Applications 365(2), 559–569. https://doi.org/10.1016/j.jmaa.2009.11.026
- [2] Ali, A.T. (2010). Position vectors of slant helices in Euclidean 3-space. Journal of the Egyptian Mathematical Society. 20(1), 1–6. https://doi.org/10.1016/j.joems.2011.12.005
- [3] Ali, A.T. (2010). Position vectors of general helices in Euclidean 3-space. Bulletin of Mathematical Analysis and Applications. 3(2), 198–205.
- [4] Ali, A.T. (2013). Position vectors of timelike general helices in Minkowski 3-space. Global Journal of Advanced Research on Classical and Modern Geometries. 2(1), 1–10.
- [5] Ali, A.T. (2010). Position vectors of spacelike general helices in Minkowski 3-space. Nonlinear Analysis: Theory, Methods & Applications. 73(4), 1118–1126. https://doi.org/10.1016/j.na.2010.04.051
- [6] Özyılmaz, E. (2011). Classical differential geometry of curves according to type-2 Bishop trihedra. Mathematical and Computational Applications. 16(4), 858–867. https://doi.org/10.3390/mca16040858
- [7] Reich, K. (1973). Die geschichte der differential geometrie von Gauss bis Riemann. Archive for History of Exact Sciences. 11(4): 273–382.
- [8] Solouma, E.M. (2017). Type-2 spacelike Bishop frame and an application to spherical image in Minkowski spacetime. International Journal of Applied and Computational Mathematics. 3(4), 3575–3591. https://doi.org/10.1007/s40819-017-0316-6
- [9] Yılmaz, S., & Turgut, M. (2010). A new version of Bishop frame and an application to spherical images. Journal of Mathematical Analysis and Applications. 371(2), 764–776. https://doi.org/10.1016/j.jmaa.2010.06.012
- [10] Yılmaz, S., & Savcı, Ü.Z. (2017). A new version Darboux vector and characterization some special curves according to type-2 Bishop frame in ℝ<sub>k</sub>. Proceedings of the National Academy of Sciences, India Section A: Physical Sciences. 87(3), 355–362. https://doi.org/10.1007/s40010-017-0373-6
- [11] Yılmaz, S., Savcı, Ü.Z., & Mağden, A. (2016). A study on the characterizations of non-null curves according to the Bishop frame of type-2 in Minkowski 3-space. Sakarya University Journal of Science 20(2): 325-335. https://doi.org/10.16984/saufenbilder.50911
- [12] Yerlikaya, F.,& Aydemir, I. (2020). Integrability for the Rotation Minimizing Formulas in Euclidean 3-Space and Its Applications. International Electronic Journal of Geometry, 13(1), 116-128. https://doi.org/10.36890/iejg.621588
- [13] Yerlikaya, F.,& Aydemir, I. (2022). On the derivative formulas of the rotation minimizing frame in Lorentz-Minkowski 3-space. International Journal of Geometric Methods in Modern Physics, 19(3), 2250037. https://doi.org/10.1142/S0219887822500372

(E. Ergün) Ondokuz Mayis University, Çarşamba Chamber of Commerce Vocational School, Samsun, TÜRKİYE Contents

1. On the Trinajstic index of zero divisor graphs	
Alparslan Cenikli, Arif Gursoy	63-83
2. A note on Pointwise hemi-slant conformal submersions Pointwise hemi-slant conformal submersions	
Mohammad Shuaib	84-102
2 Geometric study of Picci solitons in perfect fluid spacetimes with Lorentzian concircular stri	icture
manifolds	
Gurupadavva Ingalahalli	103-116
4. Tauberian theorems in neutrosophic n-normed linear spaces via statistical Cesaro summabi	lity
Paul Sebastian Jenifer, Mathuraiveeran Jeyaraman, Saeid Jafari	117-129
5 The integrability for the derivative formulas of the type-2.2 Bishon frame and its application	nc
Evren Ergün	130-140
	5 N
	AC L
	- Al -
9/- 1 41	
1 C 11   2 \ >	
$\sim u l a$	